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Road Map

advanced total advanced

ESYUME 2|0 DEWK USTIE Pt IR SSNE SISt IS USSR FERR JIEL 22IE
- playbot{javascript) = python = Algorithm
- 2{E(python) - htmi, css, bootstrap - Django
- jstjquery,ajax - Data Analytics

- Node.js, Express

- Playbot 29| - html, css, js, python - Python 100X| - IAUSHAM - ET oIcE M #ES
- Rurple 29| 302 QA% - JS 100H| EAHIS SR BEST 74
- 308 QUATIAIE 2 - Django Mini project CHIE I HIOIARZ 0 - 2T,
:IHOIM 2EE BEST 3 - python all-in-one S22 SauMet AIEDI
- 8 JHErol Al - QIAEID 2= 29| - Z272Hmel
:html, css, bootstrap - HIOIAS 2= 29| JEIX MAMI0IS
- 8 JHEol Al = Node.js, Express - LIS & £ ACH swZAl
: js, jquery, ajax - IS oR2iCI 012! - 22121 JHetoll et RE 2
- Python basic GIOIEA= Python22
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2. Numpy
T.NUMPY ZE oo 13
2. Numpy Kpgl -ooemmmmmmmmem e 22
3. Numpy B -ooomemmmmm oo 38
4 NUMPY has -oomrmmmmmem s 50
5. Boolean Indexing ------------mmmmmmmmme oo 60
6. Broadcast --------mrmemoesn s 62
55511 L] 63

21}. Pandas

1.Pandas ------mrmmmmmem e 67
2. SErI@S -rmrmmrmmmrmssmor oo 68
3. DataFrame --------ooemmmm oo 106
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1. Data Information ----------------mmmmmmmmm e 132
2. Indexing, Slicing ---------------ssommrmrr oo 136
3. ASSIGNMENT --mmmmmmrmmmm e 141
4. SAHK|RQE BAEX| M|, ZfO BIH v 145
B BRA o 151
6. ATH g o 152
P = e 157

T EDA -rommmmmm e 161
2. Graph Visualization ----------smmmmmemmmemoeo oo 162
3. Scatter (LFHE) -o-ommmmmmm e 174
G B A TN e 179
5. Basic Attributes -----------smmmmemm oo 182
6. Pie Chart --------mmmmmmmmm oo 184
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7. Bar Chart -------=-==== s 189
8. Subp|0t ------------------------------------------------------------ 192
9. J|EF AT} TR oo 199
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T 0 232

1. 3219 A8 Lo BA 243
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& Ol Hol|lN CIR= LHE

Numpyzt

Numpy X}&
Numpy B
Numpy &<
Boolean Indexing
Broadcast

Random
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o Y HUO|L} Ot 2 CHAHR B E & Ha|SHA M|

e NumPy= H|O|E = 2|0 = X ALt 2l5) 28X
=X 27442t

o J|[B2™OZ array Tt(2 G|O|E 22
o 2 22| HO|E ALt WEAH = (g2 10| B Eof CHSE X 2| X| )
o Tt EZCEIfAE(Broadcast) 7| &

ndarray S

o Numpy2| A0l CiAtel B Xtz AxE X|

R
Ot
rr
mju
o
[>

# Vector(1Al2 3H)

import numpy as np

a = np.array([1,2,3,4,5,6,7])
print(type(a))

Out[-]

<class 'numpy.ndarray’'>

13
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NumPy 4t= At

import numpy as np

data = [[1, 2, 3], [4, 5, 6], [7, 8, 9]]
dataTwo = [[1, 1, 1], [2, 2, 2], [3, 3, 3]]

# Mg A2 &
for i in range(len(data)):
for j in range(len(data[@])):
data[i][j] *= 2

print(data)

- EV R
for i in range(len(data)):
for j in range(len(data[e])):
data[i][j] += dataTwo[i][]]

print(data)

Python

Out[-]
[[2, 4, 6], [8, 16, 12], [14, 16, 18]]
[[3, 5, 7], [1e, 12, 14], [17, 19, 21]]

Python

import numpy as np

data = [[1; 2; 3]: [4: 5; 6]; :7: S: 9]]
dataTwo = [[1, 1, 1], [2, 2, 2], [3, 3, 3]]

np.array(data)

np.array(dataTwo)

print(a * 2)
print(a + a)
print(a + b)
print(a * b)

il

print(np.dot(a, b)) # 2

Python

14
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Out[-]

[[2 4 6]
[ 8 10 12]
[14 16 18]]

[[2 4 6]
[ 8 18 12]
[14 16 1877

[[2 3 4]
[ 6 7 8]
[ 1e 11 12]]

[[1 2 3]
[ 8 10 12]
[21 24 2717

[[ 14 14 14]
[ 32 32 32]
[ 50 50 587]

Python
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HIO[E EIY BF
1. int(8bit, 16bit, 32bit, 64bit) i1, i2, i4, i8
. 237t9l8

E£ O

ol:l|

[ ] L ] L ]

5 3 3

D I ®

[\S] [e)]

w oo @

nooon I

T o |m

m m g
Jr Hr Ao fot

fot

30

rr

[ ]
=
—t
[8)]
P
[e)]
.
s
|m

2. uint(8bit, 16bit, 32bit, 64bit) u1, u2, u4, us

e uint16: 16HE ESgls A=
e uint32: 32HE BESQl= H
e uintbd: 64HE ESQE= H4

3. float(16bit, 32bit, 64bit, 128bit) f2, f4, f8, f16

oo

b _!_§7|-9A
o HE$ B 37|18 7K MY

42202

o complex64: F7H2| 32HE & 24O 2 BA|E[= S48

o complex128: F7HO| 64H|E BEEALHOo 2 HA|E= E44 16

5. unicode
o 17 40| EX+E unicode

16
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6. bool

e True, False

data = [1.1, 2, 3]

a = np.array(data)
a.dtype

Python

Out[-]
dtype( 'floate4d')

Python

data = [1.1, 2, 3]

a = np.array(data, dtype=np.float32)
a.dtype

Python

Out[-]
dtype( 'float32')

Python
data = [1.1, 2, 3]
a = np.array(data, dtype=np.int32)
print(a.dtype)

print(a)

Python

17
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Out[-]
int32
[12 3]

Python

data = [1.1, 2, 3]

a = np.array(data, dtype='i4'")
a.dtype

Python

Out[-]
dtype('int32")

Python

18
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M
~

el

O

=

|

NEELE,

o

o

P 1

e variable('f15) = np.astype(data)

ik

* astype: H&St X} Sh= H|O[Ef EFY X|F

e data: H2SIA} Stz array A
» variable('15) = ndarray.astype(dtype)
* ndarray : #2530 X} St array X8

o dtype: BHESIOA Sh= HIO|H EFY X8

data = [1.1, 2,

w

]

a = np.float64(data)
print(a.dtype)
print(a)

a = np.int32(a)
print(a.dtype)
print(a)

Out[-]
floate4d

[1.1 2. 3. ]
int32

[12 3]

data = [1.1, 2, 3]

a = np.floaté4(data)
print(a.dtype)
print(a)

a = a.astype(np.inté4)
print(a.dtype)
print(a)

Python

Python

Python

19
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OQut[-]
floate4d

[1.1 2. 3. ]
inte4

[1 2 3]

Python

data = [1.1, 2, 3]

a = np.float64(data)
print(a.dtype)

a = a.astype(np.string_)
print(a.dtype)

print(a)

Python

Out[-]

floate4d

|s32

[b'1.1" b'2.8" b'3.@"]

Python

20
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a = np.uintle6(®@)
print(a.dtype)
a=a-1

print(a.dtype)

Out[-]
uintie
int32

= np.uintl6(-1)

a
a

Out[-]
65535

M
~

el

O

=

|

Python

Python

Python

Python
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NumPy X}&

tLto| GjO|E e =Bt EXfste A

[o]3

e Scalar:

e Vector: =XF=2| H{E (1D array)

e Matrix : £XFE2] 2D array (rows: &, columns: €)

# 0 A2 (Scalar)

a = np.array(1)
print(a)
print(a.shape, a.ndim)

Python
Out[-]
1
() e
Python
# 1 A8 (Vector)
a = np.array([1, 2, 3])
print(a)
print(a.shape, a.ndim)
Python
Out[-]
[12 3]
(3,) 1
Python

22
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# 1 A

a = np.array([1])
print(a)
print(a.shape, a.ndim)

Python

Out[-]
[1]
(1,) 1

Python

# 2 A

a = np.array([[21, 2, 3], [1, 2, 3], [1, 2, 3]])
print(a)

print(a.shape, a.ndim)

Python

Out[-]

[[1 2 3]
[1 2 3]
[1 2 3]]

Python

23
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# 2 A8l (Matrix)

a = np.array([[1]])
print(a)
print(a.shape, a.ndim)

Python

Python

= | 22 E Tensor)
a = np.array([[[1, 2], [1, 2], [1, 211, [[2, 2], [1, 2], [1, 2]11])
print(a)

ol
=

print(a.shape, a.ndim)

Python

Out[-]

(1 2]
(1 2]]

(1 2]

(1 2]
[1 2]1]

Python

24
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Ndarray(EHXHRY array)

e M=z CHE Ef2o| Ho|E B THe 4+ oint
o User=sg 2N S50 HaC}
o HIE Zt0] A2 S4t0| FhSBHTH

* NumPy= CHARR B E & X 2ot B2 FF == 'shape'2 2 EILE

C
o CHFS HHES AR Ol Elo|E TEE 7Lt

a
a

Out[-]
array([ 2, 4, 6, 8, 18])

= np.array(range(2, 11, 2))

a
a

Out[-]
array([ 2, 4, 6, 8, 18])

= np.array([i for i in range(2, 11, 2)]) # range(start, stop, step)

Python

Python

Python

Python

25
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Copy to clipboard
print(np.arange(1@))
print(np.arange(2, 11, 2)) # np.arange(start, stop, step)
print(np.arange(1e, 15, .5))
print(np.arange(le, 2, -1))
print(np.arange(1e, 2, -1.5))

Python
Out[-]
[@1234567829]
[2 4 & 8 18]
[16. 1e.5 11. 11.5 12. 12.5 13. 13.5 14. 14.5]
[16 9 8 7 6 5 4 3]
[10. 8.5 7. 5.5 4. 2.5]
Python
a = np.arange(1@)
print(a.ndim)
print(a.shape)
print(a.size)
Python
Out[-]
1
(1e,)
10
Python

26
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indexing
o £ HXIE 7t27|= HO[HE TIH= ¢

o 1A+ indexing

a = np.arange(1e)
a

Python
array([e, 1, 2, 3, 4, 5, 6, 7, 8, 9])

Python
a[2]

Python
Out[-]
2

Python

27
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o 2% indexing

a = np.arange(12).reshape(3, 4)
a

Python
Out[-]
array([[ e, 1, 2, 3],

[4, 5, 6, 7],
[ 8, 9, 18, 11]])

Python
a[1][3]

Python
Out[-]
7

Python
a[-2][-1]

Python
Out[-]
7

Python
al[l, 3]

Python
Out[-]
7

Python

28
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M
~

el

O

=

|

e 3%}t3 indexing

a = np.arange(40).reshape(2, 5, 4)
a

ez, 15, ad, d5]);
1s, 17, 18, 19]],

[[20, 21, 22, 23]
[24, 25, 26, 27]
[28, 29, 3@, 31],
[32, 33, 34, 35],
[36, 37, 38, 39]11)

a[e][1][1]

Out[-]

a[-1][-3][-3]

Out[-]
29

Python

Python

Python

Python

Python

Python

29



| of

a[1][2][1]

Out[-]
29

Out[-]
29

Out[-]
29

ala > 36]

Out[-]
array([31,

M HOEE Pythone g 24 &2

32, 33, 34, 35, 36, 37, 38, 39])

M
~

el

O

=

|

Python

Python

Python

Python

Python

Python

Python

Python
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slicing

o ST KON HE XL NS HHE IS
e 1K = [start:end: step]

e A HIE2EN EE SUHEFTE - [, ]

o 3XRIHIE -]

o 1A slicing

a = np.arange(39)
a
Python
Out[-]
array([ e, 1, 2, 3, 4, 5, 6, 7, 8, 9, 1e, 11, 12, 13, 14, 15, 185,
17, 18, 19, 2e, 21, 22, 23, 24, 25, 26, 27, 28, 29])
Python
a -1] # 9=
Python
Out[-]
array([29, 28, 27, 26, 25, 24, 23, 22, 21, 20, 19, 18, 17, 16, 15, 14, 13,
12, 11, 18, 9, 8, 7, 6, 5, 4, 3, 2, 1, e])
Python

31
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a[5:20:2] # a[start:stop:step]

Python
Out[-]
array([ 5, 7, 9, 11, 13, 15, 17, 19])

Python
a = a.reshape(5, 6)
a

Python

32



| ol CIOJE{E PythonS 2 E2ut HAMs|E

o 2%t slicing

Copy to clipboard

Out[-]
3"‘"35"::[ e: ] 2: 3: 4: 5];
[ 6 7o B, ©, 1E, daj;
ri2, 13, 14, 15, 16, 17],
18, 19, 20, 21, 22, 23],
[24, 25, 26, 27, 28, 29]])
Python
print(af[:, 1])
print(af[1, :]) # a[1]
Python
Out[-]
[ 1 7 13 19 25]
[ 6 7 8 9 10 11]
Python
al:3, :3]
Python
Out[-]
array([[ e, 1, 2],
[ 6 7, 8],
[12, 13, 141])
Python
a[::2, ::2] # AS2E EMA 20 ===
Python

33
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Out[-]

array([[ @, 2, 4],
[12, 14, 167,
[24, 26, 28]])

b[e] = 1€

Out[-]

array([[1ee, 1lee, 1lee],
[ 12, 14, 16],
[ 24, 26, 28]])

([[1ee, 1, lee, 3, 1lee,

18, 18, 20, 21, 22, 2

[ 5]
[ 1]
[ 12, 13, 14, 15, 16, 171,
[ 3]
[ 24, 25, 26, 27, 28, 29]

A=A

Copy to clipboard

Python

Python

Python

Python

Python

Python

Python
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b =a[::2, ::2].copy() # ®:cH2| HIZUt =BIE HIZ=Z Hel
b

Out[-]

array([[1ee, 1ee, 1ee],
[ 12, 14, 16],
[ 24, 26, 28]1)

b[e] = 1eee

Out[-]

array([[1eee, 1eee, 1eee],
[ 12, 14, 16],
[ 24, 26, 2811)

[1ee, 1, 1@e, 3, 1@, 5],
[ 6, 7, 8, 9, 1le, 111,
[ 12, 13, 14, 15, 16, 17],
[ 18, 19, 2@, 21, 22, 23],
[ 24, 25, 26, 27, 28, 29]])

M
~

el

O

=

|

Copy to clipboard

Python

Python

Python

Python

Python

Python
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e 3%t slicing

a = np.arange(30).reshape(2, 5, 3) # 2x5x3
a

Python

Out[-]

array([[[ &, 1, 2],
[ 3, 4, 5],
[ 6, 7, 8],
[ 9, 1o, 117,
[12, 13, 14]]

-

[[15, 16, 17],
[18, 19, 201,
[21, 22, 23],
[24, 25, 26],
[27, 28, 29111)

Python

Python

Out[-]
array([[ 1, 4, 7, 1o, 13],
[16, 19, 22, 25, 28]])

Python

36



Out[-]
array([

Out[-]
array([

Out[-]
array([

0]4 HOJE{E Python2 2 2w EMsEH

Python

[ 3: 4: 51;
[18, 19, 20]])

Python

] # A B Hie =9

Python

[15, 16, 17]
[18, 19, 28]
[21, 22, 23],
[24, 25, 26],
[27, 28, 29]1)

Python

Python

[17, 16, 15]
[2e, 19, 18]
[23, 22, 21],
[26, 25, 24],
[29, 28, 2711)

Python
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NumPy B B
i Eo| HZAa 23
1. gZ

e hStack: € =7t

2. =8
o vsplit: +EHSC2 ES W2
o hsplit: +E=Z22E 28, € =2
= [11 e 3

# np.array(x) + np.array(y) # x%f y°| 2f A2|o S=21 Dle] HE=> array([5, 7, 9])
a = np.array(x)
b = np.array(y)

np.concatenate([a, b])

Python
Out[-]
array([1, 2, 3, 4, 5, 6])

Python
a = np.arange(18).reshape(2, 5)
b = np.arange(1@, 2@).reshape(2, 5)
np.concatenate([a, b])

Python

38
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[[1e, 11, 12, 13, 14],
[1s, 16, 17, 18, 1911,

[[1e, 11, 12, 13, 14],
[15, 16, 17, 18, 19]]]

"t

Python
np.concatenate([a, b], axis=1)
Python
Out[-]
array([[ ©, 1, 2, 3, 4, 1e, 11, 12, 13, 14],
[ 5, 6, 7, 8, 9, 15, 16, 17, 18, 19]])
Python
a = np.arange(12).reshape(2, 6)
b = np.arange(1@, 2@).reshape(2, 5)
np.hstack([a, b])
Python
Out[-]
array([[ ©, 1, 2, 3, 4, 5, 18, 11, 12, 13, 14],
[ 6, 7, 8, ¢, 1e, 11, 15, 16, 17, 18, 19]])
Python
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a = np.arange(15).reshape(3, 5)
b = np.arange(1@, 28).reshape(2, 5)

np.vstack([a, b]) # vertical stack

Python
Out[-]
ar‘r‘ay(:[ eJ 1: 2; 3: 4]:
[ 5J 6: 7; 8: 9];
[1e, 11, 12, 13, 14],
[1e, 11, 12, 13, 14],
[15, 16, 17, 18, 19]7)
Python
a = np.arange(12)
# np.split(a, 5)
# np.split(a, 2)
np.split(a, 3) # aS 32 W92 2
Python
Out[-]
larray([@, 1, 2, 3]), array([4, 5, 6, 7]), array([ 8, 9, 1@, 11])]
Python
a = np.arange(1e, 121, 19)
a
Python
Out[-]
array([ 1e, 20, 30, 40, 50, 60, 70, 88, 90, 1lee, 1lle, 120])
Python
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Copy to clipboard

np.split(a, [3, 5, 9, 10]) # aS [3,5,9,10]2ANIAl Li=D|
# a[@:3], a[3:5], a[5:9], a[9:18], a[1e:]

Python
Out[-]
[array([186, 20, 30]),
array([40, 58]),
arrayg[se 70, 80, 990]),
array([1lee]),
array([11e, 12@8])]
Python
a = np.arange(1@, 121, 18).reshape(3, 4)
a
Python
Out[-]
array([[ 1@, 2e, 3@, 4e],
[ 5@, 6@, 7@, 8@],
[ 98, 1ee, 11e, 120]])
Python
np.vsplit(a,3)
Python
Out[-]
[array([[10, 20, 38, 48]]),
array([[5@, 68, 7@, 80]]),
array([[ 96, 1ee, 11e, 120]])]
Python
np.hsplit(a, 4)
Python
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np.hsplit(a,4)[e]

Python

Python

Python
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C}¥ot Matrix 2H=7|

zeros 022 =7|3}= s E 4
ones : 12 X£7|3} El HE 444
eye: FUZMO| Y47t I = 10|20 LHHX| A= 00 HAMZAE (THAE)

empty : =7|2F SHA| 0 BIEE S, 7|0 H 220 HEE U= U2 LEE
=

linespace(Al &, &, 715, endpoint = ) : X| &t 2 ZHO| M 70t E 2
* endpoint = True or False : OtX| 2} 2t& A ZX| A|7|X| EEX| M E

logspace(A| &, &, 7=, endpoint =) : X| &3t 770 M 7f=0tF 22 & O[3l 2
ravel : CHAFE HHE € 1412 B € =2 HEt

a = np.arange(12).reshape(3, 4)
a
Python
Out[-]
array([[ &, 1, 2, 3],
[ 4, 5, 6, 7],
[ 8 9, 10, 11]])
Python
b = np.ones(12)
b
Python
Out[-]
array([1., 1., 1., 1., 1., 1., 1., 1., 1., 1., 1., 1.])
Python
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£l o] &

p2t

-
o

o =

c = np.ones([3, 4])

=

Python

Out[-]

(rr1., 1., 1., 1.1,

array/(

Python

¢ = np.ones([3, 4, 5])

Python

Out[-]

([rr1., 1., 1., 1., 1.1,

array(

[1., 1., 1., 1., 1.11,

[1., 1., 1., 1., 1.1,

Python
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£l o] &

p2t

-
o

o =

Copy to clipboar

c = np.zeros([3, 4, 5])

Python

Out[-]

[[[0., 8., 8., 0., 8.1,

array(

[e., 8., 0., 0., 8.11,

Python

np.eye(3)

T O

Python

Out[-]

([[1., ., ©.1,

array(

Python
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e = np.arange(9).reshape(3, 3)
e
Python
Out[-]
array([[e, 1, 2],
[3, 4, 5],
. 7, 8]]
Python
np.dot(d, e)
Python
Out[-]
array([[e., 1., 2.],
(3., 4., 5.1,
[6., 7., 8.11)
Python
np.empty(1@)
Python
Out[-]
array([8.96070286e-308, 2.1139390Pe-307, 1.279459@6e-307, 1.11258192e-307,
9.79098366e-307, 1.00133162e-307, 1.11261027e-306, 1.29061821e-306,
8.90183559e-307, 1.24611470e-306])
Python
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np.full((3, 4), 1ee) # Z=ZrE 1022 =2|3}

Out[-]

array([[1ee, 1ee, 1ee, 1ee],
[16e, 1lee, lee, 1ee],
[1e@, 1ee, 100, 1e0]])

np.linspace(2, 18, 6) # 22F 10JIA 62 ASGlIH =&

Out[-]
array([ 2. , 3.6, 5.2, 6.8, 8.4, 18. ])

np.linspace(2, 100, 10)

Out[-]

array([ 2. , 12.88888889, 23.77777778, 34.66666667,
45.55555556, 56.44444444, 67.33333333, 78.22222222,
89.11111111, 1ee. 1)

|

Python

Python

Python

Python

Python

Python
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np.logspace(2, 1lee, 1©)

Python
Out[-]
array([1.60000000e+002, 7.74263683e+012, 5.99484258e+023, 4.64158883e+034,
3.59381366e+045, 2.78255940e+056, 2.15443469e+067, 1.66810054e+078,
1.29154967e+889, 1.00000000e+100])
Python
a = np.arange(12).reshape(3, 4)
a
Python
Out[-]
ar‘r‘ayl\:[ e-’ 1J 23 313
[ 4.! 5J 6: 71:
[ 8 9, 18, 11]])
Python
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Copy to clipboard

a.ravel()

Python
Out[-]
array([ @, 1, 2, 3, 4, 5, 6, 7, 8, 9, 16, 11])

Python
a.ravel(order="C') # @I =

Python
Out[-]
array([ @, 1, 2, 3, 4, 5, 6, 7, 8, 9, 16, 11])

Python
a.ravel(order="F') # ZJ| =

Python
Out[-]
array([ ©, 4, 8, 1, 5, 9, 2, 6, 18, 3, 7, 11])

Python
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LR

St

umPy &

iE =2
<

L3 (universal function)
. Hjol 2o s

25 oibg Wa | £HS s T

max(range(160))
Python

Out[-]
99

Python

min(range(l1e@))

Python

Out[-]

Python

%dtimeit

;
iy
A

&at= IPython OHA S
for i in range(1@):

max(range(leeeeee))

Python
Out[-]

425 ms * 23.7 ms per loop (mean *

std. dev. of 7 runs, 1 loop each)

Python
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Copy to clipboard

%ek%timeit

for i in range(10):
np.max(np.arange(1666660) )

Python
Out[-]
43.8 ms t 2.52 ms per loop (mean % std. dev. of 7 runs, 18 loops each)
Python
a = np.arange(12).reshape(3, 4)
a
Python
Out[-]
[ 4J 5: 6: 7];
[ 8, 9, 10, 11]])
Python
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np.max(a)

Python
Out[-]
11

Python
np.max(a, axis=1)

Python
Out[-]
array([ 3, 7, 117])

Python
a[e][3] = 1
np.max(a, axis = 1)

Python
Out[-]
array([ 2, 7, 117)

Python
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M
~

el

O

=

|

a = np.arange(12).reshape(3, 4)
a

Out[-]

array([[ e, 1, 2, 3],

[ 4, 5, 6, 71,
8, 9, 1e, 11]])

a[e]re] = 1ee
np.mean(a)

Out[-]
13.833333333333334

Python

Python

Python

Python
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np.median(a)

Python
Out[-]
6.5

Python
np.std(a)

Python
Out[-]
26.15604888116431

Python
np.var(a)

Python
Out[-]
684.138888888889

Python

Copy to clipboard
np.sum(a)

Python

Out[-]
166

Python

54



HO|E{E PythonQ 2 2ut H M| E

np.sum(a, axis=1)

Python
Out[-]
array([1ee, 22, 38])

Python
a

Python
Out[-]
array([[lee, 1, 2, 31,

L4, 5, 6, 71,
[ 8, ., le, 11]])

Python
np.cumsum(a)

Python
Out[-]
array([1ee, 1e1, 13, 1e6, 11e, 115, 121, 128, 136, 145, 155, 166],

dtype=int32)

Python
np.min(a)

Python
Out[-]
1

Python
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-

np.argmin(a)

Out[-]

np.argmax(a)

Out[-]

np.any(a)

Out[-]
True

np.all(a)

Out[-]
True

Clo|EHE Pythonl =2 24 &

M
~

el

O

=

|

Python

Python

Python

Python

Python

Python

Python

Python
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np.nansum(a)

Python
Out[-]
166
Python
a
Python
Out[-]
array([[1lee, 1, 2, 3],
[ 4} 5J 6J 7])
[ 8, 9, 18, 11]])
Python
a>>5
Python
Out[-]
array([[ True, False, False, False],
[False, False, True, True]l,
[ True, True, True, Truell)
Python
np.all(a > 5)
Python
Out[-]
False
Python
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Copy to clipboard

np.all(a > -5)

Python
Out[-]
True
Python
np.where(a > 5)
Pythan
Out[-]
(array([e, 1, 1, 2, 2, 2, 2], dtype=inté4),
array([e, 2, 3, e, 1, 2, 3], dtype=inte4))
Python
a
Python
Out[-]
array([[1lee, 1, 2, 3],
[4-‘ 5J 6J 713
[8-‘ 9J 16) 111]:'
Python
np.where(a > 5, a, -1ee)
Python
Out[-]
array([[ 1ee, -1ee, -1ee, -1ee],
[-166, -1@80, 3- 71,
[ 8, 9, 1o, 11]])
Python

58



| ol CIOJE{E PythonS 2 E2ut HAMs|E

a = np.arange(36).reshape(3, 4, 3)
a

Python
Out[-]
array([[[ e, 1, 2],
[ 3: 4: 5]:
[ 6: 7: 8]:
[ 9, 10, 1111,
[[12, 13, 14],
[15, 16, 171,
[18, 19, 207,
[21, 22, 2311,
[[24, 25, 26],
[27, 28, 291,
[3@, 31, 321,
[33, 34, 35111)
Python
print(np.sum(a))
print(np.sum(a, axis=1))
print(np.sum(a, axis=2))
Python
Out[-]
638
[[ 18 22 26]
[ 66 70 74]
[114 118 122]]
[[ 3 12 21 3@]
[ 39 48 57 66]
[ 75 84 93 1082]]
Python

59



| O|A EIO|E{S Pythono =2 2m &

A=A

o U0 HE HEE DN =2

2t(True, False)2 &8
o Ch 3 Zte BT TUCH M| IS
a = np.arange(12).reshape(3, 4)
a
Python
Out[-]
array([[ e, 1, 2, 3],
[ 4: 5; 6: 7];
[ 8, 9, 1le, 11]1])
Python
a>>5
Python
Out[-]
array([[False, False, False, False],
[False, False, True, True],
[ True, True, True, Truel])
Python
ala > 5]
Python
Out[-]
array([ 6, 7, 8, 9, 18, 11])
Python
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ala > 5] =1

a

Python
Out[-]
array([[®, 1, 2, 3],

(4, 5, 1, 1],
[1, 1, 1, 1]1]1)

Python
al~la == 1|]

Python
Out[-]
array([e, 2, 3, 4, 5])

Python
a[~(a ==1) & (a < 4)]

Python
Out[-]
array([@, 2, 3])

Python
a[~(a ==1) | (a < 4)]

Python
Out[-]
array([®, 1, 2, 3, 4, 5, 1, 1, 1, 1, 1, 1])

Python
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Clo|EHE Pythonl =2 24 &

M
~

el

O

=

|

Broadcast

o I7|7}CHE BHY Zto| BN B4 E MBTHE T4 T

np.array([1,

Out[-]

1L

2, 3]) +1

array([2, 3, 4])

np.arange(9).

Out[-]

array([[ 1,
[ 4,
[ 7,

np.arange(27)

reshape(3, 3) + np.array([1, 2, 3])

.reshape(3, 3, 3) + np.array([1, 2, 3])

12, 14],
15, 17],
18, 20]],

21, 23],
24, 261,
27, 29]111)

Copy to clipboard

Python

Python

Python

Python

Python

Python
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random

o seed: AlE =XHE Hoff T = FUEE2E = dd
o shuffle: G|O|H2| =M E HIHE

e choice: O|O|EO| M Y EE ZX[= M=

=

-

0%

e rand: 02 H 17X 2% E=Z=2 ¢

e randn: 7tSAICt EE F7

¥

=48

=

i
H
rr
4>

Copy to clipboard

import random as r

print(r.randint(1, 18)) # 12H 1eMtA|2 222 &+E H
print(r.random()) # @FH 1A= EE4sd =AE 2
print(r.uniform(1, 18)) # 12| 100IA2 REA44F =AE 2=
print(r.randrange(1, 10, 2)) # 126 9ltf| 2 2tH 2= 2o H-E 2|H

Python
Out[-]
2
©.36568891691258554
1.5219903229723613
9
Python
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1 =1[i for i in range(20)]
r.shuffle(l)

1

Python
Out[-]
[3, 9, 4, 19, 17, 11, @, 14, 5, 7, 12, 15, 13, &, 1, 10, 2, 6, 18, 16]

Python
r.choice(1)

Python
Out[-]
17

Python
r.sample(l, 5)

Python
Out[-]
[9, 15, 12, 17, 19]

Python
r.seed(7)
r.randint(1, 1)

Python
Out[-]
6

Python
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print(np.random.randint(1, 1@))
print(np.random.normal(1l, 10, size=(10)))
print(np.random.uniform(1, 1@, size=(3, 4)))

Out[-]
[ 22.54439604 ©.06003082 -2.38677184 1.83293534
-1.16943924 -8.9915091 2.18254182 -13.11856085
[[5.55433615 5.66114991 5.92852974 6.673080498]

[8.70958655 5.38328336 3.88877589 6.53031795]
[5.80594633 3.99338487 8.55861939 7.99957725]]

np.random.seed(1)
np.random.randint(1, 18)

Out[-]

A=A

Python
-5.10144747
3.66203174]
Python
Python
Python
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211} Pandas

& O Hol|lM CIR= LHE

Pandas
Series

DataFrame

66
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pandas

* PythonO|M AF23H= H|0|EHE EA%LE 2to|=21E
o A EE A XNMEE = U= EFE NS EF
* numpyECt FHSHA =X[E 7t=s

* numpy= O[Ol 582 S{&SHA| BX|2 pandas= H|O|H +2/2 5{&

import pandas as pd
import numpy as np

# A ol
print(pd.__version__

3
s
print(np.__version__)

pd? # tab==M AtEILSEF HHIHA method= = = RULCEH.
np?
Python
Out[-]
1.0.1
1.18.1
Python
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Series
o QI AQLvaluesZ O|RH T 1K HIE

ﬁ
¢ DE 9 O[5S BRE + US
ol
—

Series HE|

* Rangelndex: 2EA Xt& &

data = [1e0, 2060, 300, 400, 500]
pd.Series(data)

Python

Out[-]
<] 1ee
1 200
2 300
3 400
4 5ee
dtype: inté4

Python

print(pd.Series(data)[@])
print(pd.Series(data)[@:3])

H-

print(pd.Series(data)[::-1]) # <

Python
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Copy to clipboard
Out[-]
lee

e 1ee
1 200
2 300
dtype: inté4

5ee
400
300
208
1ee
dtype: inte4

® B MNow

Python

d = pd.Series(data)
print(d.values)

print(d.index)

Python

Out[-]
[1e@ 200 300 400 580]
RangeIndex(start=08, stop=5, step=1)

Python

d = pd.Series(data, index=['a', 'b', 'c', 'd', 'e']) # Cl€¥lA A|E
print(d)

print(d.values)

print(d.index)

Python
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108
200
300
408
508
dtype: inté4

T O 0 o @

[1ee 200 360 400 509]

Index(['a', 'b', 'c', 'd', 'e'], dtype='object")
Python
print(d + 100)
print(d * 2)
print(d // 2)
print(d ** 2)
Python

70



| ol CIOJE{E PythonS 2 E2ut HAMs|E

Out[-]
a 200
b 300
c 400
d 5ee
e 680
dtype: inte4

a 208
b 400
c 608
d 800
= 1008
dtype: inté4

a 50
b 188
c 150
d 200
z 250
dtype: inte4

a leeee
b 40000
c 9eeee
d 160060
e 2560060
dtype: inte4

Python
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Series indexing , slicing

print(d['a']l)

print(d[::-1])

print(d[::2]) # HANAM T 2t A AHM £
print(d.a)

print(d.b)

print(d.c)

Python

Out[-]
1ee

z 5ee
d 408
c 308
b 200
a 1e@
dtype: inté4

a 108

c 300

z 500
dtype: inté4
1ee

200

3ee

Python
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d[d>3e0]

Out[-]

d 400

e 5ee
dtype: inteé4

d > 368
Out[-]

a False
b False
c False
d True
e True
dtype: bool

for i in d:
print(i)

Out[-]
lee
200
3ee
400
5ee

Clo|EHE Pythonl =2 24 &

M
~

el

O

=

|

Python

Python

Python

Python

Python

Python
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1
0
alo

ro
min

# SAH2] SET seriesZE

dic = {
'2015'9" : 10e0000,
'20164 ' : 20@0000,
'201749 "' : 3000000,
'201849 ' : 400000,
'2019 " : 11000000,
'2020- ' : 30000000,

¥

pd.Series(dic)['20184":]

Python

Out[-]
20184 40000080
20194 110000680
28204 30800000
dtype: inte4
Python

pd.Series(dic)[-3:] # S0l 3EHMILA ==&
Python

Copy to clipboard

Out[-]
2018\ 4e000080
28194 1leeeeee
20204 30000000
dtype: int64
Python
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dic =
'26154 ' : 1600600,
‘20169 "' : 2000000,
‘20174 : 3000000,
‘20189 : 4000000,
‘201949 "' : 11000000,
‘26264 ' : 36006000,
}
pd.Series(dic, index=['20174"', '20193', '20204'])

Python

Out[-]

20174 3e000080
20194 11eee0e8
2020 380000080
dtype: inte4

Python
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SeriesO]| key, value, index
® index
® Series, DataFramel| 2|2 EE AlE
de o

. TE YOI Its

e |oc: QEAZE J|HIO

fu
0%
L
o
m
U
mo
0jo

* iloc:  HSE 7|Ele=
e items() : keyQtvalueE FEZE F0HM 2|E
o IHA| QA . AZFpLCHAl QIS A HIE € 2| E

| | [

s = pd.Series(dic)
print('2e15F" in s)
print(leeeeee in s)

Python
Out[-]
True
False

Python
print('20154" in dic)
print(1leeeeee in dic)

Python
Out[-]
True
False

Python
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s.keys()

Python

Out[-]
Index(['20153", '20164', '2017H', '2018H', '20195 ', '2020'H'], dtype='object')

Python

e
g

list(s.items()) # SeriesOlAl= valuesES & alAl
# itemsE ZEdlA values =&l

Python

out[-]

[('2@15H ", 1eeeeeq),
("2016'H "', 2000000),
("2017'3', 3000000),
(2018 ', 4000000),
('2019'H', 11ee0e00),
("2020'', 30000000) ]

Python

# dAHHEZIM A= key, value, itemS C} &2
print(dic.keys())

print(dic.values())

print(dic.items())

Python

Out[-]

dict_keys(['2015 2", '2016H', '2017H', '2018F', '20194', '2820H'])
dict_values([1000000, 2000000, 3000000, 4000000, 11000000, 30000000])
dict_items([('2815'5"', 1eeeeee), ('2016="', 20eeees), ('2017:=', 3eeeeee), ('2018="', 4eee
@), ('20197', 11e00000), ('2620="', 30000000)])

Python
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s
Python
Out[-]
28154 16006008
2016 2000000
20174 3000000
20184 4000000
28194 llee8008
28284 366660088
dtype: inte4
Python
s[['2017", '2020Y"']] # THA| QIS
Python
Out[-]
20174 3600008
28204 30000000
dtype: inte4
Python
data = ['a', 'b', 'c¢', 'd', 'e']
pd.Series(data)[::2] # T ZMH S210]
Python
Out[-]
=] a
2 c
4 e
dtype: object
Python
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pd.Series(data, index=[1, 3, 5, 7, 9])

Python
Out[-]
1 a
3 b
5 (8
7 d
9 e
dtype: object

Python

I
ro
ro

L
|

O
=
ol

pd.Series(data, index=[1, 3, 5, 7, 9])[1:4] # =A|

Python

Out[-]
3 b
5 (8
7 d
dtype: object

Python
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Copy to clipboard

Python

dtype: object

Python

pd.Series(data, index=[1, 3, 5, 7, 9]).iloc[1:4] # T A

I
°
e
o
>
=
=
i

Python

dtype: object

Python
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ZZ=7ZH(NaN, None) M2
1.

=Z

aN
e AEHO| Float

o HIEO|AM S B2 LEIF LGSR EX|BF Z20HZE0] NaNo| &

—

3. Me|¥
e isnull(): 22 &2 (ZZ O|H True, ZZ0| OtL|H False)
e notnull() : 20l (Z= O|H False, Z50| OFL®H True)

25U

e dropna(): ZFUE M|
=
=/

e fillna(Num) : Z

data = [1, 2, 3, None]

print(np.array(data)) # None - s=x|™&F Al error
print(pd.Series(data)) # NaN - =Z| &40 HEID2F 20

Python

Out[-]
[1 2 3 None]

1.0
2.0
3.8
NaN
dtype: floatée4

w MNRE®

Python
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print(pd.Series(data)[3] + 1@@)
print(pd.Series(data)[3] * 1e@)
print(pd.Series(data)[3] * @)

Python
Out[-]
nan
nan
nan
Python
s = pd.Series(data)
print(s)
print(s.sum())
print(s.max())
print(s.min())
Python
Out[-]
e 1.0
1 2.0
2 3.0
3 NaN
dtype: float64
6.0
3.8
1.8
Python
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s.isnull()
Python
Qut[-]
2] False
1 False
2 False
3 True
dtype: bool
Python
data = [1, 2, 3, None, None, None, None]
s = pd.Series(data)
print(s.isnull())
print(s.isnull().sum())
Python
Qut[-]
%] False
1 False
2 False
3 True
4 True
5 True
6 True
dtype: bool
4
Python
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print(s.notnull())
print(s.notnull().sum())

Python
Out[-]
e True
1 True
2 True
3 False
4 False
5 False
6 False
dtype: bool
3
Python
s.dropna()
Python
Out[-]
2] 1.0
1 2.8
2 3.9
dtype: float64
Python
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s.fillna(®@)

Python

Out[-

[ WV, B S VYT N I S ]
® © ® ® W N P
® 0 ® ®& ® ® ®

dtype: floated

Python
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multilndex

0HE = {
'2015'9" : 1000000,
'20167 " : 2000000,
'2017'4" : 3000000,
'20187" 14000000,
'20199" 111000000,
'2020'7 " 130000000,

}
=g g |
'2015H ' : 100001,
'2016'A " : 200001,
'2017H "' : 300001,
‘2018 : 400001,
'2019H ' ;1100001 ,
‘20207 :3000001,
}
Python
indexOne = list(zip(['OH=" for i in range(len(Oi=.keys()))], OH=.keys()))
indexTwo = list(zip(['#=2"' for i in range(len(2=%2 .keys()))], =2 .keys()))
index = indexOne + indexTwo
index
Python
out[-]
[(‘Of="', '20154"),
("H=", '2016H"'),
("=, '20173"),
("H=", '20184"'),
("=, '20194"),
("H=E", '20204"'),
("=, '20154"),
("=, '2016H"'),
("e=9, '20174"),
("=, '20184"'),
("e=9", '20194"),
("=, '20204"')]
Python
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index = pd.MultiIndex.from_tuples(index)

index

Python
Out[-]

MultiIndex([('Of=", '2@154"),
(‘Oh=", '2016'),
('OfE*, '20174"),
('Of=", '28184"),
("Of=", '20193"'),
(‘Of=", '20204'),
('=<r, '20154"),
('=%2", '2816H"),
(‘e=2, r20174),
("=, '20184"),
('=2r, '28194"),
('=2", '20204')],

)

Python
gt = list(Ol=.values()) + list(=%2 .values()) # CGIJIE olHdP 1listE HEGIOF BT
print (0= .values())
print(=%2.values())
print(g&l)

Python
Outl[-]

dict_values([1090000, 2000000, 3000000, 1000000, 11009000, 30000000])
dict_values([188001, 200081, 200001, 490001, 1168001, 3008801])

(1800000, 2000000, 3000000, 4000000, 11000000, 30000000, 100001, 200001, 300001, 400001,
1100001, 3000001 ]

Python
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result = pd.Series(g!, index=index)

result
Python
Out[-]
0= 20154 1002000
2016 2000000
20175 3000000
20184 40900000
20195 11ee0000
20204 30000000
=2 20154 100001
2016 200001
20174 300001
20184 400001
2019 11000801
2020 3000001
dtype: inte4
Python

88



HO|E{E PythonQ 2 2ut H M| E

print(result['0H="].sum())
print(result['&=<"]1[-3:].sum())

Python
out[-]
51000000
4500003

Python
result[ =< "][-3:]

Python
out[-]
20184 400001
20194 11eee01
20204 3000001
dtype: inte4

Python
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s = pd.Series([10@, 200, 300, 400, 500])
ss = pd.Series([1e, 20, 30, 40, 50])

Python
s + 1lee
Python
out[-]
e 200
1 300
2 4e0
3 500
4 600
dtype: inte4
Python
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s.add(1ee)
Python
out[-]
2] 200
1 300
2 400
3 568
4 600
dtype: inte4
Python
S + sS
Python
out[-]
e 118
1 220
2 33@
3 440
4 558
dtype: inte4
Python
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s.add(ss)
Python
Qut[-]
e 11e
1 220
2 33@
3 440
4 558
dtype: inte4
Python
S - ss
Python
Copy to clipboard
out[-]
2] Se
1 18@
2 27e
3 368
4 458

dtype: inté4

Python
s.sub(ss)
Python
out[-]
%] Se
1 180
2 270
3 360
4 4509
dtype: inté4
Python
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s * ss

Python

out[-]
e 10080
1 4000
2 Seee
3 16000
4 25000
dtype: inté4

Python

s.mul(ss)

Python

out[-]
(%] 1000
1 4000
2 Seee
3 16000
4 25000
dtype: inté4

Python

s // ss # integer®

Python

out[-]

10

10

10

10

10
dtype: inte4

B w0 R e

Python
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s / ss # float™

Python
out[-]
e l10.e
1 19.9
2 16.0
3 10.@
4 10.9
dtype: floate4d
Python
s.floordiv(ss)
Python
Out[-]
(5] 10
1 1@
2 10
3 10
4 10
dtype: inte4
Python
s.div(ss)
Python
out[-]
(4] 19.9
1 16.0
2 10.@
3 10.9
4 10.@
dtype: floated
Python
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s % ss
Python
out[-]
e 2]
1 e
2 Q@
3 2]
4 8
dtype: inte4
Python
s.mod(ss)
Python
Outl[-]
5] Q@
1 2]
2 %}
3 Q@
4 2]
dtype: inteé4
Python
s.mod(3)
Python
Out[-]
e 1
1 2
2 Q@
3 1
4 2
dtype: inte4
Python
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Outl[-]

7] 100
1 200
2 300
3 400
L 500

dtype: inté4

3 bl =

Out[-]

2] 1000000
1 8000000
2 27000000
3 64000000
4 125000000

dtype: inte4

s.pow(3)
out([-]

2] 1000000
1 8000000
2 27000000
3 64000000
4 125000000

dtype: inté4

HOJE{E PythonS 2 24 &2

M
~

el

O

=

|

Python

Python

Python

Python

Python

Python
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IH
ar
1]
nH
ol
[
(o]
L
)
>
o

ol o] E

A
e

Joll

| —
—_

+ 7ot

e count: H|O|E 7H

<k
1ol
i

-
nE

50
Klo

e median:

G
Joll
___

B B A 75

mad

<k
o0
a4

ok Bof & % 9l

e describe: 7|E EAHE

s.count()

Python

OQut[-]

Python
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print(s.min())
print(s.max())
print(s.mean())
print(s.median())
print(s.sum())
print(s.std())
print(s.var())
print(s.mad())

out[-]

100

500

300.0

300.9

1500
158.11388300841898
25000.0

120.90

s.describe()

out[-]

count 5.000000
mean 300.000000
std 158.113883
min 106.000000
25% 200 .000000
50% 300.000000
75% 400.000000
max 500.000000

dtype: float64d

M
~

el

O

=

|

Python

Python

Python

Python
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s.head(3)

Python

Out([-]

e 1ee

1 200

2 300
dtype: inté4

Python

s.tail(3)
Python

Out[-]

2 300

3 400

4 500
dtype: inté4

Python
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Cloje| ZE
e concat: OO|H g7z 2T

o verify_integrity=True ™ Mff, QI A Q| S 50| ETHSIH error £

e join='inner': Z&St= HO|HEL 38 £ 2L EF
e join='outer': Z¥St= HIOIHEL 2 & £

¥ concatenate : B €7|2| 2%

import numpy as np

np.arange(1@).reshape(2, 5)

o o
n

np.arange(10).reshape(2, 5)
¢ = np.arange(1@).reshape(2, 5)

a
Python
Out[-]
array([[e, 1, 2, 3, 4],
[5, 6, 7, 8, 9]1)
Plain Text
np.concatenate([a, b, c])
Python
Out[-]
array([[8, 1, 2, 3, 4],
[5, 6, 7, 8, 9],
[e, 1, 2, 3, 4],
[5, 6, 7, 8, 91,
[e, 1, 2, 3, 4],
[5, 6, 7, 8, 91])
Python
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np.concatenate([a, b, c], axis=1)

Python
out[-]
array([[e, 1, 2, 3, 4, 8, 1, 2, 3, 4, 0, 1, 2, 3, 4],
[5, 6, 7,8,9,5,6,7,8,9,5,6,7,8,9]]
Python
import pandas as pd
= pd.Series(['A", 'B', 'C"', 'D', 'E'], index=range(1l, 6))
= pd.Series(['A", 'B', 'C', 'D', 'E'], index=range(l, 6))
c = pd.Series(['A", 'B', 'C', 'D', 'E'], index=range(1, 6))
a
Python
out[-]
1 A
2 B
3 C
4 D
E
dtype: object
Python
np.concatenate([a, b, c])
Python
out[-]
array(['A', 'B', 'C', 'D', 'E', 'A', 'B', 'C', 'D', 'E', 'A", 'B', 'C',
‘D', 'E'], dtype=object)
Python
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pd.concat([a, b, c])

Python

Copy to clipboard

o
c
+

[_

]
A
B
C
D
E
A
B
C
D
E
A
B
C
D
E

L e O O e LI N VS T 6 T T ¥ (R N VU 6 T o)

dtype: object

Python
pd.concat([a, b, c])[5]

Python
Out[-]
5 E
5 E
5 E
dtype: object

Python
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pd.concat([a, b, c], verify_integrity=False)

Python
Out[-]
1 A
2 B
3 C
4 D
5 E
1 A
2 B
3 C
4 D
5 E
1 A
2 B
3 C
4 D
5 E
dtype: object
Python

d = pd.concat([a, b, c], verify_integrity=False, ignore_index=True, copy=False, axis=1)
print(type(d))

print(d)
Python
Out[-]
<class 'pandas.core.frame.DataFrame’>
e 12
1 AAA
2 BBB
3CcCcCc
4DDD
S EEE
Python
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a.append(b)

Python
Out[-]
1 A
2 B
3 C
4 D
5 E
1 A
2 B
3 C
4 D
5 E
dtype: object
Python
= pd.Series(['A", 'B', 'C', ‘D', 'E', 'F'], index=range(1, 7))
= pd.Series(['A", 'B', 'C"', 'D', 'E'], index=range(1l, 6))
c = pd.Series(['A", 'B', 'C", 'D', "E'], index=range(1l, 6))
d = pd.concat([a, b, c], axis=1)
print(type(d))
print(d)
Python
out[-]
<class 'pandas.core.frame.DataFrame'>
2] 1 2
1 A A A
2 B B B
3 C C C
4 D D D
5 E E E
6 F NaN NaN
Python
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pd.concat([a, b, c], axis=1, join='inner')

Python
out[-]
e 12
1AAA
2B BB
3Cccc
4DDD
S EEE
Python
pd.concat([a, b, c], axis=1, join='outer')
Python
out[-]
2] 1 2
1 A A A
2 B B B
3 C C C
4 D D D
5 E E E
6 F NaN NaN
Python

105



HO|E{E PythonQ 2 2ut H M| E

DataFrame

o LCIXIY HYE(Seriesl| E48 7HX|

o
50
rr
ro
ot
o
=
12

o /tE 7|EHY HOH 7=

HAa BHE s =2 A=
1 2015 1600000 100001 1
2 2016 2000000 202001 2
3 2017 3600000 300001 4
4 2018 400000 40001 8
5 2019 8000000 8000el 16
6 2020 16000000 1600601 32
Python
rawData = {
*Hxb-[1, 2, 3, 4, 5, 6],
"ol :[2015, 2016, 2017, 2018, 2019, 20201,
'{=':[1eceeee, 2000000, 3000000, 4000000, 3002008, 16000008],
'#=°/': 100001, 200001, 300001, 400001, 800001, 1680001],
"EE4=r[1, 2, 4, 8, 16, 32]
}
pd.DataFrame(rawData)
Python
Qut[-]
Gxt PE ME e =g
e 1 2015 1000000 1lee001l 1
1 2 2016 20000080 2eeeel 2
2 3 2017 3000000 300001 -
3 4 2018 4000000 400001 8
4 5 2019 8000000 800001 16
5 6 2020 16000000 16600601 32
Python
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pd.DataFrame(rawData)[ ' & T "]

Python
Qut[-]
e 2015
1 2016
2 2017
3 2018
4 2019
5 2028
Name: ST, dtype: inte4
Python
pd.DataFrame(rawData).iloc[@:3]
Python
Out([-]
i Az o= =o AR
e 1 2015 leeeeee 1leeeel 1
1 2 2016 2000000 200001 2
2 3 2017 3000000 3060001 4
Python
pd.DataFrame(rawData).iloc[-3:]
Python
OQut[-]
| de = =2 &3 =
3 4 2018 4000000 400001 8
4 5 2019 8000000 8oeeel 16
5 6 2028 16000000 16006881 32
Python
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pd.DataFrame(rawData, columns=['&xl" "=

-

=

=2l *E2I2], index=rawData['T1Z='])

Python
Out[-]
HE = = =24
2015 1 1000000 loe001l 1
2016 2 2000000 200001 2
2017 3 3000000 300001 4
2018 4 4000000 400001 8
2019 5 B8oG00ee 800001 16
2020 6 16000000 16600001 32
Python
%%writefile rawData.csv
1, 2, 3, 4, 5, 6, 7
H3r,1, 2, 3, 4,5, 6
™ ,2015, 2016, 2017, 2018, 2019, 2020
Oi =,1000000, 2000000, 3000000, 4800000, 8000000, 16000000
#=2! 100001, 200001, 300001, 400981, 800001, 1600001
@1, 2, 4, 8, 16, 32
Python
pd.read_csv('rawData.csv')
Python
Out[-]
1 2 3 4 5 6 7
e &I 1 2 3 4 5 6
1 A 2015 2016 2017 2018 2019 2020
2 0= 1000080 2000000 3000000 4000000 80080080 16000000
E) =Y leeeel 200001 3000081 4pee0e1l 800001 1600001
4 =l 1 2 4 8 16 32
Python
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pd.read_csv('rawData.csv').columns

Out[-]
Index(['1', ' 2', ' 3", "4', "5', "6', ' 7'], dtype='object")

pd.read_csv('rawData.csv').index

Out|[-]
RangeIndex(start=6, stop=5, step=1)

Python

Python

Python

Python
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DataFrame0| G|O|E{ Z=%f
e np.nan:NaN2ZE [€ M
e drop: ZH 4|
¢ inplace = True : drop® 20 £

* pd.to_numeric(): 2XAE S =AF2E Bt

import pandas as pd

rawData = {

"HAbi[1, 2, 3, 4, 5, 6],
"ol :[2015, 2016, 2017, 2018, 2019, 20201,
'I{=":[1000000, 2000080, 3000000, 4000000, 3000800, 16000000,
"2=20": (100001, 200001, 300001, 400001, 800001, 16008011,
"ERg=r:[1, 2, 4, 8, 16, 32]
h
df = pd.DataFrame(rawData)
df
Python
Out([-]
Hit os k= =2l AR
2] 1 2015 1600080 leee0l 1
1 2 2016 2000000 200001 2
2 3 2017 3eeeeee 3eee01 4
3 4 2918 4000080 4gee01 8
4 5 2919 80000080 8800l 16
5 6 2020 16000000 1600001 32
Python
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df['O="]
df .l =
Python
Oout[-]
e loeeeee
1 2000000
2 3geeeee
3 4080000
4 8eooeee
5 16000000
Name: Oj=, dtype: inté4
Python
df['=0IE"] = (df['=="] / df['OI&']) * 100
df
Python
Qut[-]
fx oz & 9 =@ 2ol2s
e 1 2015 loeeeee 168861 1 19.6001e8
1 2 2016 2000000 200001 2 10.0080050
2 3 2017 3000000 3eeeel 4 l1e.e0ee33
3 - 2018 4000000 400001 8 10.000025
4 5 2019 8000000 8eeeel 16 10.000013
5 6 2020 16000000 1600001 32 10.000006
Python
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df['test’'] = 1@@
df

o
c
(91‘!‘

uvmoh wN R e
o n B W N R

HE =

2015 leoeeee
2016 2000000
2017 3000000
2018 4000800
2019 8000000
202@ 16000000

import numpy as np

df['testTwo'] = np.nan
df

o
-
e

umoh W R e
o n B W N R

HE =

2015 leoeeee
2016 2000000
2017 3000000
2018 4000000
2019 8000000
202@ 16000000

&
leeeel
200001
3ee00l
400001
800001

leeeeel

&
leeeel
200001
3ee00l
400001
800001

leeeeel

=0l E
10.000100
10.0008050
10.000033
10.000025
10.000013

10.000006

=012 =
10.000100
10.0008050
10.000033
10.000025
10.000013

10.000006

test
1@
1ee
1@
1@
1ee
1@

test
100
1ee
1@
100
1ee
1@

el

O

=

testTwo
NaN
NaN
NaN
NaN
NaN
NaN

Python

Python

Python

Python
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df[ 'testThree'] = None
df

Out[-]

Hi #JHE =

5] 1 2015 leoeeee
1 2 2016 2000000
2 3 2017 3000000
3 - 2018 4000000
4 5 2019 8000600
5 6 2020 16000000
df[["test’, '"testTwo',
df

outl[-]

Hiab #HE =

2] 1 2015 1000000
1 2 2016 2000000
2 3 2017 3000000
3 - 2018 4000000
4 5 2019 8000000
5 6 2020 16000800

=9
1eeeel
200001
300001
480001
800001
1600001

Ma z0lE
1 10.0001080
2 10.000050
- 10.000033
8 10.000025

16 16.00e013

32 10.000006

"testThree']]

el

= =

leeeel
200001
3eeeel
4eeeel
8e0eol
1660001

|
=

= 1leee

B =01"E
1 10.000100
2 10.000050
4 10.000033
8 10.000025

16 10.000013

32 10.000006

test testTwo
lee NaN
lee NaN
1ee NaN
1lee NaN
1ee NaN
lee NaN

test testTwo

leee leee
1leee leee
leee leee
leee leee
leee loe8
leee leee

testThree
None
None
None
None
None
None

testThree
1000
1000
1000
leee
1000
1000

Python

Python

Python

Python
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del df['test’']

df
out[-]

S B = =2 AR =0|2= testTwo testThree
2] 1 2015 leeeeee leeeel 1 l10.0001680 leee 1000
1 2 20816 28000800 260061 2 10.800850 leee 1000
2 3 2017 3000000 30001 4 10.0006033 1eee 1000
3 4 2018 4000000 480001 8 10.800825 leee 1000
- 5 2019 8000000 800001 16 10.000013 1060 1000
5 6 2020 160eeeee leeeeel 32 19.e0eee6 leee leee
df.drop([ 'testTwo'], axis="columns', inplace=True)
df
Out|[-]

arn gk = =2 AEle =02 testThree
2] 1 2815 10060080 160861 1 10.800100 1008
1 2 2016 2000000 200001 2 10.000058 1000
2 3 2017 3eeeeee 3eeeel 4 19.80e833 leee
2] 4 2018 4000000 400001 8 10.000025 1000
4 5 2019 goeeeee 86eeel 16 l19.e0eee13 leee
5 6 2020 16000000 1600001 32 10.000006 1000

=

A8l 29l

Python

Python

Python

Python
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df.drop([ 'testThree'], axis='columns', inplace=True)

df
Python
out[-]
HIi BT = =2 AR =02 E
2] 1 2015 loeeeee leeeel 1 10.000100
1 2 2016 2000000 200001 2 10.000050
2 3 2017 3000000 300001 4 10.000033
3 4 2018 4000000 4000801 8 10.000025
4 5 2019 8000000 800001 16 10.000013
5 6 2020 16000000 1600001 32 10.000006
Python
df.drop(df.columns[[@, 2]], axis='columns")
Python
Out[-]
RS =2 EHE =085
@ 2015 1leeeel 1 10.eeel1ee
1 2016 200001 2 10.000050
2 2017 36eeel 4 1©.8ee833
3 2018 4eeeel 8 10.000025
4 2819 8eeeel 16 1©.eeee13
5 2020 160600l 32 10.000006
Python
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df
Python
Out[-]
Hi ¢E = =2 EFEe =0l =
2] 1 2015 1000000 1oee0l 1 19.0001080
1 2 2016 2000000 200001 2 10.006050
2 3 2017 3000080 3eeee1 4 19.000033
3 4 2018 4000000 400001 8 19.008025
4 5 2019 8000060 806001 16 l10.006013
5 6 2020 16006060080 1608001 32 10.006006
Python
dfTwo = pd.DataFrame(np.array([[7, 2021, 160000000, 16000001, 60]]),
columns=[ "&HZt","HZ" "=, "' =2, "2 & +"]).append(df, ignore_index=True)
# dfTwo.ndim
dfTwo
Python
out[-]
Hit gk o= =2 AL =0d=s
e 7 2021 160000000 16008001 60 NaN
1 1 2015 leeeeee leeeel 1 le.eee1ee
2 2 2016 2000000 200001 2 10.000050
3 3 2017 3000000 300001 4 10.000033
4 4 2018 4000800 400001 8 le.e668e25
5 5 2019 8000000 800001 16 10.000013
6 6 2020 16000000 1660001 32 10.000006
Python
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dfTwo.drop([@], inplace=True)

dfTwo
Python
out[-]
oiF oE HE  #9 TR2 2018
11 2@15  1leeoeceee  1eeeel 1 10.000160
2 2 2016 2000000 200001 2 10.000050
3 3 2017 3000000 300001 4 19.000033
4 4 2e18  4ooe0eee  4eeeel 8 10.000025
SIS 2819 8000000 8oeeel 16 10.000013
6 6 2020 16000000 1600001 32 10.0000086
Python
df
Python
out[-]
Hi gk = =9 Al =012 F
@ 1 2015 1eeeeee 1eeeol 1 10.000160
1 2 2016 2000000 200001 2 10.000050
2 3 2017 3000000 300001 4 10.000033
3 4 2018 4900008 400001 8 10.000025
4 5 2019 8000000 800001 16 19.000013
5 6 2020 160006@@ 1600001 32 10.000006
Python
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df[df.0i = > Seeoeeee]

Out[-]

i Hs = = gE<=
4 5 2019 8000000 8000061 16
5 6 2020 16000000 1680081 32

# df[df.0l = > ceeeeee, ['=%2"', '3
=l

df.loc[df.O{= > Seeeeea, ['=°2!',

Out[-]

= O
zol

4 8egeeel 16
5 1606001 32

e
.

[

df[df . 2= > 18]['&=<"'] - 1leeee

Out[-]
4 790001
5 1590001

el

Name: =92, dtype: int64

20128
10.000013
10.000006

Python

Python

Python

Python

Python

Python
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df["==%"'] = df[df. &&= > 18]['=2"] - 1eeee
df
Python
Out[-]
oiF P & #o Zgl e 2028
2] 1 2915 leeeeee NaN 1 10.800108
1 2 2016 2000000 NaN 2 10.0000858
2 3 2017 3geeeee NaN 4 19.80e833
] 4 2018 4060000 NaN 8 10.000025
- 5 2019 8000008 790001.8 16 10.000013
5 6 2020 16060080 159@88l1.8 32 10.800806
Python
rawData = {
"ei%tri[1, 2, 3, 4, 5, 61,
" ':[2015, 2816, 2017, 2018, 2019, 2828],
"0fl=":[1e00000, 2080000, 3008000, 4PG0BG0, 30000G8, 16000068],
'2=91':[1eee01, 200001, 300001, 400001, 800001, 1600001],
"E@=ri[1, 2, 4, 8, 16, 32]
¥
df = pd.DataFrame(rawData)
df["®=%2"'] = np.where(df["'&=&+"] > 1@, df['=2"] - 1eeee, df['=%"'])
df
Python
Out[-]
b =R ol Eps
2] 1 2915 leeeeee leeeel 1
1 2 2016 2000000 260001 2
2 3 2017 3geeeee 3eeeel 4
] 4 2018 4060000 400001 8
- 5 2019 8000000 790001 16
5 6 2020 16060080 1590881 32
Python
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df.loc[6] = df.loc[5] * 2

df
Python
out[-]
ozt Six & z9  H
%] 1 2015 loeeaeee leeeel 1
1 2 216 20000080 200001 2
2 3 2017 3000000 300601 -
B 4 2e1s8 4000000 400001 8
- 5 2019 8000000 790001 16
5 6 2020 16000000 1590001 32
6 12 4040 32000000 3180002 64
Python
df[* #0128 ] = (df[*£2"'] / df['THZ"])*100
df.loc[6] = df.loc[5] * 2
df
Python
Out[-]
oE o= = 2| TP 20lUS
8 1.0 2015.0 1000060.8 100001.8 1.0 10.0001080
1 2.0 2016.0 2000000.0 2eeeel.e 2.0 10.00e050
2 3.0 2017.0 3000000.0 300001.0 4.0 190.000033
3 4.9 2018.0 4000000.09 400001.0 8.0 16.000025
4 5.0 2019.9 80000ee.0 790001.0 16.0 9.875012
5 6.0 2020.0 1c000000.0 1590001.0 32.09 9.937506
6 12.0 4040.0 32000000.0 3180002.0 64.0 19.875013
Python
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df["SH='][6] = 2821
df['&H R ']1[6] = 7
df
out[-]

iy B o=
@ 1.0 2015.8 1000000.
1 2.0 2016.9 2000000.
2 3.0 2017.8 3900000.
3 4.0 2018.9 4000000.
4 5.0 2019.9 8000000.
5 6.0 2020.0 16000000.
6 7.0 20821.8 32000000.
df.dtypes
out[ -]
iy float64
B floate4
= floate4
=Y float64
2 float64
=02 = float64
dtype: object

oS Pythonl 2 24 E4

el
—

leeeel.
200001.
30ee01.
40eee1.
790@e0l.
159@eel.
31860002.

® 0 0 ®© ®@ @ ®

16.
32.
64.

A
i
1
i

0 B NOE
® ® ® ®© ® ® ®

=)
=

.000100
.000050
.000033
.000025
.875012
.937506
.875013

el

O

=

|

Python

Python

Python

Python
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df['&At'] = df[" & At ].astype('int")
df["8S'] = df["® T "'].astype( int")
df
Python
OQut[-]
Hir dx = =< A =02E
5] 1 2015 1000000.0 l00001.0 1.0 10.000100
1 2 2016 2000000.0 200001.0 2.0 10.000050
2 3 2017 3000000.0 300001.0 4.0 10.000033
3 - 2018 4000000.0 400001.90 8.0 10.000025
4 5 2019 8000000.0 790001.0 16.0 9.875012
5 6 2020 16000000.0 1590001.90 32.9 9.937506
6 7 2021 32000000.0 3180002.0 64.0 19.875013
Python
pd.Series([1, '2', '3', 'hojun', True, 10.1])
Python
Out[-]
2] 1
1 2
2 2]
3 hojun
4 True
5 l1e.1
dtype: object
Python
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pd.to_numeric(pd.Series([1, 2", '3", "hojun', True, 10.1]), errors="ignore')

Python

10.1

Python

pd.to_numeric(pd.Series([1, '2', '3', "hojun', True, 108.1]), errors='coerce') # errors='c

Bl
oerce' : errorE ZSIIE Bi=
Python
Out[-]
%] 1.0
1 2.0
2 3.0
] NaN
- 1.0
5 10.1
dtype: floaté4
Python
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Multilndex

import numpy as np

print(np.random.rand(4, 2)) # @2 H 1AlC|, 28 =X, Matrix 44
print(np.random.randint(10)) # @& 9AIOl, ==X 1 &
print(np.random.randint(1e, 20, size=10))
print(np.random.randint(16, 2@, size=(3, 5)))
print(np.random.randn(4, 2)) # JISA|Q & EHAEE, Matrix 4l
print(np.unique([1, 1, 1, 2, 2, 3])) # === gt HH

print(np.random.choice(10, 5, replace=False)) # SJJ2t &€ replace= =S4

ol

Python

out[-]

[[©.84378258 ©.74200548]
[0.55837495 ©.69908872]
[0.85818263 ©.56343036]
[6.90647635 ©.77013871]]

[16 16 16 13 18 14 11 16 1@ 19]

[[11 14 10 17 13]
[1 13 14 19 15]
[14 15 12 12 17]]

.67612663 -0.52565421]
.70822562 ©.52063027]
.23706617 ©.74834107]
.16540672 -0.62646096] ]

e e B B |
@ 0 ® @

[1 2 3]

[41639]

Python
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import pandas as pd

df = pd.DataFrame(np.random.randint(5e, 1@, size=(4, 3)),
index=[['1&d", "1&d", "2&&", "2&EH"], ['18F", "28b", "18t', 28 1],

columns=['=", &', *='])

df
Python
out[-]
= 2 =
15t 18k 77 83 6@
28k 94 54 92
284 1dk 81 7@ 75
24 65 99 52
Python
df = pd.DataFrame(np.random.randint(5e, 1@, size=(4, 3)))
df
Python
Out([-]
2] 1 2
@ 63 66 82
1 65 65 78
2 52 52 88
350 73 74
Python
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df.index

Python
Out[-]
RangeIndex(start=0, stop=4, step=1)

Python
df.index = ['218f', *28F 18k roHEr]
df

Python
Out[-]

2] 1 2

18k 63 66 82
28k 65 65 78
19k 52 52 88
28k 5@ 73 74

Python
df.columns

Python
Oout[-]
RangeIndex(start=0@, stop=3, step=1)

Python

126



HIOJE{S Python2 =2 2% Z A=

df.columns = ['=", "&"', "4']

df
Python
Out[-]
= ¥ £
12t 63 66 82
28t 65 65 78
18 52 52 88
25t 5@ 73 74
Python
df.index = [["1&&d", "1stH: ) a8t "28hH ], ["agtr, r2gbt, tapkr, r2bit]]
df
Python
Qut[-]
= & =
1 18 63 66 82
28k 65 65 78
294 1Hh 52 52 88
29k 5e 73 74
Python
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df.columns = [["@IC", "&0l", "=2l'],['=", &', "+']]

df
Python
Out[-]
e $=2]
= 2 =+
1 18t 63 66 82
28k 65 65 78
254 18k 52 52 88
28k 5g 73 74
Python
df[*210f"]
Python
out[-]
= 9
1S 18 63 66
28k 65 65
25t H 18k 52 52
28 5 73
Python
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Python

out[-]

4

H
!
i

82
78
88
74

]

!

i
N RN R
[T C [ [T

Python

Python

out[-]

=L |

L

63
65
52
50
Name: =, dtype: int32

(2%
B
o
.
T o

N
[

Python

ol

df.loc['15 5 "]

il
r

Python

1
11
y

28t 65 65 78

Python
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-
o

o =

Python

Out[-]

63
66

rir 80

ol

Python

df.index

df

Python

out[-]

n
<k 4
ao

[N

12t 63 66 82

65 78

245 85

T
o~

7

28k se 73

Python

130



& Ol BoM CHR= LHE

Data Information
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Assignment
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import numpy as np
import pandas as pd

Python
df = pd.DataFrame(np.random.randint(5e, 1ee, size=(1@, 5)),
index = [['1&f@"' for i in range(5)]+
['2=fH " for i in range(5)],
[str(i)+'Et' for i in range(l, 6)] +
[str(i)+ 2" for i in range(1, 6)11,
columns = ['=", "&*, "==", "At", "4t'])
df
Python
Out[-]
= 2 = A It
1sHd 18F 57 79 66 96 85
2P 93 69 99 87 67
32F 87 81 83 66 79
4%t 80 67 59 69 59
cHh 51 68 82 94 g0
254 18F 6@ 84 89 59 5@
28 62 93 59 68 73
3Pk 84 99 55 98 63
49+ 95 57 68 85 69
S5Et 68 61 86 67 66
Python
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Data Information

df.info()

Python

Copy to clipboard
Out([-]
<class 'pandas.core.frame.DataFrame'>
MultiIndex: 1@ entries, ('1=3H"', '1Et') to ('2
Data columns (total 5 columns):
# Column Non-Null Count Dtype

il

=
wn
[

4,

e = 1@ non-null int32
ST 10 non-null int32
2 10 non-null int32
3 A 10 non-null int32
4 o 1@ non-null int32

dtypes: int32(5)
memory usage: 308.0+ bytes

Python
df.dtypes
Python
Out[-]
= int32
& int32
= int32
Al int32
i int32
dtype: object
Python
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df.head()
Python
Out[-]
= Z 2= A W
154 1Pk 57 79 66 96 85
28k ¢3 69 98 87 67
38 87 81 83 66 79
4HF 8@ 67 59 69 59
5H 51 68 88 94 80
Python
df.tail(3)
Python
Outl[-]
= & 2 A W
2shd 3HF 84 99 55 99 63
49t g5 57 B8 85 69
cHE 68 61 86 67 66
Python
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df.index

Qut[-]
MultiIndex(

df.values

out[-]

array([[57,
[93,
(87,
[8e,
(51,
[e0,
[62,
[84,
[95,
[es,

HOIEHS Python2 2 2% F

("1, 1),
(1, 2,
QGLIEREECDR
(13, ag),
("1stEe, cspE),
(‘23r, tage),
(‘23 rap),
("28i0, 3,
(‘23E", tap),
(2817, sE)],

79, 66, 96, 85]
69, 99, 87, 671,
81, 83, 66, 79]
67, 59, 69, 59]
68, 88, 94, 88],
84, 89, 59, 50]
93, 59, 68, 73]
99, 55, 98, 63],
57, 68, 85, 69],
61, 86, 67, 65]])

M
~

el

O

=

|

Python

Python

Python

Python
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df.describe() # Jt& J|z=Zpl S =24
Python
out[-]
= 8 o= Ab i
count 10.000000 10.0080000 10.000000 10.020800 10.000000
mean 73.706000 75.800000 74.300000 77.300000 59.100000
std 15.986453 13.725888 14.189589 14.453373 18.556199
min 51.000000 57.000000 55.000000 59.800000 50.000000
25% 60.500000 67.250000 60.750000 66.250080 63.750000
5Q% 74.000000 74.000000 75.500000 77.8000080 63.000000
75% 86.250000 83.250000 87.500000 89.256080 77.500000
max 95.000000 99.000000 90.000000 96.9PP0R0 85.000P00
Python
indexing, slicing
df
Python
out[-]
= @ 2= A
1=fd 1k 57 79 66 96 85
28t 93 69 98 87 67
35 87 81 83 66 79
449t 89 67 59 69 59
cEk 51 68 88 94 80
25HH 182 6@ 84 89 59 So
28 62 93 59 68 73
38 84 99 55 9@ 63
48t 95 57 68 85 69
cHh 68 61 86 67 66
Python
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print(df.=)

print(df['=']) # Z& Z1
Python
out[-]
=rE ok 57
25 93
3 87
43 20
St 51
25t H  qHk 6@
22l 62
38 84
43t 95
sl] 68
Name: =, dtype: int32
=E 57
25k 93
38k 87
43t 20
sl] 51
aEilE Al 60
28 62
3 84
4t a5
Sk 68
Name: =, dtype: int32
Python
df[2:4] # SAE2E HHE ¢l AZ slicing
Python
Out[-]
= 9 = AN I
1sHid4 35 87 81 83 66 79
449t 8@ 67 59 69 59
Python
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p2t

-
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o =

Python

out[-]

<
3o

rr

57 79 66

1gt

15H

28 93 69 99
32t 87 81

83

59

48F 80 67

5k

51 68 88

12t 6@ 84 89
2P 62 93

59
55

3BF 84 99

45t 95 57 68
Pk 68 61

86

Python

Python

out|[-]

<
30

rr

57 79 66

18t

18HA

25 93 69 9@
38t 87 81

83

59

455 88 67

Sgt

51 68 88

Python
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p2t

-
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o =

|

df._loc|

Python

out[ -]

rr

J

)
i

Python

Python

out[ -]

rr

J

)
i

Python

Python

Oout[-]

rr

fill

|
i

Python
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df.iloc[:5, [e, 3]]

Python
Out[-]
= Al
1S 18 57 96
29 93 g7
38k 87 66
45 88 69
gk 51 94
Python
df.iloc[-3:, [e, 3]]
Python
out[-]
= Al
254 3Hk 84 ge
449t 95 g5
b 68 67
Python
df.iloc[::2, [e, 3]]
Python
Qut[-]
= Al
1std 18k 57 96
38k 87 66
cHb 51 94
254 28 62 60
49 o5 g5
Python
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df.iloc[::-1, [@, 3]1]
Python
out[-]
= Al
254 sHb 68 67
44t 95 g5
34t 84 9@
24t 62 60
18t 6@ 59
1sHd 58k 51 94
48t 88 69
3t 87 66
28k 93 g7
18k 57 96
Python
Assignment
df
Python
out[-]
= 2 £ A
15/ A 19 57 79 66 96 85
28 93 69 98 87 67
38 87 81 83 66 79
49t 8@ 67 59 69 59
sHE 51 68 88 94 8@
254 1Ht 6@ 84 89 59 5@
24k 62 93 59 6@ 73
39k 84 99 G55 9@ 63
45t 95 57 B8 85 69
cHk 68 81 86 67 66
Python
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df_3 = pd.DataFrame(np.random.randint(5@, 1@, size=(5, 5)),
index = [['32&"' for i in range(5)],

[str(i)+'Et" for i in range(1, 6)]],

columns = ['=", "&"', "=, A, "]
df_3
Python
Out([-]
= & = Ab
3stA 18 99 74 74 62 94
2P 55 6B 64 84 6@
32k 61 89 61 64 65
45 68 51 5@ 82 56
SZh 62 8@ 99 76 96
Python
df.append(df_3)
Python
Out[-]
= & = A I
1sHA 18t 57 79 66 96 85
22F 93 69 98 87 67
32 87 81 83 66 79
48t 8@ 67 59 69 59
Sk 51 68 828 94 20
2584 1P 6@ 84 89 59 5@
28 62 93 59 6@ 73
3% 84 99 55 99 63
48t 95 57 68 85 69
SPh 68 61 86 67 66
3sHE 18 99 74 74 62 94
28t 55 68 64 84 68
3% 61 89 61 64 65
4% 60 51 5@ 82 56
cEh 62 8@ 99 76 96
Python
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p2t

-
o

o =

# for i in df:

print(i, df[i])

&

df['="]

Python

Qut[-]

57

93

il

)
i
—

fl]

87

J

8e
51

J

od

62

J

84
95

fl

68

fill

99
55
61

.

it
i
o

7l

60
62
=, dtype:

fill

J

int32

Name:

Python
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df["EHZ'] = (df['="] + df["2"] + df["=="] + df["At"] + df["2"]) / 5

Python

Out|[-]

H

o

i

-

J
e
1
>
'13
ng

8]

93 69 9@ 87 67 8l1.
87 81 83 66 79 79.
88 67 59 69 59 66.
51 68 88 94 8@ 76.
6@ 84 89 59 5@ 68.
62 93 59 6@ 73 69.
84 99 55 5@ 63 78.
95 57 68 85 69 74.
68 61 86 67 66 69.
99 74 74 62 94 80.
55 60 64 84 6@ 64.
61 89 61 64 65 68.
68 51 5@ 82 56 b59.
62 80 99 76 96 82.

B w

(1L T T i T LA Fui S [ R

(¥}
2l
[im
[T, |

8]

w
el
(m
e VO S LV I =
O 0O OB RN BRNOONNO® r

Ui
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HF st2tc] o]M CHIOJE{E Pythonl 2 Z2u EMsEH

EAXIt EHA| M, Zre| HE

len(df) # 1=fd 182 E 3= SHENLA| £ 15JH<] g

Python
out[-]
15
Python
for i in df:
print(i)
Python
out[ -]
=
=]
A
0
Al
2
A
Python
df.size
Python
out([-]
98
Python
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df.values # O|F HHZ0/2| [HZW len(df.values)= 157} Li=

Python
Out[-]
array([[57. , 79. , 66. , 96. , 85. , 76.6],
[93. , 69. , 90. , 87. , 67. , 81.2],
[87. , 81. , 83. , 66. , 79. , 79.2],
[80. , 67. , 59. , 69. , 59. , 66.8],
[51. , 68. , 88. , 94. , 89. , 76.2],
[60. , 84. , 89. , 59. , 50. , 68.4],
[62. , 93. , 59. , 6@. , 73. , 69.4],
[84. , 99. , 55. , 9@. , 63. , 78.2],
[95. , 57. , 68. , 85. , 69. , 74.8],
[68. , 61. , 86. , 67. , 66. , 69.6],
[99. , 74. , 74. , 62. , 94. , 80.6],
[55. , 60. , 64. , 84. , 60. , 64.6],
[61. , 89. , 61. , 64. , 65. , 68. |,
[60. , 51. , 50. , 82. , 56. , 59.8],
[62. , 80. , 99. , 76. , 96. , 82.6]])
Python
df.count()
Python
OQut[-]
= 15
& 15
= 15
Ab 15
B 15
ks 15
dtype: inté4
Python
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df.shape

Python
Qut[-]
(15, 6)

Python
df.ndim

Python
out[-]
2

Python
df.mean()

Python
Qut[-]
= 71.600000
g 74.133333
= 72.733333
Ab 76.066667
i 760 .800000
=2 73.066667
dtype: floates

Python
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df
Python
out[-]
= g = A W =P
18HH 18k 57 79 66 96 85 76.6
22+ 93 69 98 87 67 81.2
32t 87 81 83 66 79 79.2
45t 89 67 59 69 59 66.8
5Zt 51 68 88 94 80 76.2
284 1P 6@ 84 89 59 58 68.4
28F 62 93 59 6@ 73 69.4
32t 84 99 55 98 63 78.2
4Pt 95 57 68 85 69 74.8
52t 68 61 86 67 66 69.6
3stid 18t 99 74 74 62 94 8@.6
20F 55 60 64 84 6@ 64.6
32 61 89 61 64 65 68.0
45 60 51 5@ 82 56 59.8
5P 62 8 99 76 96 82.6
Python
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df.loc['18H" " J[*'3="] = df.loc['1=E" ][] + 1@

Python

Out[-]

1
02
i
=
(]
g

57 79 76 96 85 76.
93 69 10 87 67 81.
87 81 93 66 79 79.
80 67 69 69 59 66.
51 68 98 94 8@ 76.
60 84 89 59 5@ 68.
62 93 59 60 73 69.
84 99 55 2@ 63 78.
95 57 68 B85 69 74.
68 61 86 67 66 69.
99 74 74 62 94 80.
55 6@ 64 84 6@ 64.
61 89 61 64 65 68.
60 51 50 82 56 b59.
62 806 99 76 96 82.

(8] =
e o
([ m
LY B~ VE R ¥ T =

%]

w
s
T
B ow N R v B

[ T T R T (T Eé e e e m

v

Python

df[df["="] > 80]

Python

H
089
1
=
'E
o

H
!
im
(%]

93 69 1ee 87 67 8l.
87 81 93 66 79 79.
51 68 98 54 8@ 76.
606 84 89 59 5@ 68.
68 61 86 67 66 69.
62 80 99 76 96 82.

[T T R
oo n N H

~
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(VLY B RV, VY]

Python
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df['=='] > 8@

Python
Out[-]
nErE  DED False
24k True
38k True
45k False
gk True
aehle 7 True
26t False
3k False
48k False
SEt True
3 a1k False
28k False
3 False
44t False
sk True
Name: ==, dtype: bool
Python
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Clo|EHE Pythonl =2 24 &

M
~

sl = A

e I — | . ] A I
S22 2709 = EHSs dEEE
o OILEO[ ZiO| 4SSt A2 EY I, CHE
o OtLIC| 0| Asot= d¥=s EY WM, L E
oA
(=R
df.cov()
Out[-]
= g 2
= 264.971429 -4.585714 12.600000
o -4,585714 193.838895 -8.366667
4= 12.600000 -8.366667 288.495238
AP -23.685714 -48.152381 6.4238180
b 32.414286 33.028571 92.157143
Za 54.914286  34.184762 70.389524

UE Mt A
ol st Aol
Al i}
-23.685714 32.414286  54.
-48.152381 33.828571 34.
6.423810 92.157143 70.
166.923810@ 15.300000  18.
15.3000200 183.885714  69.
18.838095 69.071429 47.

2o
914286
1e4762
309524
838095
071429
352381

Python

Python
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<K

rO| -1.01f -0.7 AFO|O| H,

rO| -0.73f -0.3 ArO|O|H,

rO| -0.31f -0.1 ArO|O|H,

rO| -0.11f +0.1 AFO|O| &, H 2|

rO| +0.12F +0.3 AFO|C|H,

rO| +0.310F +0.7 AFO|O|H,

rO| +0.71F +1.0 Afojo| &, Zt

df['="].corr(df["Al'])

Python

Qut[-]

-0.11262318855527285

Python

df['S="].corr(df["2{'])

Python

Out[-]

0.4001157819565991

Python
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df
Python
out[-]
= & = i W EBZ
15fH 18k 57 79 76 96 85 76.6
24 93 69 1ee 87 67 81.2
39k 87 81 93 66 79 79.2
49+ 89 67 69 69 59 66.8
cHF 51 68 98 94 80 76.2
2=H 18 6@ 84 89 59 5@ 68.4
2P 62 93 59 68 73 69.4
38k 84 99 55 99 63 78.2
48t 95 57 68 85 69 74.8
ct 68 61 86 67 66 69.6
35/ 18 99 74 74 62 94 80.6
24 55 68 64 84 6@ 64.6
38 g1 89 61 64 65 68.9
49 6@ 51 58 82 56 59.8
cHE 62 82 99 76 96 82.6
Python
# df['+"]["1=E"'] = np.nan
print(df.info()) # int32
2#%32//2 # 32HIE int3E 0= nanE 2= = nanll SHIHA E£E
print(df['="'].dtypes)
df['=="'].astype( float')
df['+'] = np.nan
print(df)
Python
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Out[-]
<class 'pandas.core.frame.DataFrame’'>
MultiIndex: 15 entries, ('1=fE', "1Bt') to ('3=fd", '5Eb")
Data columns (total 6 columns):
# Column Non-Null Count Dtype

e = 15 non-null int32
1 g 15 non-null int32
2 ® non-null floate4
3 A 15 non-null int32
- 15 non-null int32
5 H 15 non-null floate4d

dtypes: float64(2), int32(4)
memory usage: 626.0+ bytes

2147483648
int32

= E = A I EHZ

1std 18 57 79 NaN 96 85 76.6

2¢F 93 69 NaN 87 67 81.2

32 87 81 NaN 66 79 79.2

45 80 67 NaN 69 59 66.8

SPb 51 68 NaN 94 88 76.2

25t # 1Ht 60 84 NaN 59 50 68.4

22t 62 93 NaN 68 73 69.4

38k 84 99 NaN 92 63 78.2

45 95 57 NaN 85 69 74.8

52k 68 61 NaN 67 66 69.6

3sHHE 18 99 74 NaN 62 94 80.6

22t 55 6@ NaN 84 60 64.6

32k 61 89 NaN 64 65 68.8

45 60 51 NaN 82 56 59.8

5Pk 62 80 NaN 76 96 82.6

Python
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df.isna()
Python
Oout[-]
= & = At e T

1=t 1Pt False False True False False False

29 False False True False False False

38t False False True False False False

48t False False True False False False

58t False False True False False False
28FHH 1Hl False False True False False False

28t False False True False False False

38t False False True False False False

45l False False True False False False

58 False False True False False False
3=tiH 18t False False True False False False

28t False False True False False False

38} False False True False False False

48t False False True False False False

52t False False True False False False

Python

155



HO|E{E PythonQ 2 2ut H M| E

# max(df.mean())

df.fillna(58) # Z=IE 0= 22z U=
Python
Out[-]
2 g > A EHR
1St 1HF 57 79 5@0.8 96 85 76.6
28 93 69 50.8 87 67 81.2
35k 87 81 50.0 66 79 79.2
45k 89 67 5@.8 69 59 66.8
S5 51 68 50.9 94 80 76.2
28" 1BHF 68 84 50.8 59 50 68.4
2H 62 93 50.0 60 73 69.4
35t 84 99 s5@.@ 98 63 78.2
48k 95 57 5@.8 85 69 74.8
sHh 68 61 50.9 67 66 69.6
35t A 15t 99 74 58.0 62 94 80.6
20 55 60 50.8 84 68 64.6
35 61 89 58.2 64 65 68.8
45 6@ 51 5@.8 82 56 59.8
S5 62 80 59.80 76 96 82.6
Python
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df.T

Python
Out[-]

15t 28t 35t
1gk 28t 3k gBF sEE 1B 28 38 4B sgEF 1BF 2B 38k 4Bt

Sk
= §57.0 93.0 87.9 80.0 51.0 60.0 62.0 84.9 95.90 68.90 99.0 55.8 61.8 60.0
62.0
S 79.0 69.0 8l1.0 67.0 68.0 84.0 93.0 99.8 57.0 61.0 74.0 60.0 89.¢ 51.0
80.0
= NaN NaN NaN NaN NaN NaN NaN NaN NaN NaN NaN NaN NaN NaN
NaN
Al 96.0 87.0 66.9 69.89 94.@ 59.0 60.2 90.9 85.90 67.90 62.9 84.8 64.8 82.0
76.0
I 85.e 67.@ 79.8 59.0 80.9 50.8 73.0 63.0 69.0 66.0 94.9 60.0 65.0 56.0
96.0
EH 76.6 81.2 79.2 66.8 76.2 68.4 69.4 78.2 74.8 69.6 80.6 64.6 68.9 59.8
82.6

Python
df.apply(max)

Python
Out[-]
= 99.0
2 99.9
== NaN
Al 96.0
2t 96.9
g 82.6
dtype: float64

Python
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df.apply(min)

out[-]

= 51.0
g 51.9
== NaN
Ab £9.9
i 56.0
Ea 59.8

dtype: floate4

df.apply(lambda x: x.max() - x.min()) # H=AZ=2F SHI0OF GI2Z lambda ALS

out[-]

= 48.0
g 48.0
== NaN
Ab 37.0
i 46.0
Ea 22.8

dtype: floate4

Python

Python

Python

Python
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df.sort_values('="', ascending=True )|

Python
Out[-]
= 2 2 A I EBR
15t 5PF 51 68 NaN 94 8@ 76.2
3shAd 28F 55 6@ NaN 84 60 64.6
1=t 18 57 79 NaN 96 85 76.6
28hA 12 6@ 84 NaN 59 50 68.4
3shAd 48F 6@ 51 NaN 82 56 59.8
38 61 89 NaN 64 65 68.0
28hA 28 62 93 NaN 6@ 73 69.4
3SHH 5EF 62 80 NaN 76 96 82.6
2=td 5HE 68 61 NaN 67 66 69.6
15t 45t 88 67 NaN 65 59 66.8
25HHd 3HF 84 99 NaN 90 63 78.2
1=t 38F 87 81 NaN 66 79 79.2
28 93 65 NaN 87 67 81.2
2t 4HF 95 57 NaN 85 69 74.8
3=t 18 99 74 NaN 62 94 80.6
Python
#df.to_csv("=F W &E=.csv")
df.to_csv("SW&E=.csv', encoding="utf-8-sig') # &= ¢/3Y
Python
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EDA

Graph Visualization
Scatter

S|AETIEH

Basic Attributes
Pie Chart

Bar Chart

Subplot
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EDA

ST XHE 2
o HO|HE 2457 o Jai =L EAFe &

H o
H—
o HOHE U= AUZ HEtE=H S8 HF0 HOolH7r 7kX| 2 1= 2|0[& Lot 4= 2
Hi2tE 3 of s

CE HOHE HUHSE HEtE = I

EDA X
e CIOIE| 7 OJArE EH
e COE| S%0| Ot DH S e

o BI:E AtO|O| BH S T

Graph Visualization

Matplotlib& 0| &%t A| Zta}
e plotlyQt 22 Z[4 A[Z2} Tf 7| X|0f| H|SHH F&f

% SUSCID 42E + lou el B 2N
32 XU 2/0f OFEE 283 T

b B =
of

o

-1

ke

N

n

e 2003 0.1 EA|, 17HO|El THZ|X|

e https://github.com/matplotlib/matplotlib

e https://matplotlib.org/

* % matplotlib inline : jupyter notebook LHO{| M output® EHE
o IZE0M ABIIST BEHE ME7HSSHA BiE
e matplotlib 7| & 74 : 18 (figure), = (axes)

e fig.savefig() : figureOi| 2= O|O|X|& XM &
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import numpy as np
import pandas as pd
import matplotlib.pyplot as plt

#matplotlib inline

Python
X = np.linspace(®, 10, 109)
fig = plt.figure()
plt.plot(x, np.sin(x), '-') # &A&2SZ sinJdi= |7
plt.plot(x, np.cos(x), "--') # &2 = cos el = T2
plt.plot(x, np.tan(x), "--*') # ONEUCIDI 4ZEAH2=Z tand2l = 22|
Python
Out[-]
[<matplotlib.lines.Line2D at 0x186c8e58f98>]
20
A
10 g H ?
i ; i
01 J‘#W
i ' 1
{ i ’
1 : |
i
-30 l :
]
1
-40 H
0 2 4 6 8 10
fig.savefig('test.png')
Python
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# Oi& =rel

Ipython --version

Python
Out[-]
Python 3.7.3

Python
Idir

Python
Out[-]

c SekolEsl =80z 0180l Sl

t
=5 23 MS: CC5E-6766

ne
i

C:\Users\leehojun\Google =cl0/E\11_1. ZH= & ZU=\ee6c. HCOIHZA 2Z\es. 4

\EIEHEIAE CIREZ

2020-03-30 ©01:34 <DIR>
2020-03-30 01:34 <DIR> .
2020-083-30 ©01:25 <DIR> .ipynb_checkpoints

2820-83-30 ©1:34 34,368 @042 1}_Graph_Visualization.ipynb
2020-03-30 01:34 16,234 test.png
20 I 50,602 HIOIE

33§ CI®EI2] 17,973,571,584 HIO|E =&

Python

163



HOEfE Python2 2 24w

from IPython.display import Image

Image('test.png’) # XZE "test.png'E =27

Python
Outl[-]
20 4
10
04
_10 4
-20
-30
-40
fig.canvas.get_supported_filetypes() # figurell X &&l= El2E¢l
Python
Out[-]
{'ps': 'Postscript’,
‘eps': 'Encapsulated Postscript’,
‘pdf’: 'Portable Document Format’,
'pegf': "PGF code for LaTeX',
‘png': 'Portable Network Graphics',
'raw': "Raw RGBA bitmap’,
‘rgba': 'Raw RGBA bitmap’,
'svg': 'Scalable Vector Graphics',
'svgz': 'Scalable Vector Graphics',
'jpg': '"Joint Photographic Experts Group',
'jpeg': 'Joint Photographic Experts Group',
'tif': 'Tagged Image File Format',
'tiff': 'Tagged Image File Format'}
Python
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fig = plt.figure()
ax = plt.axes()
# 20 = Z== A

t
# O, HAEZ = 22

= 0
o
ba
B2
<
H1
1
il
ot

plt.show()
Python
Qut[-]

10

0.8 1

0.6 1

04

02

00 T T T T

0.0 0.2 04 0.6 08 10
X = np.linspace(e, 186, 1ee)
y = X ¥* 2
y_ =X ** 3
plt.plot(x, y, '--")
plt.plot(x, y_) # G e JZE =AU ==alHd® plot= il H Aot &
plt.show()
Python
Qutl[-]

1000

800

600 1

400

200

N =

0 2 4 6 8 10 165
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M Mo AEHY

e plt.plot(x, y, color="red") -> red, green, blue & 24 0| &

e pltplot(x, y, color="r") ->r, g, b, y, m(At2), k(BE) & X4 0|E
e pltplot(x, y, color="0.2") -> Z[MZ(0-1At0] £f)

* plt.plot(x, y, color="#ff0000") -> 167 a= M A gt

¢ plt.plot(x, vy, linestyle="solid") -> &4 (-

e plt.plot(x, y, linestyle='dashed') -> IpM('--")

s pltplot(x, v, linestyle='dashdot") -> 18 24 (-

e plt.plot(x, y, linestyle='dotted') -> M

e pltplot(x, y, '--r') -> 7k THM

value = pd.Series([1, 2, 3], [10@, 200, 300])

# plt.plot(value, linestyle='dashed', color='blue') # I}&, T}EHAH
plt.plot(value, '--b")

Python

out[-]

100 125 150 175 200 225 250 275 300
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M
~

el

o

=)

|

o 2

plt.plot(x, vy,

plt.show()

Out[-]

np.linspace(e, 10, 109)

--r")

100 1

20 1 -~

-
e

Python

167



| o/ Al BlOEE

Pythone 2 24 2

M
~

1] =

ol =

|

23
o2 H

r9¢

o pltxlim, pltylimS 2 M4 =& 7+
o pltaxis(x= E|&4k, x= TS y= X4k y= XS E of B0 =8 7ts
=3 7| E o)
¢ pltaxis('keyword'") -> tight, equal(Z#&)
= np.linspace(@, 10, 100)
= X *¥* 2
plt.plot(x, y, 'r")
# plt.xlim(-1, 11) # x5 -1 ~ 11
# plt.ylim(-10, 110) # y= -10 ~ 118
# plt.axis([-1, 11, -1@, 118]) # x= -1 ~ 11, y5 -10 ~ 110
# plt.axis('tight')
# plt.axis('equal’)
plt.show()
Qut[-]
100 -
80
w -
40 -
20 -
0.
0 2 a 6 8 10

Python

- axes®t CIE! H|
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M
~

el

o

=)

|

label} legend
label : x5, y=2| 20| £ HO|E QX EAIS] F= Y

legend : THEF0| HE & =7tz

import numpy as np
import matplotlib.pyplot as plt
%matplotlib inline

X = np.linspace(e, 1@, 1ee)
y = x ¥ 2

plt.plot(x, vy, 'r")

plt.xlabel('x")
plt.ylabel('y")

plt.show()

Out[-]

100

Python
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X = np.linspace(e, 10, 109)
y = x ** 2
L — R s

plt.plot(x, y, 'r', label="linel")
plt.plot(x, y_, 'g', label="line2'")

# plt.xlabel('x"')
# plt.ylabel('y")

plt.legend()

plt.show()

Python

out[-]

1000 { — Jine1
— line2
800 -
600 1

400 1

200 1
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i Z A

https://matplotlib.org/tutorials/intermediate/legend guide.html

'‘best' 0 e ‘centerleft'6
'upper right' 1 e ‘centerright' 7
'upper left' 2 e ‘lower center' 8
'lower left' 3 ® ‘upper center' 9
'lower right' 4 ® ‘center’ 10

Iﬁghtl 5 loc : E‘”EEE 'c|>'|X|

X = np.linspace(®, 19, 1@9)
y = X ¥* 2
y_ = X ** 3

plt.plot(x, y, 'r', label='linel')
plt.plot(x, y_, 'g', label='line2")

# plt.xlabel('x")
# plt.ylabel('y")

plt.legend(loc=2)

2 9 1
6 5,7
3 8 4
plt.show()
Outl[-]
1000 1 — inel
— line2
800 4
600 A
400 ~
200 1
D .
0 2 4 6 g 10

Python
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e bbox: figure &0l legend®I X|SHAH siF&= A

e fancybox: BEME|E HOtFE= A

X = np.linspace(®e, 1o, 169)
Y = 5T e 2

y_=x ** 3

plt.plot(x, y, 'r', label="linel")
plt.plot(x, y_, 'g', label='line2")

plt.legend(loc="upper center', bbox_to_anchor=(8.5, 1.85),
ncol=2, fancybox=True, shadow=True)

2 9 1
6 5,7
3 8 4
plt.show()
Python
Out[-]

1000 = linel — |II'IEZI—

800

600

400 1

200 1

D.
0 2 3 6 8 10
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HHZ T 52 S0l M 9| %] CHE 7|
o Z 3}EH0] 0,0
e QEZ L0l 1,0

Z 4EH0] 0, 1

A
o
o QEZ MEHO[ 1,1

(e,1.02,1,0.2)
s 2ot o y=sin) — y=costs) — y=sintcd) | (1.04,1)
1.00 4 ’ y=sin(x)
(6.4,0.8) y=c0s(Xx)
0.7 - loc="upper right y:Sm(xf“z,)
0.50 y=sin(x)
i y=c05s(x)
0.25 1 y=SH’1(X';) y=sin(x)
0.00 4 (1.94,e.s)+ y=cos(x)
loc="center left" y=sin(x-5)
-0.25 1 =
-0.50 4
y=sin(x)
0.75 y=cos(x)
~1.00 ] (1.04,0) & y=sin(x-3)
L ! . ; s locs“lower ltft"
(9’0) -6 —4 =2 0 2 (1 9) 1loc="lower right”,
bbox_transform=fig.transFigure
|(9 0) y=sin(x) y=cos(x) y:sm{x-'._f) [
>
-_.

ZX : https://stackoverflow.com/questions/4700614/how-to-put-the-legend-out-of-the-plot
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-

Scatter(M ™ K)
. G50l B, LW AKE HOE BAE B

plt.scatter(2@, 20,
s=168, c="r",
alpha=0.5) # (20,20), sizel} 1ee, MWtH E0T g sl H

(1=
0

plt.show()
Python
Out[-]
20.02 A1
20.01 1
20.00 A O
19.99 4
19.98 1

19985 19990 19995 20000 20005 20010 20015
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plt.scatter([10, 20], [10, 20],
s=1ee, c=['r', 'g'l],
alpha=0.5)

plt.show()
Python

Out[-]

18 1

16

14

12 1

104 ®
10 12 14 16 18 20

175



| o4l CIOJE{E Pythonl 2 2w HMs|EHA

np.linspace(e, 1e, 29)
R 2

plt.scatter(x, vy,
s=10@, c='b",
alpha=0.5)

plt.show(ﬂ

Python

Qut[-]

100 - <

20 1 o

176



HO|E{E PythonQ 2 2ut H M| E

plt.scatter(x, vy,
s=188, c='b’,

alpha=8.5)
plt.show()
Python
out[-]
TypeError Traceback (most recent call last)
<ipython-input-3@-2c8a%@@ea56a> in <module>
1x=1[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]
————> RPNV =+ £
B
4 plt.scatter(x, y, s=1@@, c='b', alpha=0.5)
5 plt.show()
TypeError: unsupported operand type(s) for ** or pow(): 'list' and 'int'
Python
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X

y
colors = np.random.rand(50)

np.random.rand(50)

np.random.rand(5@)

size = 1808 * np.random.rand(59)

plt.scatter(x, vy,
s=size, c=colors,
alpha=0.5)

plt.show(ﬂ

Python

Out[-]

N @

10 O
® ’. )y, @
]
o
@

0.2 A

®

0.0 02 0.4 0.6 08 10

04 l'l' 1'.
g y 'u
. -
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S|IAE]H
o S|AE S (histogram)2 EE E|H A= 2+ 22 E EE J2 2 LiErH 74 o ZHEHSHA &
St E=2ZHEE JaiZ2 LiEtH A

e TAHIAHNEE= Al T 7I2E SL5HA| EFd M=o EO0[ZT LIEHH(EHM : wikipedia)

np.random.rand(4, 2) # @5 H 1AI0], #2 =X, Matrix 4
np.random.randint(1@) # @R & 9AIOl, =X} 10 44
np.random.randint(18, 20, size=10)

np.random.randint(1e, 20, size=(3, 5))
np.random.randn(4, 2) # JISAI2H E&F A =2, Matrix A4

np.unique([1, 1, 1, 2, 2, 3]) # ZE5%= 3 HH
L

np.random.choice(1@, 5, replace=False) # 3JfZt &2 replace= E=T =

Python
arr = [np.random.randint(1@) for i in range(19)]
arr

Python
out[-]
B, 4y 2, 5, 5, B i, 2, 3, 8]

Python
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# plt.grid(True)
plt.hist(arr)

plt.show()
Python
Qut[-]
30
25
a 5 6 7 8
arr = [np.random.randint(1, 7) for i in range(19)]
plt.hist(arr)
plt.show()
Python
Qut[-]
40
35 1
30
25
20 1
15 1
10 1
0.5 1
00 - T T T T

10 15 20 25 3.0 35 40 45 5.0
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arr = [np.random.randint(1, 7) for i in range(1eee) ]
plt.hist(arr, bins=6, alpha=0.5)

plt.show()
Python

out[-]

200 1

175 1

150 -

125

100

75 1

25 1
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Basic Attributes

e alpha: £EFET

e logy: Y& Log scaling e linewidth : 2tQ! &0

e kind: line, bar, barh, kde e color: %

e subplots: O{2{7H2] plot 2 2|7| o linestyle: &M, HM 18 24 5
e legend :subplotl| 2 X * marker: B X| &

e grid: 2| B3 (True, False) * markerfacecolor : OF7f ~4

. title: 12HZO HE XX e markersize : Ot 37|

o xlim, ylim: X&1t Y=2| A (axisE oHEHO| 18 = L)

e 1 2| Attribute : https://matplotlib.org/3.1.1/tutorials/introductory/pyplot.html

np.linspace(e, 18, 18)
y = X ** 2

plt.plot(x, y, ‘'k:',
linewidth=3,
marker=""",
markersize=10,
markerfacecolor="green")

plt.show()
X
Python
Qut[-]

100 - A

80 &

60 ,A'.

40 .-"

A
20 Y
‘ . ® ".
0 A--cATT
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array([ . , 1.11111111, 2.22222222, 3.33333333, 4.44444444,
5.55555556, 6.66666667, 7.77777778, 8.88888889, 10. D
Python
For mdin [ +', ',', '.', '1', '2', '3, '4', ‘o', 'x', '+',
rVI_, AT I<r; '>I_1 ISI, Id'J rpl]:
plt.plot(np.random.randint(20),
np.random.randint(20),
m,
markersize=10,
label=f 'marker={m}")
plt.legend(loc="upper center’,
bbox_to_ancher=(1.2, 1.85),
fancybox=True, shadow=True)
plt.show()
Python
Qut[-]

17.5 4 . 4+ marker=+
marker=,

15.0 A 1 ® marker=.
v marker=1

12.5 ® L marker=2
« marker=3

10.0 4 [ marker=4
. y ® marker=o0

7.5 1 ¢ marker=x

¥ +  marker=+

501 & ¥ marker=v

A marker="

25 1 A+H 4 marker=<

P marker=>

0.0 : . “ : : : : : B marker=s

2 4 6 8 10 12 14 16 ¢ marker=d

® marker=p
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Pie Chart

labels = ['one', 'two', 'three', 'four']
sizes = [1@, 20, 30, 48]

plt.pie(sizes, labels=labels)

plt.show() # BHAIHRE2=Z =Y

Python

Qut[-]

three
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labels = ['one', 'two', 'three', 'four']
sizes = [10, 20, 30, 40]

plt.pie(sizes, labels=labels,
shadow=True,

startangle=90) # startangle 90: 12A| ZHSH0IA AlZ

plt.show()

Python

Out[-]

four

185



HO|E{E PythonQ 2 24 H M| E

labels = ['one', 'two', 'three', 'four']
sizes = [1e, 28, 60, 90]

plt.pie(sizes,

labels=1gbels,

shadow=True, startangle=90)

plt.show()

Python

out[-]

four
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labels = ['one', "two', 'three', 'four']

sizes = [1@, 20, 60, 90]
explode = (@, 0.1, 0.2, 0) # HHH EZHGEE pie chartilAd EHAH EWFD 45 I AIZ2

plt.pie(sizes,
labels=1abels,
shadow=True,
startangle=90, explode=explode)

plt.show()

Python

Out[-]
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labels = ['one', "two', 'three', 'four']
sizes = [1@, 20, 60, 90]
explode = (0, ©.1, 0.2, 9)

plt.pie(sizes, labels=labels,
shadow=True, startangle=90,
explode=explode, autopct="%1.2f%%")
# atuopct : %
=4
plt.show()

Python

Out[-]
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[

Bar Chart
blt.bar(:'one', "two', "three'], [1@, 20, 30])
plt.show()
Python
Qut[-]
one two three
plt.bar(['one', 'two', "three'], [1l0, 20, 30])
plt.title('hello world', fontsize=15)
plt.xlabel('Items', fontsize=15)
plt.ylabel('Sales’, fontsize=15)
plt.show()
Python
Qut[-]
hello world
w0
2
o
v
one two three 189
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# barh : JI2 20 D= 2l
plt.barh(['one', "two', 'three'], [10, 20, 30])

plt.title('hello world', fontsize=15)
plt.xlabel('Items’, fontsize=15)

plt.ylabel('Sales’, fontsize=15)

plt.show()

Python

out[-]

hello world

three

Sales
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blt.bar(['one', "two', 'three'],
[18, 28, 30],
color="g")

plt.bar(['one', 'two', 'three'],
[20, 40, 60],
color="b",
alpha=@.5,
bottom=[16, 28, 38])

plt.title( 'hello world', fontsize=15)
plt.xlabel('Items', fontsize=15)
plt.ylabel('Sales’, fontsize=15)

plt.legend([ 'OneBarChart', 'TwoBarChart'])

plt.show()
Python

out[-]

hello world

EEm OneBarChart
| m=m TwoBarChart

Sales

one two three
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subplot
X = np.linspace(e, 1@, 28)
= X * % 2
Python
plt.subplot(121) # row 1 col 2 = AU ==
plt.plot(x, v, 'r")
plt.subplot(122) # row 1 col 2 = FHM ==
plt.plot(x, v, 'g")
plt.show()
Python
Out[-]
100 1 100 1
80 80
60 60
40 40
20 1 20 1
0 1 0

00 25 50 75 100 00 25 50 75 100
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plt.subplot(131)
plt.plot(x, y, 'r")

plt.subplot(132)
plt.plot(x, y, 'g")

plt.subplot(133)
plt.plot(x, y, 'b")

plt.show()
Python
Out[-]
100 -+ 00 1 po
80 BO B0
60 B0 1 60
40 HO 1 Ho
20 L0 1 20
0 01 0
o 5 1 0 5 1 0 5 10
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plt.subplot(231)
plt.plot(x, y, 'r")

plt.subplot(232)
plt.plot(x, v, 'g")

plt.subplot(233)
plt.plot(x, y, 'b")

plt.subplot(234)
plt.plot(x, y, 'r")

plt.subplot(235)
plt.plot(x, v, 'g")

plt.subplot(236)
plt.plot(x, y, 'b")

plt.show()
Python
Out[-]
100 00 1 100
50 B0 1 50
04; : J04; : Joi; , '
5 0 0 5 0 0 5 10
100 A 0 1 dp0 A
50 B0 1 50
0 ! T T 0-' T T 0 T T T
5 0 0 5 0 0 5 10
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plt.subplot(1,2,1) # , 2F&2HE 22 S

plt.plot(x, y, 'r")

plt.subplot(1,2,2)

plt.plot(x, y, 'g8")

plt.show()

Python
Out[-]

100 1 100 1
80 80
60 60
40 40
20 1 20 1
01 0

00 25 50 75 100 00 25 50 75 100
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grid = plt.GridSpec(2, 3) # gridE O/2ald HH figureE Ll=

plt.subplot(grid[e, e]) # gird[3, Z]
plt.plot(x, y, 'r")

plt.subplot(grid[e

5kl
plt.plot(x, y, 'g")

plt.subplot(grid[1, :2])
plt.plot(x, y, 'r")

plt.subplot(grid[1, 2])
plt.plot(x, y, 'g")
plt.show()
Python
Qut[-]
100 [0 1
50 B0 1
0 T T T 0” T T T T T T
0 5 10 0 2 4 6 B 10
100 A1 1P0 A
50 50
0 T T T T T T D T T T
0 2 4 6 8 10 0 5 10
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plt.figure(figsize=(10, 3)) # size =Z

plt.plot(x, vy, 'b")

plt.show()
Python
Qut[-]
100
40 p
20 1
0
0 2 4 b 10
plt.figure(figsize=(10, 3))
plt.plot(x, y, 'b")
plt.text(1, 7@, 'hello world') # (1, 7@) A& 2K ==
plt.show()
Python
Qut[-]
100
B0 4
hello world
m -
40 -
20
0

o_
L=
=
(=2}
s
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plt.figure(figsize=(18, 3))
plt.plot(x, y, 'b")

plt.text(1, 7e, f'$\mu=1e@, \sigma=15%")

plt.show()
Python
Out[-]
100
u=100,0=15
20 4
0
0 2 4 6 8 10
plt.figure(figsize=(10, 3))
plt.plot(x, y, 'b")
plt.annotate( 'Max Value', xy=(1@, 1€0), xytext=(1, 70),
arrowprops=dict(facecolor="'black', shrink=e.@5))
plt.show()
Python
Qut[-]

100
80 4 ---.....---lI-lIII-III-l----------Il"P

Max Value

20 1
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7|EF Al Zfet dei =S4 ZHOIX| REE[E &7H)

# 2 L0 - HEEHEIE HEIE LIEY
X = np.linspace(e, 18, 20)

y = X ** 2

dy = 18

plt.errorbar(x, y, yerr=dy, fmt='.k', ecolor='lightgray')

plt.show()

Out[-]

100 - 4

# labels 2= 1=3tE bar IE

import matplotlib
import matplotlib.pyplot as plt
import numpy as np

labels = ['G1', 'G2', 'G3', 'G4', 'G5']
men_means = [2@, 34, 3@, 35, 27]
women_means = [25, 32, 34, 20, 25]

X = np.arange(len(labels)) # label 7|
width = ©.35 # barZ| 50|

Python
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fig, ax = plt.subplots()
rectsl = ax.bar(x - width/2,

men_means, width, label='Men')

rects2 = ax.bar(x + width/2,

women_means, width, label='lWomen")

# label, M= & ASA & x= =2 label =0 = HHAE F3t

ax.
ax.
ax.
ax.

ax.

set_ylabel('Scores’)

set_title('Scores by group and gender')
set_xticks(x)

set_xticklabels(labels)

legend()

def autolabel(rects): # _12H=0l =IIE LIEIIZ== ZE=

Attach a text label above each bar in *rects*, displaying its height.
for rect in rects:
height = rect.get_height()
ax.annotate( '{}'.format(height),
xy=(rect.get_x() + rect.get_width() / 2, height),
xytext=(@, 3), # SAEE 37 = LRI
textcoords="offset points",
ha="'center', va='bottom')

autolabel(rectsl)
autolabel(rects2)
fig.tight_layout()

plt.show()

Python

Out[-]

Scores by group and gender
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# Filled polygon
import numpy as np
import matplotlib.pyplot as plt

def koch_snowflake(order, scale=10):

Koch =&8 & THHE x, y&8 = listE return

Arguments
order : int
The recursion depth.
scale : float
Koch =& H(JI= af2=el JHEAe 2)
def _koch_snowflake_complex(order):
if order ==
# = H2E
angles = np.array([e, 120, 24e]) + 9@
return scale / np.sqrt(3) * np.exp(np.deg2rad(angles) * 13j)
else:
ZR = 8.5 - 8.5 * np.sqrt(3) / 3

pl = _koch_snowflake_complex(order - 1) # A|lZH
p2 = np.roll(pl, shift=-1) # OI&#
dp = p2 - pl1 # iz Wi

new_points = np.empty(len(pl) * 4, dtype=np.complex128)
new_points[::4] = p1

new_points[1::4] = pl1 + dp / 3

new_points[2::4] = p1 + dp * ZR

new_points[3::4] = pl + dp / 3 * 2

return new_points

points = _koch_snowflake_complex(order)
X, ¥y = points.real, points.imag

return x, y

X, ¥y = koch_snowflake(order=5)
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plt.figure(figsize=(8, 8))
plt.axis('equal’)
plt.fill(x, y)

plt.show()

Python

Out[-]

-2
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import numpy as np

import matplotlib

import matplotlib.pyplot as plt

# sphinx_gallery_thumbnail_number = 2

vegetables = ["cucumber", "tomato", "lettuce", "asparagus",
"potato™, "wheat™, "barley"]
farmers = ["Farmer Joe", "Upland Bros.", "Smith Gardening",
"Agrifun", "Organiculture", "BioGoods Ltd.", "Cornylee Corp."]
harvest = np.array([[ B s 5 s s , 8.8],
; s s ; s , 0.0],
; s s ; s , 0.e],
.e],

-e],
.11,
31D
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fig, ax = plt.subplots()
im = ax.imshow(harvest)

# S0 EALE 88 #IE 22 (BMEE =+ 2[LAER)
ax.set_xticks(np.arange(len(farmers)))
ax.set_yticks(np.arange(len(vegetables)))

# ChAl 0IE2=Z2 d0{F=0
ax.set_xticklabels(farmers)
ax.set_yticklabels(vegetables)

# tick it =2 Sclld £ ETH

plt.setp(ax.get_xticklabels(), rotation=45, ha="right",
rotation_mode="anchor™)
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for i in range(len(vegetables)):
for j in range(len(farmers)):
text = ax.text(j, i, harvest[i, j],

ha="center", va="center", color="w")
ax.set_title("Harvest of local farmers (in tons/year)")
fig.tight_layout()
plt.show()
Out[-]

Harvest of local farmers (in tons/year)

aucumber
tomato 0.0
lettuce
asparagus
potato
wheat

barley

Python
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# chel, 23 T2l =AE0 A= Bhetel M-
import matplotlib.pyplot as plt
import numpy as np
import matplotlib.dates as mdates
from datetime import datetime
try:
# Matplotlib == SHE R JtAH =22
# =X : https://api.github.com/repos/matplotlib/matplotlib/releases
import urllib.request
import json

url = 'https://api.github.com/repos/matplotlib/matplotlib/releases’
url += '?per_page=160"
data = json.loads(urllib.request.urlopen(url, timeout=.4).read().decode())

dates = []
names = []
for item in data:
if 'rc' not in item['tag_name'] and 'b' not in item['tag_name']:
dates.append(item[ 'published_at'].split("T")[@])
names.append(item[ "tag_name'])
# Convert date strings (e.g. 2014-10-18) to datetime

dates = [datetime.strptime(d, "#Y-%m-%d") for d in dates]

except Exception:
# 2o A0 2lE A=, WE = gy HZ20 ZIA #
# HIRCZ s 2lAEE At=Solct
names = ['v2.2.4', 'v3.8.3', 'v3.0.2', 'v3.@e.1', 'v3.0.9', 'v2.2.3",
'v2.2.2°, 'v2.2.1', 'v2.2.9', 'v2.1.2°, ‘'v2.1.1', ‘'v2.1.e9",
'v2.0.2°, 'v2.@.1', 'v2.8.0', 'vl.5.3", ‘'v1.5.2', 'v1.5.1°,
'vi.5.8', 'vl1.4.3', 'v1.4.2', 'vi.4.1', 'vi.4.9']

o

=
%:’—v—

0
cE il

dates = ['2019-02-26', '2019-02-26', '2018-11-10"', '2018-11-10°,
'2018-09-18', '2018-08-10', '2018-03-17', '2018-03-16",
'2018-03-06', '2018-01-18', '2017-12-10', '2017-10-087',
'2017-05-10', '2017-05-02°', '2017-01-17', '2016-09-09°,
'2016-07-03', '2016-01-10', '2015-10-29', '2015-02-16",
'2014-10-26", '2014-10-18', '2014-08-26"]

# ZH EAZ(ex. 2014-10-18) 2 datetime=2= HE
dates = [datetime.strptime(d, "#Y-%m-%d") for d in dates]

# Z/E2| levels ME
levels = np.tile([-5, 5, -3, 3, -1, 1],

int(np.ceil(len(dates)/6)))[:1len(dates)]
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# figure, plot, ZM0 Oatd =21 28 D27

fig, ax = plt.subplots(figsize=(8.8, 4), constrained_layout=True)

ax.set(title="Matplotlib release dates")

markerline, stemline, baseline = ax.stem(dates, levels,
linefmt="C3-", basefmt="k-",
use_line_collection=True)

plt.setp(markerline, mec="k", mfc="w", zorder=3)

# y OOHE == uHctH OIHE JEHSZE 0l=
markerline.set_ydata(np.zeros(len(dates)))

# annotate lines
vert = np.array(['top', 'bottom'])[(levels > 8).astype(int)]
for d, 1, r, va in zip(dates, levels, names, vert):
ax.annotate(r, xy=(d, 1), xytext=(-3, np.sign(1)*3),
textcoords="offset points"”, va=va, ha="right")

# 4013 HI2=E x5 g4 JE
ax.get_xaxis().set_major_locator(mdates.MonthLocator(interval=4))
ax.get_xaxis().set_major_formatter(mdates.DateFormatter("%b %Y"))
plt.setp(ax.get_xticklabels(), rotation=3@, ha="right")

# y=1 spine(FEE HFEIZE mH EAMSs ZEH)E M

ax.get_yaxis().set_visible(False)

for spine in ["left", "top", "right"]:
ax.spines[spine].set_visible(False)

ax.margins(y=0.1)

plt.show()‘ Python
Out[-]
Matplotlib release dates

v1.5.0 v2.0.2 v2.2.2 v2.2.4 v3.2.0
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L‘T ,
vl4l V153 12 viol vil2

vi43 V201 V221 v3.03 v3.13

v151 v210 v223 v310 v321
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# plot LIS2|

import matplotlib.pyplot as plt

import numpy as np

import matplotlib.gridspec as gridspec

fig = plt.figure(tight_layout=True)
gs = gridspec.GridSpec(2, 2)

ax = fig.add_subplot(gs[@, :1)
ax.plot(np.arange(8, le6, 1e@8))
ax.set_ylabel( 'YLabel®")
ax.set_xlabel('XLabel®")

for 1 in range(2):
ax = fig.add_subplot(gs[1, i])
ax.plot(np.arange(1., ©., -0.1) * 200@., np.arange(l., @., -8.1))
ax.set_ylabel('YLabell %d" % i)
ax.set_xlabel('XLabell %d" % i)
if i == @:
for tick in ax.get_xticklabels():
tick.set_rotation(55)
fig.align_labels() # fig.align_xlabels(); fig.align_ylabels() %t 20 &t

plt.show()
Python
Qut[-]
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import matplotlib.pyplot as plt
import numpy as np

# [0, ©.2)Al0I0| np.random.rand(3@)*.2 AI=ZGI0 PHE 300 O Ol H

pts = np.array([
9.015, ©.166, ©.133, ©.159, ©.941, ©.824, ©.195, 0.839, 0.161, ©.018,
9.143, 9.856, ©.125, ©.996, ©.094, ©.051, 0.943, ©.021, 0.138, 0.875,
9.169, ©.195, ©.058, ©.074, ©.879, ©.155, 8.0920, 0.810, 8.0961, 0.608])

pts[[3, 14]] += .8

ol ptsE FEELOE, Rz O 20 HEZC MRAZsES S0 =.
# [Ictd ¥ 52 & 2222 'break'otALL "cut-out'Z
# 0l2Z0l= 2B (ax)=, HCH=—2 OOIEHUE 3t (ax2)E ME
f, (ax, ax2) = plt.subplots(2, 1, sharex=True)

# P20t EHe=o
A

# 5 S22 =28 H0IEl= plot
ax.plot(pts)
ax2.plot(pts)

-

ax.set_ylim(.78, 1.) # O|atx|gt
ax2.set_ylim(e, .22) # === CHoOls

# ax% ax2 ALO|0| spine &3(2|

ax.spines|[ 'bottom'].set_visible(False)
ax2.spines|'top'].set_visible(False)

ax.xaxis.tick_top()

ax.tick_params(labeltop=False) # 2 20| == label HA|l & &

ax2.xaxis.tick_bottom()
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d= .15 # = LUZ0HAM AMEE o=

[k

rr

=1 =y
(==

kwargs = dict(transform=ax.transAxes, color="k', clip_on=False)
ax.plot((-d, +d), (-d, +d), **kwargs) # 2052 A ALS

(L N )

(
ax.plot((1 - d, 1 + d), (-d, +d), **kwargs) # SEZE At AlM

kwargs.update(transform=ax2.transAxes) # 22 s<Z &
ax2.plot((-d, +d), (1 - d, 1 + d), **kwargs) # 2%
ax2.plot((1 - d, 1 +d), (1 -d, 1 +d), **kwargs) # =% gl

plt.show( j|

Out[-]
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k Bar of pie

import matplotlib.pyplot as plt
from matplotlib.patches import ConnectionPatch
import numpy as np

fig = plt.figure(figsize=(9, 5))
axl = fig.add_subplot(121)
ax2 = fig.add_subplot(122)

fig.subplots_adjust(wspace=0)

# pie chart

ratios = [.27, .56, .17]

labels = ['Approve', 'Disapprove’, 'Undecided']

explode = [8.1, @, @]

angle = -180 * ratios[@]

axl.pie(ratios, autopct='%1.1f%%"', startangle=angle,
labels=1abels, explode=explode)

# bar chart
Xpos = @

bottom = @
ratios = |
width = .2
colors = |

.33, .54, .07, .06]

[.1, .3, .s1, [.1, .3, .31, [.1, .3, .71, [.1, .3, .9]]

for j in range(len(ratios)):
height = ratios[j]
ax2.bar(xpos, height, width, bottom=bottom, color=colors[j])
ypos = bottom + ax2.patches[j].get_height() / 2
bottom += height
ax2.text(xpos, ypos, "%d%%" % (ax2.patches[j].get_height() * 1ee),
ha="'center")

ax2.set_title('Age of approvers')
ax2.legend(('56-65"', 'Over 65", "35-49', ‘'Under 35'))
ax2.axis('off')

ax2.set_xlim(- 2.5 * width, 2.5 * width)

# = plot ALO|O| ConnectionPatch At=ZadllAH & 2|2

thetal, theta2 = axl.patches[@].thetal, axl.patches[@].theta2
center, r = axl.patches[@].center, axl.patches[®].r
bar_height = sum([item.get_height() for item in ax2.patches])
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# o gds g2

X =r * np.cos(np.pi / 180 * theta2) + center[@]

y = np.sin(np.pi / 188 * theta2) + center[1]

con = ConnectionPatch(xyA=(-width / 2, bar_height), coordsA=ax2.transData,
xyB=(x, y), coordsB=axl.transData)

con.set_color([@, @, 8])

con.set_linewidth(4)

ax2.add_artist(con)

# ofth gad el

X =r * np.cos(np.pi / 188 * thetal) + center[@]

np.sin(np.pi / 188 * thetal) + center[1]

con = ConnectionPatch(xyA=(-width / 2, 8), coordsA=ax2.transData,
XyB=(x, y), coordsB=axl.transData)

con.set_color([@, @, ©])
ax2.add_artist(con)
con.set_linewidth(4)

plt.show()
Python
Out[-]
Age of approvers
mm 50-65
mmm Over 65
. 35-49
EEm Under 35
Disapprove

Undecided
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## Scatter plot on polar axis

import numpy as np
import matplotlib.pyplot as plt

np.random.seed(19680861)

# IY L Mak o
N = 150

r = 2 * np.random.rand(N)

theta = 2 * np.pi * np.random.rand(N)
area = 200 * r**2

colors = theta

fig = plt.figure()
ax = fig.add_subplot(111l, projection='polar')
¢ = ax.scatter(theta, r, c=colors, s=area, cmap="hsv', alpha=8.75)

Python

out[-]

180°

270°
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import numpy as np

import matplotlib.pyplot as plt

import matplotlib.animation as animation
# =2

from mpl_toolkits import mplot3d

np.random.seed(19688881)

def gen_rand_line(length, dims=2):

random walk algorithm= AfE6IH & o

fuin

0.

Parameters
length : int

The number of points of the line.
dims : int

The number of dimensions of the line.
line_data = np.empty((dims, length))
line_datal[:, @] = np.random.rand(dims)
for index in range(1, length):

# 2EF =AE 0.1203 AAHLBGIZE IO dlol SA™0 S

# 0.52 =212 HFE [-0.5, 0.5]= HIASH &HO| F

step = (np.random.rand(dims) - ©.5) * 8.1

line_data[:, index] = line_datal[:, index - 1] + step
return line_data

def update_lines(num, datalLines, lines):
for line, data in zip(lines, datalines):
line.set_data(datal®@:2, :num])
line.set_3d_properties(data[2, :num])
return lines

# figurelll 305 =207
fig = plt.figure()
ax = fig.add_subplot(projection="3d")

# 2% 30 & 50
data = [gen_rand_line(25, 3) for index in range(5e)]
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# 500l & A
# 0 HZE 30 HAEQ plot2=E &MY 4= gGlE

lines = [ax.plot(dat[e, @:1], dat[1, ©:1], dat[2, @:1])[@e] for dat in datal]

$ = £4 &35
ax.set_xlim3d([e@.e, 1.9])
ax.set_xlabel('X")

ax.set_ylim3d([e.e, 1.8])
ax.set_ylabel('Y")

ax.set_zlim3d([e.e, 1.0])
ax.set_zlabel('Z")

ax.set_title('3D Test')
# OfLIOIClE JHH =2

line_ani = animation.FuncAnimation(
fig, update_lines, 25, fargs=(data, lines), interval=59)

plt.show()
Python
Out[-]
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import numpy as np

import matplotlib.pyplot as plt

from matplotlib import cm

from mpl_toolkits.mplot3d import Axes3D

np.arange(-5, 5, @.25)
= np.arange(-5, 5, @.25)
, Y = np.meshgrid(X, Y)

= np.sqri(X**2 + Y**2)

= np.sin(R)

N < X

fig = plt.figure()
ax = Axes3D(fig)
ax.plot_surface(X, Y, Z, rstride=1, cstride=1, cmap=cm.viridis)

plt.show()

Python

out[-]
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from mpl_toolkits.mplot3d import axes3d
import matplotlib.pyplot as plt
from matplotlib import cm

fig = plt.figure()
ax = fig.gca(projection='3d")
X, Y, Z = axes3d.get_test_data(@.85)

# Plot the 3D surface
ax.plot_surface(X, Y, Z, rstride=8, cstride=8, alpha=0.3)

cset = ax.contourf(X, Y, Z, zdir='z', offset=-108, cmap=cm.coolwarm)
cset = ax.contourf(X, Y, Z, zdir='x"', offset=-4@, cmap=cm.coolwarm)
cset = ax.contourf(X, Y, Z, zdir='y', offset=4@8, cmap=cm.coolwarm)

ax.set_xlim(-4e, 40)
ax.set_ylim(-40, 49)
ax.set_zlim(-1e0, 1090)

ax.set_xlabel("X")
ax.set_ylabel('Y")
ax.set_zlabel('Z")

plt.show()

Python

Qut[-]
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import numpy as np
import matplotlib.pyplot as plt
t = np.arange(©.01, 20.9, 0.61)

# figure M4

fig, ((axl, ax2), (ax3, ax4)) = plt.subplots(2, 2)
# log y axis

axl.semilogy(t, np.exp(-t / 5.9))
axl.set(title="semilogy")

axl.grid()

# log x axis

ax2.semilogx(t, np.sin(2 * np.pi * t))
ax2.set(title='semilogx")

ax2.grid()

# log x and y axis

ax3.loglog(t, 20 * np.exp(-t / 18.8), basex=2)
ax3.set(title="loglog base 2 on x')

ax3.grid()

X = 18.8**np.linspace(©.0, 2.9, 20)

y = x*%2.0

ax4.set_xscale("log", nonposx=‘clip’)
ax4.set_yscale("log", nonposy="clip’)
ax4.set(title='Errorbars go negative')
ax4.errorbar(x, y, xerr=0.1 * x, yerr=5.8 + 8.75 * y)

ax4.set_ylim(bottom=e.1)
fig.tight_layout()

plt.show()
Out[-]
semilogy semilogx
10° 1
10°* 0
T T T T T _1 T T T T
0 5 1 15 2 102 10! 10° 10
loglog base 2 on x Errorbars go negative
2x10
107 10°
6x10° 10!
4x10°
3x10°
T — 1071 M T
23 23 2 .o 10° 10 10%
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Seaborn
e MatplotlibOf APIOj| CHSH ERHF

e Pandas DataFramelt2| S 2t 2= (pandas/t JHE =l 742 20084, matplotlib2 20034)

* https://seaborn.pydata.org/

#matplotlib inline

import matplotlib.pyplot as plt
import numpy as np
import pandas as pd

np.linspace(@, 10, 20)
2R A

plt.plot(x, y)
plt.show()

Python

out[-]

100 1

20 1
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%matplotlib inline

import matplotlib.pyplot as plt
import seaborn as sns

import numpy as np

import pandas as pd

x = np.linspace(®, 18, 20)
Pl 2

sns.set()

plt.plot(x, y)

plt.show()

Python

Out[-]

100
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relplot

o 7|2 282 U4¥E 087
e hue:EH0 WMt MASCIEZAH 28
o style: ZE0|| Wzt OIHE CHEAH £8

o sizes: A7|ECIEA SIM EE

Hr

o colwrap:n7ie| ZHEE Lt

e height: ZIZI2] J2iZ &0|

i

o kind: MEEZ FAOMLCIE HAoE HE

[

tips = sns.load_dataset("tips") # sns.load_dataset : seabornOl A Ml&ol= COOIH 8427
sns.relplot(x="total_bill", y="tip", data=tips)

plt.show()
sns.relplot(x="total_bill", y="tip", data=tips)

plt.show()
Python
Outl[-]
10 .
L ]
8
L ]
L] L]
L] L]
6 - . L]
a . .
L] L]
4
L]
L]
2
10 20 0 40 30

total_bill
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tips.head(19)

Python
Out[-]
total_bill tip sex smoker day time @ size
(5] 16.99 1.81 Female No Sun Dinner 2
1 10.34 1.66 Male No sSun Dinner 3
2 21.81 3.5 Male No Sun Dinner 3
3 23.68 3.31 Male No Sun Dinner 2
4 24.59 3.61 Female No sun Dinner 4
5 25.29 4.71 Male No Sun Dinner 4
6 8.77 2.00 Male No Sun Dinner 2
7 26.88 3.12 Male No sun Dinner 4
8 15.94 1.96 Male No Sun Dinner 2
9 14.78 3.23 Male No Sun Dinner 2
Python
type(tips)
Python
Out[-]
pandas.core.frame.DataFrame
Python
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sns.relplot(x="total_bill", y="tip", hue="smoker", data=tips)

Out[-]
<seaborn.axisgrid.FacetGrid at 0x1b613781860>

10 .
-
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~ L ] ..- * . .c .0 . ® Yes
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. e & . - ® No
4 - e sleR,e 2w .
. & o7 -
oo gB ey L F i
-..“-o‘-:n.-, et “ e
. . * . -
2 r. e sce
L
L]
10 20 0 40 30
total_bill

sns.relplot(x="total_bill", y="tip", hue="smoker", style='smoker

Out[-]
<seaborn.axisgrid.FacetGrid at 0x1b613833710>

', data=tips)
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‘ O Txe e x e Yes
- . e
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Python

Python
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sns.relplot(x="total_bill", y="tip", hue="size", data=tips)

Python
Out[-]
<seaborn.axisgrid.FacetGrid at 0x1b6115a1e10>
10 ®
o
8
”
L] e
. *
6 - ® size
& 3 B
= e %00 % LI . 2
u © .
» > e 4
4 e 0,0 o ® B e 6
? .
even 'S o ©
e " ™
';
P o
2 x 'C .o *w
8
10 20 0 40 50
total_bill
sns.relplot(x="total_bill", y="tip", hue="size", size='size', data=tips)
Python

Out[-]
<seaborn.axisgrid.FacetGrid at 0x1b6133d9ef0>
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sns.relplot(x="total_bill", y="tip", size="size", sizes=(15, 200), data=tips)

Python
Outl[-]
<seaborn.axisgrid.FacetGrid at Ox1b6139fbba8>
10 @
&
8
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o o © ®
6 s 0 O size
=3 . ® e 0
y o 9.2 g0 0 .
L ) e °® &
o .0 d g @ ¢
4 o o 0900,0 86 @ . 6
"
.):‘.‘_ - o
%0 0% @
a e+ [ J
2 @ *9) 09
. 5
- ¢ o ®
10 20 30 40 50
total_bill
fmri = sns.load_dataset("fmri™)
sns.relplot(x="timepoint", y="signal", hue="event", style="event",
col="subject", col_wrap=3,
height=10, aspect=.75, linewidth=2.5,
kind="1ine", data=fmri.query("region == 'frontal'"));
Python

out[-]

subject = 50 subject = 52 subject = 510

225



0]4 HOJE{E Python2 2 2w EMsEH

subject = 811 subject = 53 subject = 4

subject = 55 subject = 56 subject = 57

e
a1
1]
a1
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imepoint
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countplot()
o X3 ZHO HIO|H 7 HOtLt QX O2|7

titanic = sns.load_dataset("titanic")
f, ax = plt.subplots(figsize=(7, 3))
sns.countplot(y="deck", data=titanic, color="c") # J}Z = MX
#y U x5 AIZ2TE A= Jd=E

Python
Out[-]
<matplotlib.axes._subplots. AxesSubplot at Ox1b614314c88>
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pairplot()
o 3% 0]&o| HIO[H0ilM 2} Hlo|E 7|22l D =& 127

titanic.head(10)

Python

Out[-]
survived pclass sex age sibsp parch fare embarked class who adult_mal

e deck embark_town alive alone
2] 2] 3 male 22.0 1 %] 7.2500 S Third man True
NaN Southampton no False
1 1 1 female 38.0 1 @ 71.2833 o First woman False
C Cherbourg yes False
2 1 3 female 26.0 2] 2] 7.9250 S Third woman False
NaN Southampton yes True
3 1 1 female 35.8 1 @ 53.1000 S First woman False
C Southampton yes False
4 %) 3 male 35.0 (%] 5] 8.0500 S Third man True
NaN Southampton no True
5 %] 3 male NaN 2] 2] 8.4583 Q Third man True
NaN Queenstown no True
6 (2] 1 male 54.80 2] © 51.8625 S First man True
E Southampton no True
7 2] 3 male 2.0 3 1 21.e75@ S Third child False
NaN Southampton no False
8 1 3 female 27.0 e 2 11.1333 S Third woman False
NaN Southampton yes False
9 1 2 female 14.0 1 @ 30.07e8 C Second child False
NaN Cherbourg yes False

Python
sns.pairplot(titanic, hue='class')
plt.show()

Python
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Plotly Python Open Source Graphing Library

e 34| Z4|0|X|(https://plotly.com/python/) F E2| Y

Plotly
o OIEBE|ES J=& O2(7|0f HEst 7| %]

o 2| A|ZtBIOI RtHIAT Y E Q| 20| 2 2{2| D3S 0|88 I =7t Yo A = H 124 RICH
Line

import plotly.express as px
df = px.data.gapminder().query("country=='Canada"'")

fig = px.line(df,
x="year", y="lifeExp",
title="Life expectancy in Canada')

fig.show()
Python

out[-]

Life expectancy in Canada

80
78
a 76
=
o
S 74
72
70

1960 1970 1980 1990 2000

ear
Y 231
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Scatter

fig = px.scatter(x=[e, 1, 2, 3, 4], y=[e, 1, 4, 9, 16])

fig.show()
Python
Out[-]
-
15
10
.
=
5
L
L]
0 .
0 1 2 3 4
X
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Bar

data_canada = px.data.gapminder().query(“"country == 'Canada'")

fig = px.bar(data_canada,
x="year', y='pop")

fig.show()
Python
Outl[-]
35M
30M
25M
20M
o
[]
Q
15M
10M
S5M
950 1960 1970 1980 1990 2000
year
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data_canada

Python
Out[-]
country continent year lifeExp pop gdpPercap iso_alpha iso_num
240 Canada Americas 1952 68.758 14785584 11367.16112 CAN 124
241 Canada Americas 1957 69.960 17010154 12489.95806 CAN 124
242 Canada Americas 1962 71.300 18985849 13462.48555 CAN 124
243 Canada Americas 1967 72.138 20819767 16076.58803 CAN 124
244 Canada Americas 1972 72.880 22284500 18970.57086 CAN 124
245 Canada Americas 1977 74.210 23796400 22090.88306 CAN 124
246 Canada Americas 1982 75.768 25201900 22898.79214 CAN 124
247 Canada Americas 1987 76.860 26549700 26626.51503 CAN 124
248 Canada Americas 1992 77.958 28523502 26342.88426 CAN 124
249 Canada Americas 1997 78.618 303085843 28954.92589 CAN 124
250 Canada Americas 2802 79.770 31902268 33328.96507 CAN 124
251 Canada Americas 2007 80.653 333990141 36319.23501 CAN 124
Python

234



| o]4l HIOJE{E PythonQ 2 2u E M3 L

-

Pie

e pull:Pie XtEQ| =Zf& 22

ot

import plotly
print(plotly.__version__) #H&=2l

Python
Out[-]
4.5.4

Python
# HAEO 220 IMOIXE S0t=
# !pip3 install plotly

Python
import plotly.express as px
fig = px.pie(values=[1, 2, 3])
fig.show()

Python

Out[-]
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import plotly.graph_objects as go

labels = ['Oxygen', 'Hydrogen', 'Carbon_Dioxide', 'Nitrogen']
values = [45@0, 2500, 1853, 580]

fig = go.Figure(data=[go.Pie(labels=1labels, values=values, pull=[@, @, 0.2, 8])])

fig.show()
Python
Outl[-]
B Oxygen
B Hydrogen
B Carbon_Dioxide
B Nitrogen
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Sunburst
o OO|EQ HZE RXE E7| &|A LtEtH

import plotly.graph_objects as go

fig =go.Figure(go.Sunburst(
labels=["Eve", "Cain", "Seth", "Enos", "Noam", "Abel", "Awan", "Enoch", "Azura"],
parents=["", "Eve", "Eve", "Seth", "Seth", "Eve", "Eve", "Awan", "Eve" ],
values=[10, 14, 12, 10, 2, 6, 6, 4, 4],

fig.update_layout(margin = dict(t=e, 1=0, r=0, b=9))

fig.show()

Python

Out[-]

Eve

=Q-.
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gantt

o YYTE[E FIGHAM barEZ 2= X E

import plotly.figure_factory as ff

df =
dict(Task="Morning Sleep', Start='2016-01-01",
Finish='2016-01-01 6:00:00', Resource='Sleep'),
dict(Task="Breakfast', Start='2016-081-01 7:€0:00",
Finish='2016-081-01 7:30:88"', Resource="Food'),
dict(Task="Work', Start='2016-81-01 9:00:00",
Finish='2016-81-081 11:25:00', Resource='Brain'),
dict(Task="Break', Start='2016-01-01 11:38:00"',
Finish='2016-81-01 12:0@:00', Resource='Rest'),
dict(Task="Lunch', Start='2016-01-01 12:€0:090",
Finish='2016-81-081 13:00:0@', Resource='Food'),
dict(Task="Work', Start='2016-01-01 13:00:00',
Finish='2016-81-81 17:00:80', Resource='Brain'),
dict(Task="Exercise', Start='2016-01-01 17:30:00',
Finish='2016-081-01 18:38:00', Resource='Cardio'),
dict(Task="Post Workout Rest', Start='2016-01-01 18:30:00°,
Finish='2016-081-01 19:00:00', Resource='Rest'),
dict(Task="Dinner', Start='2016-01-81 19:00:00",
Finish='2016-081-01 20:0@:00', Resource='Food'),
dict(Task="Evening Sleep', Start='2016-01-01 21:00:00",
Finish='2016-81-81 23:59:0@', Resource='Sleep')

colors = dict(Cardio = 'rgb(46, 137, 2@5)°',
Food = 'rgb(114, 44, 121)',
Sleep = 'rgb(198, 47, 105)°,
Brain = 'rgb(58, 149, 136)°,
Rest = 'rgb(167, 127, 135)')

fig = ff.create_gantt(df, colors=colors, index_col='Resource’,
title='Daily Schedule', show_colorbar=True,
bar_width=0.8, showgrid_x=True, showgrid_y=True)
fig.show()

Python
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Out[-]

Daily Schedule

lw 1m 6m YTID 1y all

m—— Rest
= Food
Evening Sleep e Sleep
Dinner mmmm Cardio
Post Workout Rest e Brain
Exercise
Work
Lunch
Break
Work
Breakfast
Morning Sleep
00:00 06:00 12:00 18:00 00:00
Jan 1, 2016 Jan 2, 2016
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e https://plotly.com/python/interactive-html-export/

e https://plotly.com/python/v3/static-image-export/

import plotly.express as px

fig =px.scatter(x=range(10), y=range(1e))
fig.show()
# fig.write_html("path/to/file.html")

Python

out[-]
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import plotly.express as px
fig =px.scatter(x=range(10), y=range(10))
fig.show()

# html= HZ
fig.write_html("file.html")

Python
out[-]
u
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gt= Egot)| R RE
from matplotlib import font_manager, rc

# =0l
font_manager.FontProperties(
'c:/Windows/Fonts/malgun.ttf').get_name()
Python

font_name
fname =

rc('font', family=font_name)

# import matplotlib.pyplot as plt

# plt.rc('font', family="AppleGothic') # mac

# plt.rc('font', family='Malgun Gothic') # window

.94, Lo
= ['Date'])

import numpy as np
import pandas as pd
# =X g atg =2
confirmed = pd.read_csv('./data/daily_Confirmed.csv', index_col
#pd.read_csv('./data.csv', encoding='utf-8') # Default(’|=)

#pd.read_csv('./data.csv', encoding='cp949') # 11172%}
#pd.read_csv('./data.csv', encoding='euc-kr') # 235@Af

H2 sl

confirmed.info() # confirmed<

Python

Python

Python
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<class 'pandas.core.frame.DataFrame'>
Index: 32 entries, 2020-83-01 to 2020-84-01
Data columns (total 11 columns):

Female 32 non-null inté4

Male 32 non-null inte4
8-9 32 non-null inté4
10- 32 non-null inté64
20-29 32 non-null inté4
39-39 32 non-null inté4
48-49 32 non-null inte4
59-59 32 non-null inté4
60-69 32 non-null inté64
70-79 32 non-null inté4
80- 32 non-null inté4

dtypes: int64(11)
memory usage: 3.0+ KB

Python
confirmed.head() # defult &= &
Python
Oout[-]
Female Male ©-9 18- 20-29 38-39 40-49 50-59 68-69 70-79 808-
Date
2020-03-01 2197 1329 27 137 1054 426 521 687 453 158 63
2020-93-02 2621 1591 32 169 1235 506 633 834 530 192 81
2020-03-03 3002 181e 34 204 1417 578 713 952 597 224 93
2020-03-04 3332 1996 34 233 1575 631 79 1e51 646 260 108
2020-03-05 3617 2149 38 257 1727 6 59 847 1127 699 288 124
Python
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confirmed.tail()

Python

out[-]

Female Male ©6-9 18- 20-29 38-39 40-49 50-5% 608-68 70-79 86-

Date

2020-83-28 5742 3736 189 501 2567 978 1278 1780 1201 632 432
2020-83-29 5784 3799 111 588 2682 991 1292 1798 1218 635 434
2028-03-3@ 5827 3836 112 513 263@ 162 1297 1812 1218 640 437
2020-93-31 5881 3995 112 515 2656 1812 1312 1851 1235 651 442
2020-04-01 5941 3946 116 519 2682 1827 1323 1865 1245 658 452

Python

i
&
=
T
4
=i}
=

confirmed.isnull().sum() # =

Python

out[-]
Female
Male
a-9
10-
20-29
39-39
40-49
5@-59
60-69
70-79
80-
dtype: inte4

O @ 0 © ¢ © ®@ O O ®

(]

Python
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# =ZAl ZFIIF ACHH!
# pd.to_numeric(df['Z&0|E'], errors='coerce') -> nan

confirmed[ 'Female’].describe()

out[-]

count 32.000000
mean 4882.531250
std 999.97@515
min 2197 .020000
25% 4547 .250000
5% 5146.500000
75% 56@1.000000
max 5586.000000

Name: Female, dtype: float64

M
~

el

O

=

|

Python

Python

Python
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Al ZEt

e pltpie
e rcParams: AME 37| Ho| M FH S 27
e explode:Pie AtE =2t =ZEL[E 37|

e autopct: Pie AtE = ZI2| T H| CHH| HES

# ObA2 =221 20203 43 12 O/0H
# &% OO JtHe2]
sex = confirmed.iloc[-1, :2]

sex
Python
Out[-]
Female 5941
Male 3946
Name: 2020-84-01, dtype: inte4
Python
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# S0 [HE SEA = pie Jefi=E

import matplotlib.pyplot as plt

plt.rcParams[‘'figure.figsize'] = 12,8
group_explodes = (0.05, 9)

plt.pie(sex, labels=['female', 'male'],
explode = group_explodes,
shadow = True,
startangle=90,
colors = ['lightcoral', 'lightskyblue'],
autopct="%1.2F%%")

plt.title('Confirmed(sex)', size=15)
plt.axis('equal’)
plt.show(ﬂ

Python v
Out[-]

Confirmed(sex)

female
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# 20203 3F 12 ~ 43 1Y AIHE OI0IH
sex = confirmed.iloc[:, :2]
sex

Python

Out[-]

Female Male

Date

2620-83-81 21597 1329
2020-03-02 2621 1591
2020-03-03 3002 1810
2020-03-04 3332 1996
20208-083-85 3617 2149
2620-83-86 3939 2345
2020-03-87 4245 2522
2020-03-08 4448 2694
2020-83-89 4583 2799
2020-03-180 4661 2852
2620-83-11 4888 2947
2020-083-12 4875 2994
2020-03-13 4936 3043
2020-83-14 5986 31ee
20208-083-15 5826 3136
20620-83-16 5867 3169
2020-083-17 5128 3268
2020-03-18 5173 3240
2020-83-19 5269 3296
2020-083-28 5322 3330
2620-83-21 5412 3387
2020-083-22 5467 3438
2020-03-23 5504 3457
2020-83-24 554 3497
20828-83-25 5587 3558
2020-03-26 5643 3598
2020-083-27 5694 3638
2020-03-28 5742 3736
2020-83-29 5784 3799
20208-083-38 5827 3836
20208-03-31 5881 3985
2020-04-01 5941 3946
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oo 24a)

E0121(A=01A

= ors

plt.xticks(rotation=78) # x

plt.bar(sex.index,
sex.loc[:, 'Female'],
color="'lightcoral', label='Female')

Python v

plt.bar(sex.index,
sex.loc[:, 'Male'],
color="lightskyblue', label='Male")

plt.show()
# 33 1429 Oolge sfelol 22

Out[-]

E000

1000
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confirmed['Female']['2020-83-14"'] = 5060

# 20204 32 12 ~ 48 12 AHE HOH(==E)
sex = confirmed.iloc[:, :2]
sex

Out[-]

Female Male

Date

2020-03-01 2197 1329
2020-03-02 2621 1591
2020-03-083 3802 1818
2020-03-84 3332 1996
2020-93-85 3617 2149
2020-83-86 3939 2345
2020-03-07 4245 2522
2020-03-08 4448 2694
2020-03-09 4583 2799
2020-03-18 4661 2852
2020-03-11 4888 2947
2020-03-12 4875 2994
2020-83-13 4936 3043
2020-03-14 5008 31ee # & = (5986 -> 5000)
2020-93-15 5826 3136
2020-03-16 5667 3169
2020-93-17 5128 3200
2020-03-18 5173 3248
2020-03-19 5269 3296
2020-03-20 5322 3330
2020-03-21 5412 3387
2020-83-22 5467 3430
2020-83-23 5584 3457
2020-03-24 5548 3497
2020-03-25 5587 3550
2020-03-26 5643 3598
2020-93-27 5694 3638
2020-03-28 5742 3736
2020-03-29 5784 3799
2020-83-38 5827 3836
2020-03-31 5881 3905
2020-04-01 5941 3946

M
~
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=

|

Python

Python
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plt.xticks(rotation=78)

plt.bar(sex.index,
sex.loc[:, 'Female'],
color="lightcoral', label='Female')

plt.bar(sex.index,
sex.loc[:, 'Male'],
color="lightskyblue',
label="Male"',
bottom = sex.loc[:, 'Female'],
alpha = ©.5)

plt.xlabel( 'Date")

plt.ylabel( 'Number"')
plt.title('Confirmed(sex)', size=15)
plt.legend()

plt.show() Python

Out[-]
Confirmed(sex)

10000 | ™ Female
Male

Number
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Plotly

sex = confirmed.iloc[-1, :2]
print(sex)
print(type(sex))
Python

out[-]

Female 5941

Male 3946

Name: 2020-04-01, dtype: inté4
<class 'pandas.core.series.Series'>

import plotly.graph_objects as go

labels = sex.index
values = sex.values

fig = go.Figure(data=[go.Pie(labels=1labels,

values=values)])

fig.show()
Python
Qutl[-]

B Female
B Male
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# SAEMNOA SERIY, BESE dfez JELICH

import plotly.express as px

# tipsUIOIE= 244 x 7 £ Q=0 AH U0 day= 42 020 2UCH.
df = px.data.tips()

fig = px.pie(df,

values="tip', names='day')

fig.show()
Python
Outl[-]
B sat
B Sun
B Thur
B Fri
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sex = confirmed.iloc[:, :2]
sex

Python

out[-]

Female Male

Date

2020-03-01 2197 1329
2020-03-02 2621 1591
2020-03-83 3082 181e
2020-03-04 3332 1996
2020-03-05 3617 2149
2020-03-06 3939 2345
2020-03-07 4245 2522
2620-03-88 4448 26594
2020-03-09 4583 2799
2020-03-10 4661 2852
2020-83-11 4808 2947
2020-03-12 4875 2994
2020-03-13 4936 3043
2020-03-14 G5eee 31ee
2020-03-15 50826 3136
2020-03-16 5067 3169
2020-03-17 5120 3200
2020-03-18 5173 3240
2620-83-19 5269 3296
2020-03-20 5322 3330
2020-03-21 5412 3387
2020-83-22 5467 343
2020-03-23 5504 3457
2020-03-24 5540 3497
2020-83-25 5587 3550
2020-03-26 5643 3598
2620-83-27 5694 3638
2020-03-28 5742 3736
2020-03-29 5784 3799
2020-03-3@ 5827 3836
2020-083-31 5881 3905
2020-04-01 5941 394d

Python
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female = go.Bar(x=sex.index,
y=sex.iloc[:,8], name='Female')

male = go.Bar(x=sex.index,
y=sex.iloc[:,1], name="'Male")

data = female, male

# data

layout = go.Layout(title='Confirmed(sex)', barmode='stack')
fig = go.Figure(data=data, layout=layout)

fig.show()
Python
Out[-]
Confirmed(sex)
10k B Male
B Female
8k
6k
4k

2k

lar 1 Mar 8 Mar 15 Mar 22 Mar 29
2020
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age = confirmed.iloc[-1, 2:]

age
Python

Out[-]

8-9 116

10- 519

20-29 2682

3e-39 1027

40-49 1323

56-59 1865

66-69 1245

70-79 658

80- 452

Name: 2820-04-01, dtype: int64

# 48 12 Llolg =AA)

# bar Jlch=

data = [go.Bar(x=age.index, y=age.values)]

layout = go.Layout(title='Confirmed(age)')

fig = go.Figure(data=data, layout=layout)

fig.show()

Python

Outl[-]

Confirmed(age)

2500
2000
1500
1000

500

0-9 10- 20-29 30-39 40-49 50-59 60-69 70-79 80-
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# 42 12 Lol sStEAR
# bar Jcf=

data = [go.Pie(labels=age.index, values=age.values) ]
layout = go.Layout(title="Confirmed(age)"')

fig = go.Figure(data=data, layout=layout)

fig.show()

Out[-]

Confirmed(age)

20-29
50-59
40-49
60-69
30-39
70-79
10-
80-
0-9

Python
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# AHE

# 43 12 J|&

# AEE = ML=/ A * 100

death = pd.read_csv('./data/daily_Deceased.csv', index_col = ['Date']) # AtZIA}

death.tail()

Python
Out[-]
Female Male ©-9 10- 20-29 30-39 40-49 50-59 60-69 7@-79 8@-
Date
2020-83-28 67 77 e e e 1 1 1e 21 41 7@
2020-83-29 74 78 e e e 1 1 1e 21 43 76
2020-03-30 78 80 %] 2] e 1 1 10 21 45 80
2020-83-31 80 82 %] 2] e 1 1 10 22 46 82
2020-04-01 81 84 %] 2] e 1 1 10 23 46 84
Python
confirmed_temp = confirmed.iloc[-1, :]
death_temp = death.iloc[-1, :]
Python
confirmed_temp
Python
out[-]
Female 5941
Male 3946
8-9 116
10- 519
20-29 2682
308-39 1027
40-49 1323
5@8-59 1865
60-69 1245
70-79 658
80- 452
Name: 2028-@4-81, dtype: inte4
Python
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death_temp
Python
out[-]
Female 81
Male 84
e-9 2]
18- 2]
20-29 =}
30-39 1
40-49 1
50-59 10
60-69 23
70-79 46
80- 84
Name: 2020-04-01, dtype: inte4
Python

death_rate = round((death_temp/confirmed_temp)*1@@, 2) # round --=%& 28I TIZ|THE 222

death_rate
Python

Out[-]

Female 1.36
Male 2.13
-9 ©.00
18- ©.080
20-29 ©.00
30-39 ©.10
40-49 9.88
5@-59 ©.54
60-69 1.85
70-79 6.99
80- 18.58

Name: 20820-04-01, dtype: floate4d
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sex = confirmed_temp|[:2]

sex
Python
Out[-]
Female 5941
Male 3946
Name: 2020-04-81, dtype: int64
Python
sex_death = death_temp[:2]
sex_death
Python
Oout[-]
Female 81
Male 84
Name: 2020-84-01, dtype: inté4
Python
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from plotly.subplots import make_subplots

fig = make_subplots(rows=1,cols=2,specs=[[{ 'type':"'domain"'}, {'type':'domain'}]])

labels = sex.index
values = sex.values
labels2 = sex_death.index
values2 = sex_death.values

fig.add_trace(go.Pie(labels=1labels,
values=values), row=1l, col=1)

fig.add_trace(go.Pie(labels=1abels2,
values=values2), row=1l, col=2)
fig.update_layout(title='confiremd - death_rate")

fig.show()
Python
Qut[-]
confiremd - death_rate
B Female
W Male
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age_confirmed = confirmed.iloc[-1, 2:]
age_confirmed

Out[-]
0-9 116
10- 518

20-29 2682
30-39 1827
48-49 1323
5@-59 1865
60-69 1245
70-79 658
80- 452
Name: 20828-04-81, dtype: inté4

age_death = death_rate.iloc[2:]

age_death
Out[-]

0-9 @.e0
1@- @.00
20-29 0.00
30-39 e.10
40-49 @.e8
5@-59 @.54
60-69 1.85
78-79 6.99
80- 18.58

Name: 2020-064-01, dtype: floate4

Python

Python

Python

Python
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fig = make_subplots(rows=1,cols=2,specs=[[{ 'type':'bar'}, { 'type':'bar'}1])
labels = age_confirmed.index

values = age_confirmed.values

labels2 = age_death.index

values2 = age_death.values

fig.add_trace(go.Bar(x=1labels,

y=values, name='confirmed_age'), row=1, col=1)

fig.add_trace(go.Bar(x=1labels2,

y=values2, name='death_rate'), row=1, col=2)
fig.update_layout(title='confiremd - death_rate(age)')

fig.show()

Python

out[-]

confiremd - death_rate(age)

B confirmed_age

2500 B death_rate
15

2000

1500 0

o

1000
) || II
0 I

o wn
|
69-09 -
oc-o. [

NoOWE U v N @ o = N W & U @
°S 902 22 522939 e
NoOW s U N NoOW & U
O v v O W O O O O W
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# HOIE S=RJI(&H : ZE22=T)

import pandas as pd
from matplotlib import pyplot as plt

region = pd.read_csv("./data/region.csv", index_col=['day'])

Python
region.head()
Python
Out[-]
MdE 24 =oogE ZEE e = AE F HE 55 59 s
dg =25 dg HMFE 29 =ik
day
2020-03-01 82 81 2569 6 9 13 17 1 84 7 11 6@ 5
5 514 62 2 e 3526
2020-03-82 91 88 3081 7 9 14 20 1 92 19 11 78 6
5 624 64 2 %] 4212
2020-03-83 98 L 3601 7 11 14 20 1 %4 20 11 81 7
5 685 64 3 e 4812
2020-03-04 99 93 4006 9 13 15 23 1 1e1 21 11 82 7
5 774 65 3 %] 5328
2020-03-85 183 92 4326 9 14 16 23 1 11e 23 12 86 7
5 861 74 - e 5766
Python
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region.tail()

Python

out[-]
AdE R U+ gd &= dd =S AE d) J4F =5 Y &S5
g 5 g HFE &89 EEEAs
day

2020-03-28 390 114 6587 51 20 31 39 a4 433 32 41 126 10
8 1285 91 8 168 9478
2020-63-29 41e 117 66le 58 28 34 39 46 448 34 41 127 12
9 1287 94 8 189 9583
2020-03-30 426 118 6624 58 208 34 39 46 463 36 44 127 13
9 1298 95 9 202 9661
2020-03-31 450 119 6684 64 20 36 39 46 476 36 - 128 13
S 1380 96 5 217 5786
2820-04-01 474 122 6704 69 24 36 39 46 499 38 44 131 14
12 1382 1e@ 9 224 9887

Python
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region.info()

Python

Out[-]

<class 'pandas.core.frame.DataFrame’'>
Index: 32 entries, 2020-03-01 to 2082@-04-01
Data columns (total 19 columns):

# Column Non-Null Count Dtype

e A= 32 non-null inte4

1 2 32 non-null inte4

2 0= 32 non-null inte4

3 glE 32 non-null inte4

4 ZF 32 non-null inte4

5 O# 32 non-null inte4

6 =t 32 non-null int64

7 M= 32 non-null int64

g &I 32 non-null inté4

9 ZH 32 non-null int64

10 == 32 non-null inte4

11 =g 32 non-null inte4

12 = 32 non-null inte4

13 g 32 non-null inte4

14 &5 32 non-null inte4

15 &5 32 non-null inte4

16 M= 32 non-null int64

17 &< 32 non-null inte4

18 == ¢#Al2= 32 non-null inte4
dtypes: int64(19)
memory usage: 5.6+ KB

Python
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region.isnull().sum()

Python

Out[-]
ME
SRy
o=
2l
2=

o

m
=

O 0 @@ ®& ® 0 @ ® ® 0 @& ®& ® 0O ® ® ® O

oY 2 0 od 2 20 O o oY o =
IR M 0L AT 0T HI 0T O 0 2 o

0

I
[al
=
e
[v]

dtype: inte4

Python

pd.options.display.max_rows = 10080
pd.options.display.max_columns = 180

Python
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region.tail()

Python

Out[-]
AE R4 2IE 2= ME S8 AE EX O EE == =Y ds
A F25 dE9 HFE F3H SEAAE
day

2020-03-28 390 114 6587 51 20 31 39 44 433 32 41 126 1e
8 1285 91 8 168 9478
2020-03-29 41 117 6610 58 20 34 39 46 448 34 41 127 12
9 1287 94 8 189 9583
2020-03-30 426 118 6624 58 20 34 39 46 463 36 a4 127 13
9 1298 95 9 2082 9661
2020-03-31 450 119 6684 64 20 36 39 46 476 36 44 128 13
9 1300 96 9 217 9786
2020-04-01 474 122 6704 69 24 36 39 46 499 38 a4 131 14
12 1302 1e@ 9 224 9887

Python
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last = region.iloc[-1, :]

last

==

oY ok o ool oo

R Ay O WD OF HT O 4

2

i O

=ETp (B

=
[\
=
m

474
122
6704
69
24
36
39
46
499
38
44
131
14
12
1382
1ee
9
224

9887

2020-04-01, dtype: inte4

M
~

el

O

=

|

Python

Python
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last = region.iloc[-1,:-2]

last
Python

Out[-]

ME 474

St 122

o= 6704

(iR 69

2= 24

A 36

=t 39

ME 46

=] 499

e 38

=5 44

=d 131

el 14

= 12

B 1302

Z2e 100

M= 9

Name: 2020-04-81, dtype: inte4
Python
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location_data = go.Bar(x=last.index, y=last.values)

layout = go.Layout(title="&= =&K', xaxis_title='X|<"', yaxis_title='S=&lX3")
fig = go.Figure(data=location_data, layout=layout)

fig.show()

Python

out[-]
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last = last.sort_values(ascending=True)

# ascending @EI=
# @2 22E AUZE e

# descending L{E& Ttz
# =2 2128 AUZE e

location_data = go.Bar(x=last.index, y=last.values)

layout = go.layout(title='&= El&ITt", xaxis_title="Al=", yaxis_title='S&IT}")
fig = go.Figure(data=location_data, layout=layout)

fig.show()

Python

out[-]
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region.index

Python

Out[-]

Index(['2020-83-01', '2020-03-02', '2020-03-83', '2020-03-04', '2020-03-05',
'2020-03-06"', '2020-03-087', '2020-03-88', '2020-03-09', '2028-03-10°,
'2020-03-11", '2020-03-12', '2020-03-13', '2020-03-14', '2028-03-15",
'2020-03-16", '2020-03-17', '2020-03-18', '2020-03-19', '2028-03-20°,
'2020-083-21", '2020-03-22', '2020-03-23', '2020-03-24"', '2828-83-25",
'2020-83-26", '2020-83-27', '2020-03-28', '2020-03-29', '2028-83-30°,
'2020-03-31", '2020-04-01'],

dtype="object', name='day')
Python
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region.iloc[:,2]

Qut[-]

day
2020-03-01
2020-03-02
2020-03-083
2020-03-04
2020-03-05
2020-03-06
2020-03-07
2020-03-08
2020-03-09
2020-03-10
2020-03-11
2020-03-12
2020-83-13
2020-03-14
2020-03-15
2020-03-16
2020-03-17
2020-03-18
2020-03-19
2020-03-20
2020-03-21
2020-03-22
2020-83-23
2020-03-24
2020-03-25
2020-03-26
2020-03-27
2020-03-28
2020-03-29
2020-03-30
2020-03-31
2020-04-01

2569
3e81
3601
4006
4326
4693
5684
5381
5571
5663
5794
5867
5928
599@
6031
6066
6098
6144
6241
6275
6344
6387
6411
6442
6456
6482
6516
6587
661@
6624
6684
6704

Name: CH=, dtype: int64

M
~

el

O

=

|

Python

Python
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# S XY k= 22|
import plotly.graph_objects as go
fig = go.Figure()
for i in range(len(last))
fig.add_trace(go.Scatter(x=region.index, y=region.iloc[:,i], mode='lines+markers', na
me = region.columns[i]))
fig.update_layout(title="TLI&t&IT}4=", xaxis_title='Day', yaxis_title="Sf&lTl4")
fig.show()

Python

Qut[-]
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last = region.iloc[-1, :18]

last
Python
out[-]
A= 474
St 122
o 6704
2l 69
R 24
Ch & 36
=) 39
ME 46
27 499
20 38
== 44
==t 131
&5 14
= 12
aH= 1302
== 100
pES 9
=4 224
Name: 2020-04-81, dtype: inté4|
Python
last.index
Python
out[-]
Index(["AME", 'Sk, i3, "el@&:, "#F, 'Ud, "8, "AEr, "I, R, EF,
== ]
[ |
IE;" P L |%;1:t?:‘|) I%E“; ‘Iﬂ$', |j|:I_|c_);|||:|J
dtype="object"')
Python
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last.values

Python
Out[-]
array([ 474, 122, 6704, 69, 24, 36, 39, 46, 499, 38, 44,
131, 14, 12, 1382, 1e8, 9, 224], dtype=int64)
Python
labels = last.index
values = last.values
fig = go.Figure(data=[go.Pie(labels=labels, values=values)])
fig.update_layout(title="A/2 St&ITL HIE™)
fig.show()
Python
Out[-]
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region.iloc[:, 16]

Out[-]

day
2020-03-01
2020-03-92
2020-03-@3
2020-03-04
2920-03-05
2020-03-@6
2020-03-07
2020-03-08
2020-03-@9
2020-03-10
2920-03-11
2020-03-12
2920-03-13
2020-03-14
2020-03-15
2020-03-16
2020-83-17
2020-03-18
2020-03-19
2020-83-20
2020-03-21
2020-83-22
2020-83-23
2020-03-24
2920-83-25
2020-83-26
2020-03-27
2920-83-28
2020-83-29
2020-03-30
2920-03-31
2020-04-01

W WK NO BB B BR B BB BB BB DR BRDBRRE AR BB WWNN

9

Name: M=, dtype: int64

M
~

el

O

=

|

Python

Python
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# region.index
index = region.columns
list(index).index('X|3="

Python

Oout[-]
16

jeju = region.iloc[:, 16]
jeju Python
out[-]

day
2020-03-01
2620-03-02
2020-03-03
2020-03-04
26208-03-85
2020-93-06
2020-03-07
2620-03-08
2020-03-09
2020-03-10
26208-03-11
2020-03-12
2020-03-13
2020-03-14
2020-03-15
20208-03-16
2020-03-17
2020-03-18
2020-03-19
2020-093-20
2020-03-21
2020-03-22
2020-93-23
2020-03-24
2020-03-25
2020-93-26
2020-03-27
2620-03-28
2020-93-29
2020-03-30
20620-03-31
2020-04-01 9

Name: M3, dtype: ints4

Tt R . N N S S S S S N N S Y N S N N N N N T R NN
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# plotly
data = go.Bar(x=jeju.index, y=jeju.values,)

layout = go.Layout(title="HMlFT= &I&lQ=-' xaxis_title='Day’', yaxis_title="Sl&lA=")

fig = go.Figure(data=data, layout=layout)

fig.show()
Python
Qut[-]
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# plotly semi log J2fl=

data = go.Line(x=jeju.index, y=jeju.values,)
layout = go.lLayout(title="XFT StEIK=="
xaxis_title='Day’,

3

yaxis_title='S{&I T} =",
yaxis_type="'log',

fig = go.Figure(data=data, layout=layout)
fig.show()
Python

Out[-]
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Map

import pandas as pd

data = pd.read_csv("./data/region.csv", index_col=['day'])
data.tail()

Python
out[-]
ME R pIE 2= O S HE FI A E5 Y &S
g2 = ZFY HF HE SEELs

day

2020-03-28 390 114 6587 51 20 31 39 44 433 32 41 126 16
8 1285 91 8 168 8478

2020-83-29 41e 117 661@ 58 20 34 39 46 448 34 41 127 12
9 1287 94 8 189 8583

2920-03-30 426 118 6624 58 20 34 39 46 463 36 44 127 13
9 1298 95 9 202 9661

2020-03-31 450 119 6684 64 20 36 39 46 476 36 44 128 13
9 13e@ 96 9 217 9786

2020-04-01 474 122 6704 69 24 36 39 46 499 38 44 131 14
12 1302 1e@ 9 224 9887

Python
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map_data = data.iloc[-1, :17]
map_data = pd.DataFrame(map_data)

map_data
Python
Qut[-]
2020-04-01
ME 474
S &b 122
cH=? 6704
glE 69
2= 24
™ 36
=) 39
ME 46
=l 499
23 38
=5 44
=g 131
= 14
= 12
a5 1302
A 100
M= 9
Python
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>

type(loc)

x

Mo £

|
}
(

4 00 HI D HE OF AC [#0 ~ of 1z 14

Out[-]
dict

ool E &

[37.566418,
[35.180152,
[35.871468,
[37.456445,
[35.160068,
[36.350664,
[35.539772,
[36.480838,
[37.275221,
[37.885300,
[36.635947,
[36.658826,
[35.8208599,
[34.816351,
[36.574108,
[35.238398,

[33.3617007,

a0

126.977950] , #4
129.074980] , 4
128.601757],4
126.705873],4
126.851426] 4
127.384819], 4
129.311486],4
127.289181],4

]

]

]

]

]

]

]

Mo & ok e 2 41

=

I 00 A0 D HI O AT e M o = 24 44 40 = Mo

127.809382],4
127.729835] 4
127.491345] 4
126.672849] 4
127.108759] %
126.462924] %
128.509303],4
128.692371],%
126.511657 | #4

O of A ofp oy oy o

Pythone 2 24 2

&
Al
&=

M
~

el

o

=)

|

Python

Python
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# 2/ (latitude) &t &2 =(longitude)

loc = pd.DataFrame(loc).T

loc.columns = ['lat’, 'lon']
loc
Python

out[-]

lat lon
A2  37.566418 126.977950
24 35.180152 129.074980
= 35.871468 128.601757
Cl&  37.456445 126.705873
2= 35.160068 126.851426
&  36.350664 127.384819
E4F 35.539772 129.311486
HIE  36.480838 127.289181
#HAJ|  37.275221 127.009382
2@ 37.885300 127.729835
=5 36.635947 127.491345
£4  36.658826 126.672849
&= 35.820599 127.1@8759
MY 34.816351 126.462924
HE  36.574108 128.509303
Y 35.238398 128.692371
MZ  33.361701 126.511657

Python
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Ipip install folium

Python

Qut[-]
Collecting folium

Downloading folium-©.1@.1-py2.py3-none-any.whl (91 kB)
Requirement already satisfied: numpy in c:\programdatalanaconda3\lib\site-packages (from
folium) (1.16.4)
Collecting branca>=0.3.@

Downloading branca-9.4.8-py3-none-any.whl (25 kB)
Requirement already satisfied: requests in c:\programdata\anaconda3\lib\site-packages (fr
om folium) (2.22.0)
Requirement already satisfied: jinja2»=2.9 in c:\programdata\anaconda3\lib\site-packages
(from folium) (2.10.1)
Requirement already satisfied: six in c:\programdata\anaconda3\lib\site-packages (from br
anca»=0.3.9e->folium) (1.12.9)
Requirement already satisfied: urllib3!=1.25.0,1=1.25.1,<1.26,>=1.21.1 in c:\programdata
\anaconda3\lib\site-packages (from requests->folium) (1.24.2)
Requirement already satisfied: idna<2.9,>=2.5 in c:\programdata\anaconda3\lib\site-packag
es (from requests->folium) (2.8)
Requirement already satisfied: chardet<3.1.9,>=3.9.2 in c:\programdata\anaconda3\lib\site
-packages (from requests->folium) (3.8.4)
Requirement already satisfied: certifi»=2017.4.17 in c:\programdata\anaconda3\lib\site-pa
ckages (from requests->folium) (2019.6.16)
Requirement already satisfied: MarkupSafe»>=8.23 in c:\programdata\anaconda3\lib\site-pack
ages (from jinja2»=2.9->folium) (1.1.1)
Installing collected packages: branca, folium
Successfully installed branca-0.4.@ folium-©.18.1

Python
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import matplotlib.pyplot as plt
import folium

map_osm = folium.Map(location=[35.824,127.147], zoom_start=7)

map_osm
ython
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from folium.plugins import MarkerCluster
marker_cluster = MarkerCluster().add_to(map_osm)

for i in range(17):
folium.Marker(
[loc.iloc[i:i+1,0], loc.iloc[i:i+1,1]],
popup = map_data[i:i+1],
icon=folium.Icon(color="red',icon="star"'),
) .add_to(marker_cluster)

map_osm.save("map.html") # jupyter notebookOl &= HWAHAM htmlzZ HZE
map_osm
Python
Out[-]
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=

=

map_data.iloc[1]

Pytho
Out[-]
2020-04-01 122
Name: S¢F, dtype: inté4
Python
from folium.plugins import MarkerCluster
map_osm = folium.Map(location=[35.824,127.147], zoom_start=7)
marker_cluster = MarkerCluster().add_to(map_osm)
for i in range(17):
folium.Circle
[loc.iloc[i:i+1,0], loc.iloc[i:i+1,1]],
tooltip = map_data[i:i+1],
radius = int(map_data.iloc[i])*10, ## S XA == * 20t
fill _color='red’,
color="red"’
) .add_to(marker_cluster)
map_osm.save("map.html")
map_osﬂ
Python
Out[-]
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sS4

A 2 | O| X[ (https://python-visualization.github.io/folium/)

stroke (Bool, True) :
Whether to draw stroke along the path. Set it to false to disable borders on polygons or circles.

color (str, '#3388ff") :
Stroke color.

weight (int, 3) :

Stroke width in pixels.

opacity (float, 1.0) :

Stroke opacity.

line_cap (str, 'round’ (lineCap)) :

A string that defines shape to be used at the end of the stroke.
line_join (str, 'round' (lineloin)) :

A string that defines shape to be used at the corners of the stroke.
dash_array (str, None (dashArray)) :

A string that defines the stroke dash pattern. Doesn't work on Canvas-powered layers in some
old browsers.

dash_offset (str, None (dashOffset)) :
A string that defines the distance into the dash pattern to start the dash. Doesn't work on
Canvas-powered layers in some old browsers.

fill (Bool, False) :
Whether to fill the path with color. Set it to false to disable filling on polygons or circles.

fill_color (str, default to color (fillColor)) :

Fill color. Defaults to the value of the color option.
fill_opacity (float, 0.2 (fillOpacity)) :

Fill opacity.

fill_rule (str, 'evenodd' (fillRule)) :

A string that defines how the inside of a shape is determined.

bubbling_mouse_events (Bool, True (bubblingMouseEvents)) :
When true a mouse event on this path will trigger the same event on the map (unless
L.DomEvent.stopPropagation is used).
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3. AR 33 00| £

# &M ZELE gA SE OICIE(=H « 2EHEE=R)
import pandas as pd
df = pd.read_csv("./data/total.csv", index_col = ["date"])

df.head()
Python
Qut([-]
ZTH  EEA T HelE ALY HAE 2 S84
date
2020-03-01 96985 3526 30 3479 17 32422 61037
2020-83-02 109591 4212 31 4159 22 33799 71580
2020-03-03 125851 4812 34 4750 28 BEGSE 85484
2020-03-04 136707 5328 41 5255 32 28414 102965
2020-03-05 146541 5766 88 5643 35 21810 118965
Python
df.tail()
Python
Out[-]
SH EER ARG HEE ALY HAlE 20 54
date
2020-83-28 387925 9478 4811 4523 144 16564 361883
20208-03-29 394141 9583 5833 4398 152 15828 369530
2020-83-30 395194 9661 5228 4275 158 13531 372002
20208-03-31 41e564 9786 5408 4216 162 16892 383886
2020-04-01 421547 9887 5567 4155 165 16585 395075
Python
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df.info()
Python
Out[-]
<class 'pandas.core.frame.DataFrame’>
Index: 32 entries, 2020-©3-01 to 2020-84-01
Data columns (total 7 columns):
# Column Non-Null Count Dtype
e =4 32 non-null inté4
1 =R 32 non-null inte4
2 AHZEAM 32 non-null inte4
3 Hod=s 32 non-null inté4
4 Ak 32 non-null inté4
5 HAE 32 non-null int64
6 Zi =S4 32 non-null int64
dtypes: int64(7)
memory usage: 2.0+ KB
Python
df.isnull().sum()
Python
Out[-]
=4 9
=Py ]
EFa kbS] 2]
A= ]
ARZE ]
AAE ]
23 4 2]
dtype: inte4
Python
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df.index
Python
out[-]

Index(['2020-83-01"', '2020-03-02"', '2020-03-03', '2020-03-04', '2020-03-05',
'2020-03-06', '2020-03-07', '2020-03-08', '2020-03-09', '2020-03-10',
'2020-083-11', '2020-03-12', '2020-03-13', '2020-03-14', '2020-03-15',
'2020-83-16", '2820-083-17', '2020-03-18', '2020-03-19', '2026-83-20°,
'2020-03-21', '2020-03-22', '2020-03-23', '2020-03-24', '2020-03-25',
'2020-03-26"', '2020-03-27', '2020-03-28', '2020-03-29', '2020-03-30',
'2020-03-31", '2820-04-01'],

dtype='object’, name='date")
Python
df.iloc[:,6]
Python

Out([-]

date

20620-03-01 61e37

2020-03-02 71580

2020-03-03 85484

2020-03-04 102965
2020-03-85 118965
2020-03-06 136624
2020-03-87 151802
2020-03-08 162008
2020-03-09 171778
2020-03-10 18417°
2020-03-11 196100
2020-03-12 289402
2020-03-13 222728
2020-03-14 235615
2020-03-15 243778
2020-03-16 251297
2020-03-17 2611805
2020-03-18 270888
2020-03-19 282555
2020-03-20 292487
2020-03-21 383006
2020-03-22 388343
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2020-03-23
2020-03-24
2020-03-25
2020-03-26
2020-03-27
2020-03-28
2020-03-29
2020-03-30
2020-03-31
2020-04-01

Name: Z1 =4

df.columns[6]

df.columns[1]

Out[-]
YEEA

Clo|EHE Pythonl =2 24 &

315447
324105
334481
341332
352418
361883
369530
372002
383886
395875
, dtype: inté4

M
~

el

O

=

|

Python

Python

Python

Python

Python
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# I SAA-24 Odl =
import plotly.graph_objects as go
fig = go.Figure()

fig.add_trace(go.Scatter(x=df.index,
y=df.iloc[:,6],
mode = 'lines+markers’,
name="Z 1 S4&"))

fig.add_trace(go.Scatter(x=df.index,

y=df.
iloc[:,1],
mode = 'lines+markers’,

name="5tZ11}"))
fig.update_layout(title="TZL} 2F& =4 xaxis_title='Day’, yaxis_title='count')
fig.show()
Python

out[-]
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# DZLE SAAN-24 Tl = (semi-1og)
import plotly.graph_objects as go
fig = go.Figure()

fig.add_trace(go.Scatter(x=df.index,
y=df.iloc[:,6],
mode = 'lines+markers’,
name="Z21 =41"))
fig.add_trace(go.Scatter(x=df.index,
y=df.
iloc[:,1],
mode = 'lines+markers’',
name="3tZ11}1))

fig.update_layout(title="T =L} s, 24"
Xaxis_title='Day',

2

yaxis_title="count",

yaxis_type="log'

fig.show()
Python
Out[-]
IZL¥E, 84
s —e— 23t 24
—— ERIX
100k
= 5
3
0
o
10k - - —s—o
Mar 1 Mar 8 Mar 15 Mar 22 Mar 29
2020

Day

297



Clo|EHE Pythonl =2 24 &

M
~
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O

d = df.copy()
d.tail()
out[-]
£ ESEAR Z2oiH Z2E A HAS 20 2

date
2020-03-28 387925 9478 4811 4523 144 16564
2020-83-29 394141 9583 5033 4398 152 15028
2020-93-30 395194 9661 5228 4275 158 13531
2020-83-31 410564 9786 5408 4216 162 16892
2020-04-01 421547 9887 5567 4155 165 16585
# XEE = At A ==/E A *1e0
# ATE = ZAcloh M/ =HE A+ *1ee
d['AIZE"'] = round(d.iloc[:,4]/d.iloc[:,1]*100, 2)
d['&XIE'] = round(d.iloc[:,2]/d.iloc[:,1]*10@, 2)
d.tail()
OQut[-]

= SER oM H2E A HAE Z2Y S

date
2020-83-28 387925 9478 4811 4523 144 16564
2020-83-29 394141 9583 5033 4398 152 15028
2620-83-3@ 395194 9661 5228 4275 158 13531
2020-83-31 41e564 9786 5408 4216 162 16892
2620-84-801 421547 9887 5567 4155 165 16585

=

|

361883
369530
372002
383886
395e75

AEE

361883
369530
372082
383886
395075

2=

[ O S R S oY

5e.
52.
54.
55.
56.

76
52
11
26
31

Python

Python

Python

Python
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d.index
Python
out[-]
Index(['2020-083-01"', '2020-83-82', '2020-83-03', '2020-03-04', '2020-03-05",
'2020-03-06', '2020-83-07', '2020-03-08', '2020-03-09', '2826-03-10°,
'2020-03-11", '2020-03-12', '2020-03-13', '2020-03-14', '2020-03-15",
'2020-03-16"', '2020-03-17', '2028-83-18', '2020-03-19°', '20820-083-28°,
'2020-03-21", '2020-83-22', '2020-03-23', '2020-03-24', '2826-83-25",
'2020-03-26"', '2020-03-27', '2020-03-28', '2020-03-29°', '2020-03-3@°,
'2020-03-31', '2020-04-01'],
dtype='object', name='date")
Python
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d.iloc[:,7]

Python
out[-]
date
2020-03-01 0.48
2020-03-02 9.52
26208-03-03 ©.58
2020-03-04 9.60
2020-03-085 9.61
2020-03-06 0.67
2620-83-07 @.65
2020-03-08 0.70
2020-03-09 9.69
2020-03-10 9.72
26208-83-11 e.77
2020-03-12 9.84
2020-03-13 0.84
2020-03-14 ©.89
2628-83-15 9.92
2020-03-16 9.91
2020-83-17 0.97
2020-03-18 1.e0
26208-83-19 1.86
2020-03-20 1.09
2020-03-21 1.16
2020-03-22 1.17
2620-83-23 1.24
2020-03-24 1.33
2020-03-25 1.38
2020-03-26 1.42
20620-83-27 1.49
2020-03-28 1.52
2020-03-29 1.59
2020-03-30 1.64
2620-03-31 1.66
2020-04-01 1.67
Name: ZIEE, dtype: 'Float54|

Python
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d_g = go.Bar(x=d.index, y=d.iloc[:,7])

layout = go.layout(title="Z|EHS(AI2/EER2=)")
fig = go.Figure(data=d_g, layout=layout)
fig.show()

1.5
1
0.5
|
22 29

ar1 Mar 8 Mar 15 Mar Mar
2020

Python

out[-]
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death = go.Bar(x=d.index, y=d.iloc[:,7], name = "7l
cure = go.Bar(x=d.index, y=d.iloc[:,8], name = "&i|E")
data = cure, death

layout = go.lLayout(title="ZX/2=-2tZE"]21 =", barmode="stack")
fig = go.Figure(data=data, layout = layout)

fig.show()

Python

Qut[-]
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fig = go.Figure()

fig.add_trace(go.Scatter(x=d.index,
y=d.iloc[:,7],
mode = 'lines+markers’,
name="'7|ZZ"))
fig.add_trace(go.Scatter(x=d.index,
y=d.iloc[:,8],
mode = 'lines+markers’,

name="2tZ|E"))

fig.update_layout(title="Z|H=-2t1lE =",
xaxis_title='Day’,
yaxis_title="count"')
fig.show()

Python

out[-]
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today = df.copy()

today.tail()

out[-]

date
2020-03-28
2020-093-29
2020-03-30
202@-03-31
2020-04-01

print(today.
print(today.
print(today.

Out[-]
SR
Btk ps|
AR

387925 9478 4811 4523 144 16564
394141 9583 5033 4398 152 15028
395194 9661 5228 4275 158 13531
410564 9786 5408 4216 162 16892
421547 9887 5567 4155 165 16585

columns[1])
columns[2])
columns[4])

el

O

=

|

361883
369530
372002
383886
395075

Python

Python

Python

Python
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AASAT = []
AAZFHH = []
AANST = []

for i in range(len(today)-1):
o

2ol St &I A} append(today.iloc[:, 1][i+1]-today.iloc[:, 1][i])
22 H2|Gl Ml . append(today.iloc[:, 2][i+1]-today.iloc[:, 2][i])
S U A2 AL append(today.iloc[:, 4][i+1]-today.iloc[:, 4][i])
LLUSEA = pd.DataFrame( 2 =&AL, index=today.index)
UUAAEZGHM = pd.DataFrame( LY AHZITHM, index=today.index)
UAUAMLA = pd.DataFrame( 22 AZLA}, index=today.index)
SSEA = LUSET  rename(columns={0@: ' L2 StEIX"})
SOl HEZGHAH = L2AZ|THH . rename(columns={@: LA HZ|THH "})
AL A = LLALSL A rename(columns={@: "2 A} 2L} })

today = pd.concat([today, 2SS, SAZGHH, AT, axis=1)
today
Qut[-]

ZH SEI A HEE ALY HAES 2 4 LastE
AFRETL

date

2020-03-28 387925 9478 4811 4523 144 16564 361883
283 5
2020-83-29 354141 9583 5@33 4398 152 15628 369530
222 8
2020-83-30 395194 9661 5228 4275 158 13531 372002
195 6
2020-83-31 418564 9786 5488 4216 162 16892 383886
180 4
2020-84-01 421547 9887 5567 4155 165 16585 395075
159 3

Python
ST PN
146
185
78
125
lel
Python

305



| o]4 HIOJE{E PythonQ 2 24 E M| £

=

# 2UASA A -A2 G H del =
fig=go.Figure()

fig.add_trace(go.Scatter(x=today.index,
y=today.iloc[:,7],
mode = 'lines+markers’,
name="2 25 £} ))

fig.add_trace(go.Scatter(x=today.index,
y=today.iloc[:,8],
mode = "lines+markers’,
name="Z Y AC|HH "))

fig.update_layout(title="Z S EIT-HZGE =",
xaxis_title='Day',
yaxis_title='count"')

fig.show()

Python

out[-]

UYSTIA-ZH2 S H 1Y =

600
= 400
3
Q
200
0
Mar 1 Mar 8 Mar 15 Mar 22 Mar 29
2020
Day

306



HO|E{E PythonQ 2 24 H M| E

fig=go.Figure()

tl = go.Bar(x=today.index,
y=today.iloc[:,7],
name="Z & SET})
t2 = go.Bar(x=today.index,

y=today.iloc[:,8],

name="2 2 A5 K )

data = t2, t1

layout = go.Layout(title="Z A=A JI}-Z=E|GiK IHZ*, barmode='stack"')
fig = go.Figure(data=data, layout=layout)

fig.show()

Python

Out[-]
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USIAIZEA} = today.iloc[:,-1] # LS AR}

AEE = d.iloc[ @, -2] # AEHE

AEE
Python

out[-]

date

26208-083-01 8.48

2020-03-02 ©.52

2020-03-03 ©.58

2020-03-04 0.60

2020-03-05 0.61

2020-03-06 0.67

2020-03-07 9.65

2020-03-08 0.70

2020-03-09 0.69

2020-03-10@ e.72

2020-03-11 0.77

20628-83-12 ©.84

2020-03-13 0.84

2620-03-14 ©.89

2020-03-15 9.92

2020-03-16 0.91

2020-03-17 0.97

2020-03-18 1.00

2020-03-19 1.6

2020-03-20 1.09

2020-03-21 1.16

2020-03-22 1.17

2020-83-23 1.24

2020-03-24 1.33

206208-83-25 1.38

2020-03-26 1.42

2620-83-27 1.49

2020-03-28 1.52

2020-03-29 1.59

2020-03-30 1.64

2020-03-31 1.66

2020-04-01 1.67

Name: A|HE, dtype: 'Floatszﬂ
Python
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import matplotlib.pyplot as plt

plt.rcParams['figure.figsize']=15,8 # Il = HJ|
fig , ax = plt.subplots()
plt.xticks(rotation=9@)

# ax 20 dch=
ax.bar(death_1.index ,death_1.values,
color = ‘gray')

ax.set_xlabel("H/Z /™)
ax.set_ylabel("AFSERF(2=)")

ax.set_ylim(e ,19)
# axl &=

axl = ax.twinx()

axl.plot(death ,
color
label '

]
5

"
fall
0g -
Mo

axl.set_ylim(e.0 , 2)

=

axl.set_ylabel('ZI2=")

plt.title(' 22 AFZLA

o
i}

plt.grid(True)

plt.show()

Python
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2 AYR HE
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F125
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ST-E0020C
vZ-£0-0202
£2-E0-0202
72-60-0202
12-60-0202
02-E0-0202
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L1-e0-020e T
@
9L-£0-0202 51
SL-E0-02G2
PL-E0-020
£L-E0-0202
Z1-E0-0202
1L-E0-0202
0L-E0-0202
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80-E0-0202
L0-E0-0202
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4. NA 2L} g

e XIE £AX :kaggle - https://www.kaggle.com/sudalairajkumar/novel-corona-virus-2019-

dataset#time series covid 19 confirmed.csv

o FEIXIZ : https:/github.com/CSSEGISandData/COVID-19

import pandas as pd

confirmed = pd.read_csv('./data/time_series_covid_19_confirmed.csv')
deaths = pd.read_csv('./data/time_series_covid_19_deaths.csv')
recovered = pd.read_csv('./data/time_series_covid_19 recovered.csv')

Python

confirmed.info()

Python

Qut([-]

<class 'pandas.core.frame.DataFrame'>
RangeIndex: 258 entries, @ to 257
Data columns (total 76 columns):

# Column Non-Null Count Dtype
2] Province/State 8@ non-null object
1 Country/Region 258 non-null object
2 Lat 258 non-null float64
3 Long 258 non-null floate4d
4 1/22/20 258 non-null int64
5 1/23/20 258 non-null inte4
6 1/24/20 258 non-null inte4
7 1/25/20 258 non-null inte4
8 1/26/20 258 non-null inte4
9 1/27/28@ 258 non-null inte4
1@ 1/28/20 258 non-null inte4
11 1/29/2e 258 non-null int64
12 1/3e/20 258 non-null inte4
13 1/31/20 258 non-null inte4
14 2/1/20 258 non-null inte4
15 2/2/20 258 non-null inte4
16 2/3/20 258 non-null inte4
17 2/4/20 258 non-null inte4
18 2/5/20 258 non-null inte4
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19 2/6/20 258 non-null inte4
20 2/7/20 258 non-null inte4
21 2/8/20 258 non-null int64
22 2/9/20 258 non-null inte4
23 2/10/20 258 non-null inte4
24 2/11/28 258 non-null inte4
25 2/12/20 258 non-null inte4
26 2/13/26 258 non-null inte4
27 2/14/28 258 non-null inte4
28 2/15/28 258 non-null inte4
29 2/16/28 258 non-null inte4
3@ 2/17/28 258 non-null int64
31 2/18/28 258 non-null inte4
32 2/19/20 258 non-null inte4
33 2/20/20 258 non-null inte4
34 2/21/20 258 non-null inte4
35 2/22/206 258 non-null inte4
36 2/23/20 258 non-null inte4
37 2/24/20 258 non-null inte4
38 2/25/28 258 non-null inte4
39 2/26/28 258 non-null int64
40 2/27/26 258 non-null inte4
41 2/28/2@ 258 non-null int64
42 2/29/20 258 non-null inte4
43 3/1/20 258 non-null inte4
44 3/2/20 258 non-null inte4
45 3/3/20 258 non-null inte4
46 3/4/20 258 non-null inte4
47 3/5/2@ 258 non-null inte4
48 3/6/20 258 non-null int64
49 3/7/2@ 258 non-null inte4
5@ 3/8/20 258 non-null int64
51 3/9/20 258 non-null inte4
52 3/1e/20 258 non-null inte4
53 3/11/2e 258 non-null inte4
54 3/12/20 258 non-null inte4
55 3/13/2@ 258 non-null inte4
56 3/14/28 258 non-null inte4
57 3/15/28 258 non-null inte4
58 3/16/28 258 non-null inte4
59 3/17/28 258 non-null int64
6@ 3/18/20 258 non-null inte4
61 3/19/28 258 non-null inte4
62 3/28/20 258 non-null inte4
63 3/21/28 258 non-null inte4
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64 3/22/28 258 non-null inte4
65 3/23/20 258 non-null inte4
66 3/24/20 258 non-null inte4
67 3/25/20 258 non-null inte4
68 3/26/20 258 non-null inte4
69 3/27/20 258 non-null inte4
76 3/28/2@ 258 non-null int64
71 3/29/20 258 non-null inte4
72 3/38/20 258 non-null int64
73 3/31/20 258 non-null inte4
74 4/1/20 258 non-null int64
75 4/2/2@ 258 non-null inte4

dtypes: floate4(2), int64(72), object(2)
memory usage: 153.3+ KB

Python
confirmed.head()
Python
out[-]
Province/State Country/Region Lat Long 1/22/2@ 1/23/20 1/24/20 1/25/2@ 1/26/
20 1/27/20 ... 3/28/20 3/29/2@0 3/30/20 3/31/20 4/1/20 4/2/20
(4] NaN Afghanistan 33.0000 65.0000 2] (4] 5] 2]
e e ... 11e 12e 17e 174 237 273
1 NaN Albania 41.1533 20.1683 2] (%] 5] 2]
%] e ... 197 212 223 243 259 277
2 NaN Algeria 28.0339 1.6596 2] (%] 5] 2]
2] 2] . 454 511 584 716 847 986
3 NaN Andorra 42.5063 1.5218 2] (%] 5] 2]
2] e ... 308 334 370 376 390 428
4 NaN Angola -11.20827 17.8739 2] 2] e 2}
2] e ... 5 7 7 7 8 8
5 rows x 76 columns
Python
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confirmed.tail()

Python
Out([-]
Province/State Country/Region Lat Long 1/22/20 1/23/2@ 1/24/20 1/25/
20 1/26/2e 1/27/2@ ... 3/28/2@ 3/29/20 3/30/20 3/31/20 4/1/20 4/2/20
253 NaN Botswana -22.328500 24.684900 2} ] 2]
e 2] 0 ... (2] <] 3 4 4 4
254 NaN Burundi -3.373109 29.9189%00 2] ] 2]
e e ) -a- %] e 2] 2 2 3
255 NaN Sierra Leone 8.460555 -11.779889 2} ] Q
2} @ e ... 2} e 2] 1 2 2
Bonaire, Sint
256 Eustatius and Netherlands 12.178400 -68.238500 2] 2] 2]
e e B -ac %] <] e %] %] 2
Saba
257
NaN Malawi -13.254388 34.301525 e e 2]
2] @ 0 ... 2} 2] 9 2} 0 3
5 rows x 76 columns
Python
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Hlo|E| ®H 2]

# ClOIEl ®XZl (Province/State) AlAH

confirmed_1 = confirmed.drop([ 'Province/State'], axis = 1)
deaths_1 = deaths.drop([ 'Province/State’'], axis = 1)
recovered_1 = recovered.drop(['Province/State'], axis = 1)
Python
confirmed_1.head()
Python
OQut[-]
Country/Region 1/22/2@ 1/23/2@ 1/24/2@ 1/25/20 1/26/20 1/27/20 ... 3/28/20 3/29/20 3/3
e/2e0 3/31/20 4/1/2e 4/2/20
2] Afghanistan 2] 2] 2] 2] 2] e ... 110 120
178 174 237 273
1 Albania e e ] e 2] Q ... 197 212
223 243 259 277
2 Algeria (<] <] (%] (] 2] 0 ... 454 511
584 716 847 986
3 Andorra (] %] %] (5] %] 0 ... 308 334
370 376 390 428
4 Angola (%] 2] 2] %] 2] e ... 5 7
7 7 8 8
5 rows x 75 columns
Python
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# =S5 L2l #7]
country = confirmed_2.iloc[:,@]
df = country.value_counts()
df.index[1]
df[e]
# E5E L ) 20 22
for i in range(len(df)):

temp = df[i]

if temp > 1:

print(df.index[i])

Python

out[-]

China

Canada

France

United Kingdom
Australia
Netherlands
Denmark

Python
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# ==& Ltcr =T
confirmed_2.iloc[:,@]
confirmed_2.iloc[:,@].value_counts()

out[-]

China 33
Canada 15
France 10
United Kingdom 10
Australia 8

Congo (Brazzaville) 1
Holy See 1
Armenia 1
Sweden 1
Malawi 1

Name: Country/Region, Length: 181, dtype: inté4

S & & L2t : China, Canada, United Kingdom, France, Australia, Netherlands, Denmark

# ==% LS OSe M a2 2=

confirmed_3 = confirmed_2.groupby('Country/Region"').sum()
deaths_3= deaths_2.groupby( 'Country/Region").sum()
recovered_3= recovered_2.groupby('Country/Region').sum()

Python

Python

Python
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confirmed_3.loc[['China’]].T
confirmed_3.loc[[ 'United Kingdom']].T

Python
Out[-]
Country/Region United Kingdom
1/22/2@
1/23/20 2]
1/24/2@ 2]
1/25/20 2]
1/26/2@ 2]
3/28/20 17312
3/29/20 19780
3/30/20 22453
3/31/20 25481
4/1/28@ 29865
4/2/20 34173
72 rows x 1 columns
Python
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Al &t

confirmed_3.iloc[:, -1]
confirmed_3.iloc[:, -1]:'China'ﬂ

Python

out[-]
82432

Python

# 43 28 J|ESZE A ST OoH
confirmed_4 = confirmed_3.iloc[:, -1 ]
deaths_4 = deaths_3.iloc[:, -1 ]
recovered_4 = recovered_3.iloc[:, -1 ]

Python

df = confirmed_4.sort_values(ascending=False)
df

Python

Out[-]

Country/Region

us 243453
Ttaly 115242
Spain 112065
Germany 84794
China 82432

Burundi
Sierra Leone
Saint Vincent and the Grenadines

Papua New Guinea

PR NN W

Timor-Leste
Name: 4/2/20, Length: 181, dtype: inté4

Python
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import plotly.graph_objects as go

import plotly.express as px

px.bar(confirmed_4,

fig

confirmed_4.index

2

X
y

2

confirmed_4.values

height

6060)

fig.update_layout(title_text="Covidi®

Confirmed’,

="Country’,

Xaxis_title

‘confirmed')

_title=

yaxis

fig.show()

Python

out[-]

Covid19 : Confirmed
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import plotly.graph_objects as go
import plotly.express as px

fig = px.bar(df,
x = df.index,
y = df.values,
height = 600)

fig.update_layout(title_text="Covidl9 : Confirmed",
Xaxis_title='Country',
yaxis_title='confirmed’,
yaxis_type='log’,

fig.show()
Python
Out[-]
Covid19 : Confirmed

2
10k
5
2
o =
g 1000
¥- 5
@«
C
[=} 2
(o)
100
5
2
10
3
2
' |
CIONe oo PN IPCNgIPPrPAPEPOIZISsOATO0MME@BIErEC @0 -
Ng®SCTgTISF I CpgECESme2SC ' GCDRIIISTTRT
=5 & w==ccdxm o S5 =5 36 = o3 = 23 =3 5o cC 3
22 F8r555275388382,58853=8325333593%88z3¢3
nSoes T _“3d3a500 3053 m“i“cgzgm xam:m\'
38T S Propglim= @ o S 55 = D
= 2z EZEa=TF S 3 = o = e
25z = - 3 o = =] =5
s> © = S o ) = o ®
m = = 3 o
3 o o a =
= w o = 2
o b ] et [
=g ~ = =
w® © 3 c
[ w =
Country “

321



HO|E{E PythonQ 2 24 H M| E

import plotly.graph_objects as go

dfl = confirmed_4.sort_values(ascending=False)

df2 = deaths_4.sort_values(ascending=False)
df3 = recovered_4.sort_values(ascending=False)
fig = go.Figure(
data = [go.Bar(name = ‘confirmed’,
X = dfl.index,
y = dfl.values),
go.Bar(name = ‘deaths’,

X = df2.index,

y = df2.values ),
go.Bar(name = ‘recoverd’,

x = df3.index,

y df3.values)])

fig.update_layout(barmode = 'stack',
title_text = '4% 22 DL SAA, AFZA, =AlA,
yaxis_type="log"',
)
fig.show()
Python

Out[-]
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Top 15

# F8 Seld JE2=F Lid toplsE el
# APSETE OO, =X OIole old ol Lietel Ha gleE FEEH0.
confirmed_5 = confirmed_4.sort_values(ascending = False).head(15)
# confirmed_5
confirmed_list15 = []
for i in confirmed_5.index:
confirmed_list15.append(i)
confirmed_list15

Python

Out[-]

['us*,
‘ITtaly’,
'Spain’,
‘Germany ',
"China’,
'France”’,
‘Iran',
'United Kingdom',
'Switzerland',
'Turkey',
'Belgium’,
‘Netherlands"',
'Canada’,
'Austria’,
'Korea, South']

Python
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confirmed_5

Python
Out[-]
Country/Region
us 243453
Ttaly 115242
Spain 112065
Germany 84794
China 82432
France 59929
Iran 50468
United Kingdom 34173
Switzerland 18827
Turkey 18135
Belgium 15348
Netherlands 14788
Canada 11284
Austria 11129
Korea, South 9976
Name: 4/2/2@, dtype: int64
Python
confirmed_5 = pd.DataFrame(confirmed_5)
confirmed_5
Python
Out[-]
4/2/20
Country/Region
US 243453

Italy 115242

Spain 112865
Germany 84794
China 82432

France 59929

Iran 50468

United Kingdom 34173
Switzerland 18827
Turkey 18135
Belgium 15348
Netherlands 14788
Canada 11284
Austria 11129
Korea, South 9976
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confirmed_list15

# top 15 =& A2 A}
deaths_5 = []
for i in confirmed_list15:
for index, values in enumerate(deaths_4.index):
if i == values:
deaths_5.append(deaths_4[index])

deaths_5 = pd.DataFrame(deaths_5,
index=confirmed_5.index,
columns=confirmed_5.columns)

deaths_5
Python
Out[-]
4/2/20
Country/Region
us 7087
Italy 14681
Spain 11198
Germany 1275
China 3326
France 6520
Iran 3294
United Kingdom 3611
Switzerland 591
Turkey 425
Belgium 1143
Netherlands 1496
Canada 179
Austria 168
Korea, South 174
Python
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deaths_4
# deaths_4.index

deaths_4[2]

Python

Out[-]
15

Python

for index, values in enumerate(confirmed_listl15):
print(index, values)

Python

o
=
+

[-]

us

Italy

Spain

Germany

China

France

Iran

United Kingdom
Switzerland

w0 N oV R W N R ®

Turkey

10 Belgium

11 Netherlands
12 Canada

13 Austria

14 Korea, South

Python
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# top 15 =& ST}
recovered_5 = []
for i in confirmed_list15:
for index, values in enumerate(recovered_4.index):
if i == values
recovered_5.append(recovered_4[index])

recovered_5 = pd.DataFrame(recovered_5,
index = confirmed_5.index,
columns = confirmed_5.columns)
recovered_5

Out[-]
4/2/20
Country/Region
us 9707
Italy 19758
Spain 30513
Germany 24575
China 76760
France 14135
Iran 17935
United Kingdom 208
Switzerland 4846
Turkey 484
Belgium 2872
Netherlands 260
Canada 2175
Austria 2022
Korea, South sezﬂ

el

O

=

|

Python

Python
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-

import plotly.graph_objects as go
fig = go.Figure(

data = [go.Bar(name = 'confiremd',
X = confirmed_5.index,
y = confirmed_5['4/2/20']),

go.Bar(name = 'deaths’',
X = deaths_5.index,
y = deaths_5['4/2/20'] ),

go.Bar(name = 'recovered’,
X = recovered_5.index,
y = recovered_5['4/2/20']1)1)

fig.update_layout(barmode = 'stack',
title_text = ' top 15 : 43 28 I =ZL}

Jot
pal
=
>
02
>
L4
bl
>
4r

fig.show()
Python

Out[-]
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US covid - 19

confirmed_3.loc["US", ]

Python
out[-]
1/22/20 1
1/23/20 1
1/24/20 2
1/25/2@ 2
1/26/20 5
3/29/20 140886
3/30/20 161807
3/31/20 188172
4/1/2@ 213372
4/2/20 243453
Name: US, Length: 72, dtype: int64
Python
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# SEAE , ARZA , SEAE AIANE OO E

fig

fig.

fig.

fig.

fig.

Out[-]

= go.Figure()
.add_trace(go.Bar(x = confirmed_3.loc["US",].index,
y = confirmed_3.loc["US",],
name = ‘confirmed’))
add_trace(go.Bar(x = deaths_3.loc["US",].index,
y = deaths_3.loc["US", ],
name = 'deaths'))
add_trace(go.Bar(x = recovered_3.loc["US",].index,
y = recovered_3.loc["US",],
name = 'recovered_3'))
update_layout(yaxis_type="'log')
show()
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Python

confirmed
deaths
recovered_3
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fig = go.Figure()

=l
=

FELAE , AFRER , BEXIA AIHE &=

fig.add_trace(go.Scatter(x = confirmed_3.loc["US",].index,
y = confirmed_3.loc["US",],
mode = 'lines + markers’,
name = 'confirmed'))

fig.add_trace(go.Scatter(x = deaths_3.loc["US",].index,
y = deaths_3.loc["US",],
mode = 'lines + markers',

name ‘deaths "))

fig.add_trace(go.Scatter(x = recovered_3.loc["US",].index,
y = recovered_3.loc["US",],
mode = 'lines + markers’,
name = ‘recovered_3'))

fig.update_layout(yaxis_type='log')

fig.show()
Python
Outl[-]
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100k —e— deaths
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40| &
e H==(parameter): DS £EY
o EAZ/FE H(statistic) :

H
o HEHAJ HEOHZA

: 1 - ¥’ <\2 —
= —— (-3 +(X,-X)"+ - +(x,-X)']
1 r‘ - ‘—"2
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El
£V

Python

08 0"

= = sum(Bt_1)/len(Et_1)
iy

Tt

Python

out[-]
5e.e

Python

08 0"

= = sum(P_2)/len(2F_2)
ray

Tt

Python

out[-]
5.0

Python

= = sum(P_3)/len(B_3)
ray

e
09 0g

Python

Oout[-]
50.0

Python
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import math
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math.sqrt(Et
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math.sgrt(
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print(

Python

out[-]

£0.9 25.0 9.0
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Plain

import numpy as np

= [1/4, 1/2, 1/4]

e
80w

np.array([-1, @, 1])

SIPEE=

t

P

Python

out[-]

int32)

array([1, @, 1], dtype

Python
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H

sum(

Python
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il
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0
00t

=SE =[]
adFEE = []
for i in range(100):

if i > 2@ and i < 8@:

1
o
LTI
0

4= _append(i + np.random.randint(1, 30))

==& 4= append(i + np.random.randint(1, 1))
ZEHE &2 .append(i + np.random.randint(1, 18@))

Python

import matplotlib.pyplot as plt
%matplotlib inline

il

plt.scatter(==&=, HFEHES)
plt.xlabel( 'math")
plt.ylabel( ' computer"®)
plt.show()

Python
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Out[-]
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40
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o
0 .. T T T T
0 20 40 60 80 100
math
# Zd(mean): np.mean(x)
# HF=H7l(standard deviation) : np.std(x)
# —f(variance) : np.var(x)
# 1AHEZE = (x - np.mean(x)(y - np.mean(y))
# (9@ - 5@)(9@ - 50) = 1608
# 2Al=™ = (x - np.mean(x)(y - np.mean(y))
" (4@ - 50)(6@ - 50) = -180
# 3Al=™ = (x - np.mean(x)(y - np.mean(y))
" (20 - 50)(20 - 50) = 9@@
# 4AEH = (x - np.mean(x)(y - np.mean(y))
o (70 - 50)(4@ - 50) = -200

Python
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import numpy as np

import matplotlib.pyplot as plt

%matplotlib inline

np.arange(6, 18, ©.1)

X =

y = np.sin(x)

plt.figure(figsize

(12,6))

plt.plot(x, y);

Python

Qut[-]

100 1

0.75 1

0.50 |

0.25

0.00

-0.25 4

-0.50

-0.75 4

-1.00 1
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plt.

plt.
plt.
plt.

plt.
plt.

0.50 4

0.25 4

0.00 4

-0.25 4

—-0.50

-0.75 1

-1.00 1

figure(figsize=(12,6))

plot(x, y, 'k', label="Original")
plot(x, np.cos(x), 'b', label='True Cos"')
plot(x, np.r_[@, np.diff(y)]/@.1, 'r."', label='Calculated Diff")

legend(loc="best"')
show( )

Python

= QOriginal
= True Cos
+ Calculated Diff
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import numpy as np

X = np.linspace(-5,5,101)

Python

out[-]

-4.5, -4.4, -4.3, -4.2, -4.1,
-3.3, -3.1,

-4.6,
-3.5,
-2.4,

-4.7,
-3.6,
-2.5,

-4.8,
-3.7,
-2.8,

-4.9,
-3.8,
-2.7,

>

array([-5.

-2.9,

-3.2,

-3.4,
-2.3,

-3.9,
-2.8,

8.6,
1.7,
2.8,

1.6,
2.7,

1
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Python

out[-]

array([1.48671951e-06, 2.43896075e-06, 3.9612990%9e-06, 6.36982518e-06,
1.014@8521e-05, 1.59837411e-05, 2.49424713e-85, 3.85351967e-05,
5.89430678e-85, 8.92616572e-85, 1.33838226e-04, 1.98655471e-04,
2.91946926e-04, 4.247808271e-84, 6.11901930e-04, 8.72682695e-04,
1.23221917e-083, 1.72256894e-03, 2.38408820e-03, 3.26681906e-03,
4.43184841e-83, 5.95253242e-83, 7.91545158e-83, 1.84289348e-02,
1.35829692e-82, 1.75283005e-82, 2.23945303e-02, 2.83270377e-02,
3.54745928e-02, 4.39835960e-02, 5.39909665e-02, 6.56158148e-02,
7.89501583e-082, 9.40490774e-82, 1.10920835e-81, 1.29517596e-01,
1.49727466e-01, 1.71368592e-01, 1.94186055e-081, 2.17852177e-01,
2.41970725e-01, 2.66085250e-01, 2.89691553e-01, 3.12253933e-01,
3.33224603e-81, 3.52065327e-01, 3.68270140e-01, 3.81387815e-01,
3.91042694e-01, 3.96952547e-01, 3.98942280e-01, 3.96952547e-01,
3.91042694e-01, 3.81387815e-01, 3.6827014Pe-01, 3.520865327e-01,
3.33224603e-81, 3.12253933e-01, 2.89691553e-01, 2.66085250e-01,
2.41970725e-01, 2.17852177e-01, 1.94186055e-01, 1.71368592e-01,
1.49727466e-81, 1.29517596e-81, 1.18928835e-081, 9.40496774e-02,
7.89501583e-082, 6.56158148e-082, 5.39909665e-82, 4.39835960e-02,
3.54745928e-02, 2.83270377e-02, 2.23945303e-02, 1.75283005e-02,
1.35829692e-82, 1.84209348e-82, 7.91545158e-83, 5.95253242e-83,
4.43184841e-63, 3.26681906e-03, 2.38408820e-83, 1.72256894e-03,
1.23221917e-083, 8.72682695e-04, 6.11901930e-04, 4.24780271e-04,
2.91946926e-84, 1.98655471e-84, 1.338308226e-04, 8.92616572e-85,
5.89430678e-05, 3.85351967e-05, 2.49424713e-85, 1.59837411e-05,
1.81488521e-85, 6.36982518e-06, 3.96129909e-06, 2.438960875e-06,
1.48671951e-06])
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# En=zx J2ld)
import matplotlib.pyplot as plt
%matplotlib inline

plt.figure(figsize = (10,6))
plt.plot(x,y)
plt.ylabel("y")

plt.show()

Python

Out[-]

0.40 1

0.35 +

0.30 1

0.25 1

> 0.20 1

0.15 1

0.10 1

0.05 4

0.00 1
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import numpy as np
import matplotlib.pyplot as plt

from sklearn.linear_model import LinearRegression

=)

|

Python
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=

# HEE ol X,y af M4
np.random.seed(1200)

X = 2*np.random.rand(100,1)
print('X shape : ', X.shape)

Y = 3 + 2*X + np.random.randn(1ee,1)
print('Y shape : ', Y.shape)

plt.scatter(X,Y)
plt.show()

Python
Qut[-]

X shape: (100, 1)
Y shape: (100, 1)
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lin_reg = LinearRegression()
lin_reg.fit(X,Y)
print(f'y&#: {lin_reg.intercept_}, ZI=J|: {lin_reg.coef_}")

Python

Out[-]
yEE: [3.18198669], JIZ7|: [[1.81375875]]

Python

# X_test M4

X_test = np.linspace(©,2,10@).reshape(100,1)
print('X_test')

print(X_test[:6])

print(X_test[-6:1)

# 0=
predictions = lin_reg.predict(X_test)

'

print('prediction , predictions[:6])

Python

Out[-]

X_test

[[e. 1
[0.82020202]
[6.04040404 ]
[0.06060606 |
[0.08080808 ]
[0.1010101 1]
[[1.8989899 ]
[1.91919192]
[1.93939394]
[1.95959596]
[1.97979798]
[2. 1]

prediction : [[3.18198669]
[3.21862828]
[3.25526987]
[3.29191146]
[3.32855306]
[3.36519465]]
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# = 22|

plt.scatter(X,Y)

plt.plot(X_test, predictions,'r")
plt.show()

Python

Out[-]

060 055 0%0 O}S 160 125 1%0 1%5 200
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H M 2|7 EM

%matplotlib inline

import numpy as np

import matplotlib.pyplot as plt

from sklearn.linear_model import LinearRegression
from sklearn.preprocessing import PolynomialFeatures|

Python
# training Set ZH=J|
# range : -3 <= x < 3 2| xgt 1eel|
np.random.seed(1216)
X = 6*np.random.rand(10@,1)-3
print('X = ', X[:6])
# yal HE MM
Y = 8.3 + 2 *X + X**2 + np.random.randn(1@8,1)
print('Y = ', Y[:6])
Python
Out[-]
X = [[ 2.9735891 ]
[ ©.74046546]
[ 2.25656212]
[ 2.33626717]
[-9.67942513]
[ 1.13951938]]
Y = [[17.94142067]
[ 1.59013283]
[ 9.77487261]
[ 8.76874343]
[-9.83438259]
[ 5.68952924]]
Python
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# = &
plt.scatter(X,Y)
plt.show()
Python
Out[-]
=
5 e
o®
o
o
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# poly_feature AAgtJ]
poly_feature = PolynomialFeatures(degree=2, include_bias = False)

# X0l poly_featrue =ZE
X_poly = poly_ feature.fit_transform(X)
print('X poly = ', X_poly[:6])

Python

OQut[-]

X poly = [[ 2.9735891 8.84223212]
[ ©.74046546 ©.5482891 |
[ 2.25656212 5.09207262]
[ 2.33626717 5.45814428]
[-©.67942513 ©.46161851]
[ 1.13951938 1.29850441]]

Python

# LinearRegression ZiF M4&
lin_reg = LinearRegression()

# ol=A A" D=
lin_reg.fit(X_poly, Y)

, lin_reg.intercept_)

print('intercept

print('coefficients , lin_reg.coef )

#y =Db+ al * x + a2 * x*2

Python

out[-]
intercept : [©.33611387]
coefficients : [[2.82456163 ©.97973891]]

Python
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# X_test US|
# linspace &+ : -3~3AL0/0AH 1eelicl Z2E ZHHES=zZ & Md
# reshape &= : OOIE EI2IZ 100,1 2| 2

e
i
&
o

X_test = np.linspace(-3,3,108).reshape(100,1)
print(X_test[:6])
print(X_test[-G:]ﬂ

Python

out[-]

[[-3. ]
[-2.93939394]
[-2.87878788]
[-2.81818182]
[-2.75757576]
[-2.6969697 ]]

[[2.6969697 ]
[2.75757576]
[2.81818182]
[2.87878788]
[2.93939394]

[3. 11

Python
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# X_testE ZF=H0 H2A X5

X_test_poly = poly_feature.fit_transform(X_test)

# X_test= O|lSali 22|
y_pred = lin_reg.predict(X_test_poly)

#0= k= 2|7
plt.scatter(X,Y)
plt.plot(X_test, y_pred, 'r')

plt.show()
Python
Out[-]
[

15
10

5,

0
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M =2 24 EE

from sklearn.datasets import make_regression

from sklearn.metrics import r2_score

from sklearn.linear_model import LinearRegression
from sklearn.model_selection import train_test_split
import matplotlib.pyplot as plt

%matplotlib inline

Python

# OlolH &30
x,y = make_regression(n_samples = 588, n_features=1, n_informative = 1, noise = 25,
random_state = 18)

# train data @ test data =% (7:3)
x_train, x_test, y_train, y_test = train_test_split(x,y, test_size = 0.3,
random_state = 10)

Python
# &=a|F 0 =262
line = LinearRegression().fit(x_train, y_train)
# Ol =ak2
pred = line.predict(x_test)
Python
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# el SElD
fig, ax = plt.subplots()
ax.scatter(x_test, y_test, alpha = 0.6)

ax.plot(x_test, pred, color = ‘red')
Python
Out[-]
[<matplotlib.lines.Line2D at 0x1633d205c08>]
200 A °
150 A
100 A
50
01
-50
-100 1
=150
—200 -
-3 B -1 0 1 2
# Lot
print('R2 : ', r2_score(y_test, pred))
Python
Out[-]
R2 : ©.8535702276418713
Python
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o X2 HE IV

Out[-]

Python

Python

import numpy as np

matrix = np.array(l)

print(matrix.ndim)

print(matrix.shape)

# test = 3 # A2t

test= [[[[3, 2, 1, 3, 5, 4, 2]]]1] # 2= M= = 7
test_matrix = np.array(test)

il
1>

print(test_matrix.ndim)
print(test_matrix.shape)

Python

Python
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matrix = np.arange(3@).reshape(2, 3, 5)
print(matrix)
print(matrix[@][1][3])

Python
Out[-]
[[[e 1 2 3 4]
[5 6 7 8 9]
[1e 11 12 13 14]]
[[15 16 17 18 19]
[20 21 22 23 24]
[25 26 27 28 29]1]
8
Python
matrix + matrix
Python
out[-]
array([[[ o, 2, 4, 6, 8],
[1e, 12, 14, 16, 18],
[20, 22, 24, 26, 2811,
[[30, 32, 34, 36, 38],
[40, 42, 44, 46, 48],
[5@, 52, 54, 56, 58]11)
Python
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matrix = np.arange(15).reshape(3, 5)
print(matrix)

Python

out[-]

[[e 1 2 3 4]
[5 6 7 8 9]
[10 11 12 13 14]]

Python

print(matrix *
print(matrix /
print(matrix +

RS T A S R 8]

print(matrix -

Python

out[ -]

[[8 2 4 6 8]
[16 12 14 16 18]
[20 22 24 26 28]]

[[6. ©.51. 1.5 2. ]
[2.5 3. 3.5 4. 4.5]
[S. 5.56. 6.57. 1]

[[2 3 4 5 6]
[ 7 8 918 11]
[12 13 14 15 16]]

e 1 2]
5 6 7]
16 11 12]]

— e
00 W N
w0 kB

Python
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test = np.zeros((3,4))
test

Python

—
(]
o
®
-

® ® ®

Python

2= o=
S 5eee geee
L 7000 3000

5000*31 + 8000*40
7000*31 + 3008*48

Plain Text

>
n

np.array([[5eee, seee],
[7@00, 3000]])
np.array([[31],
(4e11)

A
(]

print(x @ y)
print(5606+31 + 8000+40)
print(7606+31 + 3000+40)

Python

out[-]
[[475008]
[337e00]]
475000
337000
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X = np.random.randint(1l, 1@, size=[3, 3])
print(x)

y = np.linalg.inv(x)

print(x @ y)

Python
OQut[-]
[[5 6 5]
[8 4 6]
[514]]
[[ 1.e00c0000e+00 -4.44089210e-16 2.22044685e-16]
[ ©.0000C0R0Ge+RE 1.00000000e+00 -4.44089210e-16]
[ ©.0000000Pe+P0 ©.PPOPOPOPe+00 1.000000L0e+00]]
Python
= nP-ar""a)f([:l; 1]: [2: 4]])
y = np.linalg.inv(x) # np.linalg : &9 Ol== &=, inv : 23S
z = np.array([[7], [22]])
print(y @ z)
Python
Out[-]
[[3.]
[4.11
Python
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%matplotlib inline
import matplotlib.pyplot as plt

print(sum(matrix))
print(np.sum(matrix))
print(np.sum(matrix, axis=e))
print(np.sum(matrix, axis=1))

student = np.sum(matrix, axis=1)
plt.bar([1,2,3],student)
plt.show()

Python

out[-]

[15 18 21 24 27]
1e5

[15 18 21 24 27]
[1e 35 6@]

Python
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print(matrix[matrix > 5])
print(matrix[matrix % 2 == @])

Python

Qut[-]
[ 6 7 8 9 1e 11 12 13 14]
[ @ 2 4 6 8 10 12 14]

Python

print(matrix[matrix >

Moo
[}
I
®
—_—
~r

[
print(matrix[matrix %
print(matrix[1][2])
print(matrix[1, 2])
mask = matrix % 2 ==
print(mask)
print(matrix[mask])

Python

Qut[-]

[ 6 7 8 9 1@ 11 12 13 14]

[ 2 4 6 810 12 14]

7

7

[[ True False True False True]
[False True False True False]
[ True False True False Truel]]
[ @ 2 4 6 8 10 12 14]

Python
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